

Amerigroup Community Care

Access Analysis Central

April 21, 2023

PCPs - Urban

April 21, 2023

Access Analysis

Adult_PCP_Urban(2 prov in 8 Miles)

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) PCPs (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	71	PCPs	2 in 8 miles	274	0.3	71	100.0	0	0.0	0.8	1.0			
Houston, GA		PCPs	2 in 8 miles	207		35	100.0	0		1.0	1.1			
Muscogee, GA	76	PCPs	2 in 8 miles	154	0.5	75	98.7	1	1.3	1.1	1.5			
Troup, GA	17	PCPs	2 in 8 miles	90	0.2	17	100.0	0	0.0	1.1	1.4			
Grand Totals	199	PCPs	2 in 8 miles	725	0.3	198	99.5	1	0.5	1.0	1.3			

PCPs - Rural

April 21, 2023

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) PCPs

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	13	PCPs	2 in 15 miles	22	0.6	13	100.0	0	0.0	2.2	2.6	
Bleckley, GA	3	PCPs	2 in 15 miles	27	0.1	3	100.0	0	0.0	1.3	1.3	
Chattahoochee, GA	1	PCPs	2 in 15 miles	6	0.2	1	100.0	0	0.0	1.1	1.1	
Crawford, GA		PCPs	2 in 15 miles	14	0.2	3	100.0	0	0.0	2.7	2.7	
Crisp, GA	4	PCPs	2 in 15 miles	51	0.1	4	100.0	0	0.0	1.1	1.3	
Dodge, GA		PCPs	2 in 15 miles	35	0.0	1	100.0	0	0.0	2.7	2.7	
Dooly, GA	1	PCPs	2 in 15 miles	16	0.1	1	100.0	0	0.0	1.4	2.9	
Harris, GA	7	PCPs	2 in 15 miles	9	0.8	7	100.0	0	0.0	6.4	6.5	
Heard, GA	3	PCPs	2 in 15 miles	10	0.3	3	100.0	0	0.0	0.2	0.2	
Johnson, GA	1	PCPs	2 in 15 miles	7	0.1	1	100.0	0	0.0	0.5	0.6	
Jones, GA	7	PCPs	2 in 15 miles	6	1.2	7	100.0	0	0.0	3.0	3.2	
Lamar, GA	6	PCPs	2 in 15 miles	16	0.4	6	100.0	0	0.0	5.0	5.0	
Laurens, GA	19	PCPs	2 in 15 miles	53	0.4	18	94.7	1	5.3	3.3	3.3	
Macon, GA	3	PCPs	2 in 15 miles	20	0.2	3	100.0	0	0.0	0.6	0.6	
Marion, GA	1	PCPs	2 in 15 miles	8	0.1	1	100.0	0	0.0	4.1	6.3	
Meriwether, GA	3	PCPs	2 in 15 miles	16	0.2	3	100.0	0	0.0	0.6	1.1	
Monroe, GA	7	PCPs	2 in 15 miles	52	0.1	7	100.0	0	0.0	4.7	4.7	
Peach, GA	16	PCPs	2 in 15 miles	34	0.5	16	100.0	0	0.0	2.4	2.8	
Pike, GA	5	PCPs	2 in 15 miles	3	1.7	5	100.0	0	0.0	6.0	8.3	
Pulaski, GA	3	PCPs	2 in 15 miles	27	0.1	3	100.0	0	0.0	0.7	0.7	
Talbot, GA	2	PCPs	2 in 15 miles	4	0.5	2	100.0	0	0.0	10.7	10.9	
Taylor, GA	2	PCPs	2 in 15 miles	13	0.2	2	100.0	0	0.0	3.0	3.0	
Telfair, GA	3	PCPs	2 in 15 miles	13	0.2	3	100.0	0	0.0	0.5	0.7	
Treutlen, GA	3	PCPs	2 in 15 miles	2	1.5	3	100.0	0	0.0	0.7	1.1	
Twiggs, GA	8	PCPs	2 in 15 miles	3	2.7	8	100.0	0	0.0	2.8	3.4	
Upson, GA	9	PCPs	2 in 15 miles	31	0.3	9	100.0	0	0.0	2.2	2.5	
Wilcox, GA	1	PCPs	2 in 15 miles	22	0.0	1	100.0	0	0.0	12.2	12.2	
Wilkinson, GA	8	PCPs	2 in 15 miles	6	1.3	8	100.0	0	0.0	2.8	3.4	
Grand Totals	143	PCPs	2 in 15 miles	526	0.3	142	99.3	1	0.7	3.0	3.3	

Pediatricians - Urban

April 21, 2023

Access Analysis
Child Pediatricians- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatricians

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	408	Pediatricians	2 in 8 miles	274	1.5	408	100.0	0	0.0	0.8	1.0			
Houston, GA	430	Pediatricians	2 in 8 miles	207	2.1	427	99.3	3	0.7	0.9	1.0			
Muscogee, GA	723	Pediatricians	2 in 8 miles	154	4.7	717	99.2	6	0.8	0.7	0.9			
Troup, GA	206	Pediatricians	2 in 8 miles	90	2.3	201	97.6	5	2.4	1.8	1.9			
Grand Totals	1,767	Pediatricians	2 in 8 miles	725	2.4	1,753	99.2	14	0.8	0.9	1.1			
© 2023 Quest Analytics 11 C														

Pediatricians - Rural

April 21, 2023

Access Analysis Child Pediatricians- Rural

Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatricians

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatricians	2 in 15 miles	22	6.8	149	100.0	0	0.0	1.7	1.9		
Bleckley, GA	27	Pediatricians	2 in 15 miles	27	1.0	27	100.0	0	0.0	3.2	4.3		
Chattahoochee, GA	32	Pediatricians	2 in 15 miles	6	5.3	32	100.0	0	0.0	1.4	1.5		
Crawford, GA	51	Pediatricians	2 in 15 miles	14	3.6	51	100.0	0	0.0	2.8	2.9		
Crisp, GA	80	Pediatricians	2 in 15 miles	51	1.6	80	100.0	0	0.0	1.0	1.4		
Dodge, GA	59	Pediatricians	2 in 15 miles	35		51	86.4	8	13.6	4.5	5.6		
Dooly, GA	72	Pediatricians	2 in 15 miles	16	4.5	72	100.0	0	0.0	0.4	0.6		
Harris, GA	96	Pediatricians	2 in 15 miles	9	10.7	96	100.0	0	0.0	4.9	5.3		
Heard, GA	30	Pediatricians	2 in 15 miles	10	3.0	30	100.0	0	0.0	3.0	4.1		
Johnson, GA	34	Pediatricians	2 in 15 miles	7	4.9	34	100.0	0	0.0	4.4	4.6		
Jones, GA	181	Pediatricians	2 in 15 miles	6	30.2	181	100.0	0	0.0	3.4	3.8		
Lamar, GA	106	Pediatricians	2 in 15 miles	16	6.6	106	100.0	0	0.0	2.0	2.1		
Laurens, GA	190	Pediatricians	2 in 15 miles	53	3.6	186	97.9	4	2.1	3.4	3.5		
Macon, GA	40	Pediatricians	2 in 15 miles	20	2.0	40	100.0	0	0.0	2.8	2.9		
Marion, GA	18	Pediatricians	2 in 15 miles	7	2.6	18	100.0	0	0.0	1.6	5.2		
Meriwether, GA	77	Pediatricians	2 in 15 miles	16	4.8	77	100.0	0	0.0	1.4	2.2		
Monroe, GA	97	Pediatricians	2 in 15 miles	52	1.9	97	100.0	0	0.0	3.6	3.6		
Peach, GA	126	Pediatricians	2 in 15 miles	34	3.7	126	100.0	0	0.0	1.9	2.1		
Pike, GA	70	Pediatricians	2 in 15 miles	3	23.3	70	100.0	0	0.0	4.1	8.1		
Pulaski, GA	44	Pediatricians	2 in 15 miles	27	1.6		100.0	0	0.0	1.8	1.8		
Talbot, GA	7	Pediatricians	2 in 15 miles	4	1.8	7	100.0	0	0.0	9.0	9.4		
Taylor, GA	40	Pediatricians	2 in 15 miles	13	3.1	40	100.0	0	0.0	4.0	4.4		
Telfair, GA	100	Pediatricians	2 in 15 miles	13		99	99.0	1	1.0	1.6	2.0		
Treutlen, GA	19	Pediatricians	2 in 15 miles	2		19	100.0	0	0.0	2.6	3.3		
Twiggs, GA	52	Pediatricians	2 in 15 miles	3		52	100.0	0	0.0	4.6	6.6		
Upson, GA		Pediatricians	2 in 15 miles	31	3.9		100.0	0	0.0	2.6	2.8		
Wheeler, GA	11	Pediatricians	2 in 15 miles	5		11	100.0	0	0.0	7.9	8.4		
Wilcox, GA	23	Pediatricians	2 in 15 miles	22		23	100.0	0	0.0	2.0	2.4		
Wilkinson, GA	51	Pediatricians	2 in 15 miles	6			100.0	0	0.0	2.2	2.6		
Grand Totals	2,003	Pediatricians	2 in 15 miles	530	3.8	1,990	99.4	13	0.6	2.8	3.3		
S.u.iu i stato	2,000	2			5.0	.,	- J. F	.0	0.0	2.0	5.5		
© 2023 Quest Analytics, LLC.													

Adult Allergy/Immunology -Urban

April 21, 2023

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Allergy/Immunology (CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Adult_Allergy/	1 in 30 miles	16	4.4	71	100.0	0	0.0	2.5			
Houston, GA		Adult_Allergy/	1 in 30 miles	8	4.4	35	100.0	0	0.0				
Muscogee, GA	76		1 in 30 miles	3		76	100.0		0.0				
Troup, GA	17	Adult_Allergy/	1 in 30 miles	3	5.7	17	100.0	0	0.0	4.1	5.4		
Grand Totals	100	Adult_Allerg	1 in 30 miles	30	6.6	100	100.0	0	0.0	4.1	4.6		
Grand Totals	199	Aduit_Allerg	1 in 30 miles	30	0.0	199	100.0	U	0.0	4.1	4.6		
© 2023 Quest Analytics, LLC.													

Adult Allergy/Immunology- Rural

April 21, 2023

Access Analysis

Adult_Allergy/Immunology -Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Allergy/Immunology (CENTRAL_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Baldwin, GA	13	Adult_Allergy/	1 in 45 miles	4	3.3	13	100.0	0	0.0	3.7	3.9			
Bleckley, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	31.0	31.1			
Chattahoochee, GA	1	Adult_Allergy/	1 in 45 miles	0		0	0.0	1	100.0	66.0	66.1			
Crawford, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	24.3	41.4			
Crisp, GA	4	Adult_Allergy/	1 in 45 miles	2	2.0	4	100.0	0	0.0	2.1	2.3			
Dodge, GA	1	Adult_Allergy/	1 in 45 miles	0		1	100.0	0	0.0	32.1	32.3			
Dooly, GA	1	Adult_Allergy/	1 in 45 miles	0		1	100.0	0	0.0	12.2	12.3			
Harris, GA	7	Adult_Allergy/	1 in 45 miles	0		0	0.0	7	100.0	66.2	85.3			
Heard, GA	3	Adult_Allergy/	1 in 45 miles	0		0	0.0	3	100.0	70.7	93.1			
Johnson, GA	1	Adult_Allergy/	1 in 45 miles	0		1	100.0	0	0.0	25.4	25.4			
Jones, GA	7	Adult_Allergy/	1 in 45 miles	1	7.0	7	100.0	0	0.0	8.0	26.1			
Lamar, GA	6	Adult_Allergy/	1 in 45 miles	0		6	100.0	0	0.0	18.6	40.4			
Laurens, GA	19	Adult_Allergy/	1 in 45 miles	3	6.3	19	100.0	0	0.0	5.4	5.4			
Macon, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	34.9	35.1			
Marion, GA	1	Adult_Allergy/	1 in 45 miles	0		0	0.0	1	100.0	51.3	51.4			
Meriwether, GA	3	Adult_Allergy/	1 in 45 miles	0		0	0.0	3	100.0	45.8	68.1			
Monroe, GA	7	Adult_Allergy/	1 in 45 miles	1	7.0	7	100.0	0	0.0	5.0	25.5			
Peach, GA	16	Adult_Allergy/	1 in 45 miles	0		16	100.0	0	0.0	32.4	40.0			
Pike, GA	5	Adult_Allergy/	1 in 45 miles	0		5	100.0	0	0.0	28.4	50.7			
Pulaski, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	35.7	35.9			
Talbot, GA	2	Adult_Allergy/	1 in 45 miles	0		1	50.0	1	50.0	51.2	65.7			
Taylor, GA	2	Adult_Allergy/	1 in 45 miles	0		1	50.0	1	50.0	45.8	55.3			
Telfair, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	33.7	33.8			
Treutlen, GA	3	Adult_Allergy/	1 in 45 miles	0		3	100.0	0	0.0	28.2	28.2			
Twiggs, GA	8	Adult_Allergy/	1 in 45 miles	0		8	100.0	0	0.0	12.6	30.8			
Upson, GA		Adult_Allergy/	1 in 45 miles	0		9	100.0	0	0.0	29.6	48.8			
Wilcox, GA	1	Adult_Allergy/	1 in 45 miles	0		1	100.0	0	0.0	23.6	23.8			
Wilkinson, GA	8	Adult_Allergy/	1 in 45 miles	0		8	100.0	0	0.0	18.9	19.1			
Grand Totals	143	Adult_Allerg	1 in 45 miles	11	13.0	126	88.1	17	11.9	23.2	32.5			

Adult Cardiology -Urban

April 21, 2023

Access Analysis Adult_Cardiology - Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Cardiology (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acces	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	71	Adult_Cardiol	1 in 30 miles	146	0.5		100.0		0 0.	0 2.4	2.6			
Houston, GA			1 in 30 miles	53	0.7	35	100.0		0 0.		2.5			
Muscogee, GA			1 in 30 miles	72			100.0		0 0.		3.3			
Troup, GA			1 in 30 miles	39	0.4		100.0		0 0.	0 4.0				
Grand Totals	199	Adult_Cardio	1 in 30 miles	310	0.6	199	100.0		0 0.	0 2.8	3.0			
© 2023 Quest Analytics 11 C				<u> </u>										

Adult Cardiology -Rural

April 21, 2023

Access Analysis Adult_Cardiology - Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Cardiology (CENTRAL_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Mombors	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Baldwin, GA	13	Adult_Cardiol	1 in 45 miles	20	0.7	13	100.0	0	0.0	3.4	3.4			
Bleckley, GA	3	Adult_Cardiol	1 in 45 miles	3	1.0	3	100.0	0	0.0	1.3	1.4			
Chattahoochee, GA	1	Adult_Cardiol	1 in 45 miles	0		1	100.0	0	0.0	40.9	40.9			
Crawford, GA	3	Adult_Cardiol	1 in 45 miles	0		3	100.0	0	0.0	17.4	17.4			
Crisp, GA	4	Adult_Cardiol	1 in 45 miles	13	0.3	4	100.0	0	0.0	2.1	2.1			
Dodge, GA	1	Adult_Cardiol	1 in 45 miles	7	0.1	1	100.0	0	0.0	2.7	2.7			
Dooly, GA	1	Adult_Cardiol	1 in 45 miles	0		1	100.0	0	0.0	12.2	12.2			
Harris, GA	7	Adult_Cardiol	1 in 45 miles	0		7	100.0	0	0.0	23.7	32.2			
Heard, GA	3	Adult_Cardiol	1 in 45 miles	0		3	100.0	0	0.0	31.2	44.4			
Johnson, GA	1	Adult_Cardiol	1 in 45 miles	0		1	100.0	0	0.0	23.4	23.4			
Jones, GA	7	Adult_Cardiol	1 in 45 miles	0		7	100.0	0	0.0	23.0	23.0			
Lamar, GA	6	Adult_Cardiol	1 in 45 miles	0		6	100.0	0	0.0	17.3	17.5			
Laurens, GA	19	Adult_Cardiol	1 in 45 miles	26	0.7	19	100.0	0	0.0	4.1	4.2			
Macon, GA	3	Adult_Cardiol	1 in 45 miles	4	0.8	3	100.0	0	0.0	2.4	2.4			
Marion, GA	1	Adult_Cardiol	1 in 45 miles	0		1	100.0	0	0.0	21.1	21.1			
Meriwether, GA	3	Adult_Cardiol	1 in 45 miles	2	1.5	3	100.0	0	0.0	3.9	14.0			
Monroe, GA	7	Adult_Cardiol	1 in 45 miles	8	0.9	7	100.0	0	0.0	4.8	4.8			
Peach, GA	16	Adult_Cardiol	1 in 45 miles	13	1.2	16	100.0	0	0.0	3.5	3.5			
Pike, GA	5	Adult_Cardiol	1 in 45 miles	0		5	100.0	0	0.0	15.3	16.1			
Pulaski, GA	3	Adult_Cardiol	1 in 45 miles	14	0.2	3	100.0	0	0.0	1.4	1.4			
Talbot, GA	2	Adult_Cardiol	1 in 45 miles	0		2	100.0	0	0.0	17.6	19.9			
Taylor, GA	2	Adult_Cardiol	1 in 45 miles	1	2.0	2	100.0	0	0.0	3.0	21.6			
Telfair, GA	3	Adult_Cardiol	1 in 45 miles	2	1.5	3	100.0	0	0.0	5.1	23.5			
Treutlen, GA	3	Adult_Cardiol	1 in 45 miles	0		3	100.0	0	0.0	28.5	28.5			
Twiggs, GA	8	Adult_Cardiol	1 in 45 miles	0		8	100.0	0	0.0	23.0	23.0			
Upson, GA	9	Adult_Cardiol	1 in 45 miles	28	0.3	9	100.0	0	0.0	3.0	3.3			
Wilcox, GA	1	Adult_Cardiol	1 in 45 miles	0		1	100.0	0	0.0	13.2	13.2			
Wilkinson, GA	8	Adult_Cardiol	1 in 45 miles	0		8	100.0	0	0.0	18.9	18.9			
Grand Totals	142	Adult_Cardio	1 in 45 miles	141	1.0	142	100.0	0	0.0	10.6	12.3			
Grand Totals	143	Adult_Cardio	1 in 45 miles	141	1.0	143	100.0	U	0.0	10.6	12.3			

Adult Endocrinology - Urban

April 21, 2023

Access Analysis
Adult_Endocrinology - Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Endocrinology (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA		Adult_Endocri	1 in 30 miles	17	4.2		100.0	0	0.0	3.2	3.2			
Houston, GA		Adult_Endocri	1 in 30 miles	5	7.0		100.0	0	0.0					
Muscogee, GA			1 in 30 miles	12			100.0							
Troup, GA	17	Adult_Endocri	1 in 30 miles	2	8.5	17	100.0	0	0.0	4.1	4.1			
Grand Totals	199	Adult_Endoc	1 in 30 miles	36	5.5	199	100.0	0	0.0	3.4	3.7			
© 2023 Quest Analytics 11 C														

Adult Endocrinology- Rural

April 21, 2023

Access Analysis
Adult_Endocrinology - Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Endocrinology (CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	13	Adult_Endocri	1 in 45 miles	0		3	23.1	10	76.9	47.5			
Bleckley, GA	3	Adult_Endocri	1 in 45 miles	0		3	100.0	0	0.0	31.0			
Chattahoochee, GA	1	Adult_Endocri	1 in 45 miles	0		0	0.0	1	100.0	109.8			
Crawford, GA	3	Adult_Endocri	1 in 45 miles	0		0	0.0	3	100.0	65.1			
Crisp, GA	4	Adult_Endocri	1 in 45 miles	0		0	0.0	4	100.0	72.1			
Dodge, GA	1	Adult_Endocri	1 in 45 miles	0		1	100.0	0	0.0	32.1			
Dooly, GA	1	Adult_Endocri	1 in 45 miles	0		0	0.0	1	100.0	61.2			
Harris, GA	7	Adult_Endocri	1 in 45 miles	0		0	0.0	7	100.0	118.4			
Heard, GA	3	Adult_Endocri	1 in 45 miles	0		0	0.0	3	100.0	136.5			
Johnson, GA	1	Adult_Endocri	1 in 45 miles	0		1	100.0	0	0.0	25.6			
Jones, GA	7	Adult_Endocri	1 in 45 miles	0		0	0.0	7	100.0	53.6			
Lamar, GA	6	Adult_Endocri	1 in 45 miles	0		0	0.0	6	100.0	87.3			
Laurens, GA	19	Adult_Endocri	1 in 45 miles	1	19.0	19	100.0	0	0.0	5.6			
Macon, GA	3	Adult_Endocri	1 in 45 miles	0		0	0.0	3	100.0	69.7			
Marion, GA	1	Adult_Endocri	1 in 45 miles	0		0	0.0	1	100.0	90.4			
Meriwether, GA	3	Adult_Endocri	1 in 45 miles	0		0	0.0	3	100.0	107.6			
Monroe, GA	7	Adult_Endocri	1 in 45 miles	0		0	0.0	7	100.0	75.7			
Peach, GA	16	Adult_Endocri	1 in 45 miles	0		0	0.0	16	100.0	54.5			
Pike, GA	5	Adult_Endocri	1 in 45 miles	0		0	0.0	5	100.0	94.9			
Pulaski, GA	3	Adult_Endocri	1 in 45 miles	0		3	100.0	0	0.0	41.5			
Talbot, GA	2	Adult_Endocri	1 in 45 miles	0		0	0.0	2	100.0	95.8			
Taylor, GA	2	Adult_Endocri	1 in 45 miles	0		0	0.0	2	100.0	77.5			
Telfair, GA	3	Adult_Endocri	1 in 45 miles	0		3	100.0	0	0.0	34.1			
Treutlen, GA	3	Adult_Endocri	1 in 45 miles	0		3	100.0	0	0.0	28.7			
Twiggs, GA	8	Adult_Endocri	1 in 45 miles	0		1	12.5	7	87.5	48.9			
Upson, GA	9	Adult_Endocri	1 in 45 miles	0		0	0.0	9	100.0	87.9			
Wilcox, GA	1	Adult_Endocri	1 in 45 miles	0		0	0.0	1	100.0	53.7			
Wilkinson, GA	8	Adult_Endocri	1 in 45 miles	0		8	100.0	0	0.0	35.8			
Grand Totals	143	Adult_Endoc	1 in 45 miles	1	143.0	45	31.5	98	68.5	58.4			
		_											
© 2023 Quest Analytics 11 C	l			L									

Adult ENT -Urban

April 21, 2023

Access Analysis
Adult_ENT- Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_ENT
(CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average I	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	71	Adult_ENT	1 in 30 miles	20	3.6	71	100.0	0	0.0	2.9	5.2		
Houston, GA		Adult_ENT	1 in 30 miles	10	3.5		100.0	0	0.0		3.0		
Muscogee, GA		Adult_ENT	1 in 30 miles	12	6.3		100.0	0	0.0		3.4		
Troup, GA	17	Adult_ENT	1 in 30 miles	5	3.4	17	100.0	0	0.0	3.3	3.6		
Grand Totals	199	Adult_ENT	1 in 30 miles	47	4.2	199	100.0	0	0.0	3.0	4.0		

Adult ENT- Rural

April 21, 2023

Access Analysis
Adult_ENT - Rural

Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_ENT
(CENTRAL_RURAL)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	P	rovider	Counts	Patio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	13	Adult_ENT	1 in 45 miles	0		3	23.1	10	76.9	46.6	46.6		
Bleckley, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	31.0	31.0		
Chattahoochee, GA	1	Adult_ENT	1 in 45 miles	0		0	0.0	1	100.0	55.1	66.0		
Crawford, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	27.8	28.8		
Crisp, GA	4	Adult_ENT	1 in 45 miles	1	4.0	4	100.0	0	0.0	2.2	72.1		
Dodge, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	32.1	32.1		
Dooly, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	12.3	61.2		
Harris, GA	7	Adult_ENT	1 in 45 miles	0		5	71.4	2	28.6	41.4	56.0		
Heard, GA	3	Adult_ENT	1 in 45 miles	0		0	0.0	3	100.0	58.1	58.1		
Johnson, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	25.6	25.6		
Jones, GA	7	Adult_ENT	1 in 45 miles	0		7	100.0	0	0.0	39.2	39.2		
Lamar, GA	6	Adult_ENT	1 in 45 miles	5	1.2	6	100.0	0	0.0	7.5	7.5		
Laurens, GA	19	Adult_ENT	1 in 45 miles	4	4.8	19	100.0	0	0.0	5.6	5.6		
Macon, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	34.9	47.9		
Marion, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	42.3	51.3		
Meriwether, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	25.9	33.2		
Monroe, GA	7	Adult_ENT	1 in 45 miles	0		7	100.0	0	0.0	16.4	16.4		
Peach, GA	16	Adult_ENT	1 in 45 miles	0		15	93.8	1	6.2	41.1	42.6		
Pike, GA	5	Adult_ENT	1 in 45 miles	0		5	100.0	0	0.0	15.5	16.2		
Pulaski, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	35.9	41.5		
Talbot, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	24.1	41.3		
Taylor, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	27.1	37.5		
Telfair, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	34.0	34.0		
Treutlen, GA	3	Adult_ENT	1 in 45 miles	0		3	100.0	0	0.0	28.6	28.6		
Twiggs, GA	8	Adult_ENT	1 in 45 miles	0		8	100.0	0	0.0	41.4	41.4		
Upson, GA	9	Adult_ENT	1 in 45 miles	1	9.0	9	100.0	0	0.0	3.5	19.2		
Wilcox, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	23.8	53.7		
Wilkinson, GA	8	Adult_ENT	1 in 45 miles	0		8	100.0	0	0.0	35.8	35.8		
Grand Totals	1/12	Adult_ENT	1 in 45 miles	11	13.0	126	88.1	17	11.9	27.6	33.1		
Gianu iotais	143	Audit_EN I	i iii 45 iiiiles	11	13.0	120	00.1	17	11.9	21.0	33.1		

Adult Gastroenterology - Urban

April 21, 2023

Access Analysis

Adult_Gastreontology - Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Gastroenterology (CENTRAL_URBAN)

			Members V	Vith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	71	Adult_Gastro	1 in 30 miles	42	1.7	71	100.0	0	0.0	2.6	3.0
Houston, GA		Adult_Gastro	1 in 30 miles	8			100.0			2.6	
Muscogee, GA			1 in 30 miles	15			100.0		0.0		
Troup, GA	17	Adult_Gastro	1 in 30 miles	11	1.5	17	100.0	0	0.0	4.0	5.2
Grand Totals	199	Adult_Gastr	1 in 30 miles	76	2.6	199	100.0	0	0.0	3.0	3.4
© 2023 Quest Analytics 11 C		i	L							L	

Adult Gastroenterology - Rural

April 21, 2023

Access Analysis
Adult_Gastreontology- Rural

Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Gastroenterology
(CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	13	Adult_Gastro	1 in 45 miles	3	4.3	13	100.0	0	0.0	3.2	3.6	
Bleckley, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	30.8	30.8	
Chattahoochee, GA	1	Adult_Gastro	1 in 45 miles	0		1	100.0	0	0.0	41.9	66.0	
Crawford, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	20.9	44.2	
Crisp, GA	4	Adult_Gastro	1 in 45 miles	5	0.8	4	100.0	0	0.0	2.1	2.3	
Dodge, GA	1	Adult_Gastro	1 in 45 miles	0		1	100.0	0	0.0	31.9	31.9	
Dooly, GA	1	Adult_Gastro	1 in 45 miles	0		1	100.0	0	0.0	12.2	12.2	
Harris, GA	7	Adult_Gastro	1 in 45 miles	0		7	100.0	0	0.0	23.6	70.6	
Heard, GA	3	Adult_Gastro	1 in 45 miles	0		2	66.7	1	33.3	44.2	94.4	
Johnson, GA	1	Adult_Gastro	1 in 45 miles	0		1	100.0	0	0.0	25.5	25.6	
Jones, GA	7	Adult_Gastro	1 in 45 miles	0		7	100.0	0	0.0	24.8	28.7	
Lamar, GA	6	Adult_Gastro	1 in 45 miles	0		5	83.3	1	16.7	38.6	51.6	
Laurens, GA	19	Adult_Gastro	1 in 45 miles	18	1.1	19	100.0	0	0.0	5.5	5.6	
Macon, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	34.9	35.1	
Marion, GA	1	Adult_Gastro	1 in 45 miles	0		0	0.0	1	100.0	47.0	51.1	
Meriwether, GA	3	Adult_Gastro	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.6	64.9	
Monroe, GA	7	Adult_Gastro	1 in 45 miles	0		7	100.0	0	0.0	37.0	40.8	
Peach, GA	16	Adult_Gastro	1 in 45 miles	1	16.0	16	100.0	0	0.0	9.0	44.8	
Pike, GA	5	Adult_Gastro	1 in 45 miles	0		5	100.0	0	0.0	28.6	59.6	
Pulaski, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	35.3	35.7	
Talbot, GA	2	Adult_Gastro	1 in 45 miles	0		2	100.0	0	0.0	20.8	49.1	
Taylor, GA	2	Adult_Gastro	1 in 45 miles	0		2	100.0	0	0.0	31.3	45.3	
Telfair, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	33.9	33.9	
Treutlen, GA	3	Adult_Gastro	1 in 45 miles	0		3	100.0	0	0.0	28.6	28.6	
Twiggs, GA	8	Adult_Gastro	1 in 45 miles	0		8	100.0	0	0.0	25.3	33.5	
Upson, GA	9	Adult_Gastro	1 in 45 miles	0		9	100.0	0	0.0	20.4	47.2	
Wilcox, GA	1	Adult_Gastro	1 in 45 miles	0		1	100.0	0	0.0	23.6	23.6	
Wilkinson, GA	8	Adult_Gastro	1 in 45 miles	0		8	100.0	0	0.0	19.5	19.5	
Grand Totals	143	Adult_Gastr	1 in 45 miles	28	5.1	140	97.9	3	2.1	19.7	33.7	
© 2023 Quest Analytics II C												

Adult Hematology/Oncology - Urban

April 21, 2023

Access Analysis

Adult_Hemotology/Oncology-Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Hematology/Oncology (CENTRAL_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Hemat	1 in 30 miles	62	1.1		100.0		0.0		2.9
Houston, GA			1 in 30 miles	18		35	100.0		0.0		3.2
Muscogee, GA			1 in 30 miles	36			100.0		0.0		3.4
Troup, GA			1 in 30 miles	18	0.9		100.0		0.0	4.6	5.2
Grand Totals	199	Adult_Hemat	1 in 30 miles	134	1.5	199	100.0		0.0	2.8	3.3
© 2023 Quest Analytics 11 C											

Adult Hematology/Oncology - Rural

April 21, 2023

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Hematology/Oncology (CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Hemat	1 in 45 miles	6	2.2	13	100.0	0	0.0	3.7	3.7
Bleckley, GA	3	Adult_Hemat	1 in 45 miles	1	3.0	3	100.0	0	0.0	2.0	12.5
Chattahoochee, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0	0.0	40.7	56.9
Crawford, GA	3	Adult_Hemat	1 in 45 miles	0		3	100.0	0	0.0	15.2	18.5
Crisp, GA	4	Adult_Hemat	1 in 45 miles	8	0.5	4	100.0	0	0.0	2.2	2.2
Dodge, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0	0.0	24.9	25.8
Dooly, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0			12.3
Harris, GA	7	Adult_Hemat	1 in 45 miles	0		0	0.0	7	100.0		69.4
Heard, GA	3	Adult_Hemat	1 in 45 miles	0		0	0.0	3	100.0	90.3	92.9
Johnson, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0	0.0	21.7	25.0
Jones, GA	7	Adult_Hemat	1 in 45 miles	0		7	100.0	0	0.0	22.5	24.6
Lamar, GA	6	Adult_Hemat	1 in 45 miles	0		2	33.3	4	66.7	45.7	50.2
Laurens, GA	19	Adult_Hemat	1 in 45 miles	13	1.5	19	100.0	0	0.0	3.3	4.7
Macon, GA	3	Adult_Hemat	1 in 45 miles	0		3	100.0	0	0.0	24.7	25.6
Marion, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0	0.0	25.0	42.6
Meriwether, GA	3	Adult_Hemat	1 in 45 miles	0		0	0.0	3	100.0	60.4	63.3
Monroe, GA	7	Adult_Hemat	1 in 45 miles	0		7	100.0	0	0.0	35.3	35.7
Peach, GA	16	Adult_Hemat	1 in 45 miles	3	5.3	16	100.0	0	0.0	3.1	9.0
Pike, GA	5	Adult_Hemat	1 in 45 miles	0		0	0.0	5	100.0	53.9	57.3
Pulaski, GA	3	Adult_Hemat	1 in 45 miles	9	0.3	3	100.0	0	0.0	1.5	1.5
Talbot, GA	2	Adult_Hemat	1 in 45 miles	0		2	100.0	0	0.0	41.7	46.6
Taylor, GA	2	Adult_Hemat	1 in 45 miles	0		2	100.0	0	0.0	21.4	30.0
Telfair, GA	3	Adult_Hemat	1 in 45 miles	0		3	100.0	0	0.0	31.0	31.0
Treutlen, GA	3	Adult_Hemat	1 in 45 miles	0		3	100.0	0	0.0	25.0	25.0
Twiggs, GA	8	Adult_Hemat	1 in 45 miles	0		8	100.0	0	0.0	22.3	25.3
Upson, GA	9	Adult_Hemat	1 in 45 miles	0		8	88.9	1	11.1	43.5	44.9
Wilcox, GA	1	Adult_Hemat	1 in 45 miles	0		1	100.0	0	0.0	13.2	13.2
Wilkinson, GA	8	Adult_Hemat	1 in 45 miles	0		8	100.0	0	0.0	19.1	19.2
Grand Totals	143	Adult_Hemat	1 in 45 miles	40	3.6	120	83.9	23	16.1	23.0	25.8
© 2023 Quest Analytics. LLC.											

Adult Nephrology -Urban

April 21, 2023

Access Analysis
Adult_Nephrology - Urban

Member / Provider Groups Adult Urban Members (CENTRAL_URBAN)

Adult_Nephrology (CENTRAL_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	71	Adult_Nephro	1 in 30 miles	93	0.8	71	100.0	C	0.0	2.1	2.5
Houston, GA			1 in 30 miles	40		35	100.0	C			2.4
Muscogee, GA	76	Adult_Nephro	1 in 30 miles	44	1.7	76	100.0	C			2.4
Troup, GA	17	Adult_Nephro	1 in 30 miles	10	1.7	17	100.0	C	0.0	2.0	2.0
Grand Totals	199	Adult_Nephr	1 in 30 miles	187	1.1	199	100.0	o	0.0	2.3	2.4

Adult Nephrology - Rural

April 21, 2023

Access Analysis
Adult_Nephrology - Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Nephrology (CENTRAL_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Nephro	1 in 45 miles	15	0.9	13	100.0	0	0.0	2.8	2.8
Bleckley, GA	3	Adult_Nephro	1 in 45 miles	1	3.0	3	100.0	0	0.0	2.0	11.8
Chattahoochee, GA	1	Adult_Nephro	1 in 45 miles	0		1	100.0	0	0.0	15.1	15.5
Crawford, GA	3	Adult_Nephro	1 in 45 miles	1	3.0	3	100.0	0	0.0	4.7	17.4
Crisp, GA	4	Adult_Nephro	1 in 45 miles	8	0.5	4	100.0	0	0.0	1.6	1.7
Dodge, GA		Adult_Nephro	1 in 45 miles	3	0.3	1	100.0	0	0.0	2.7	2.7
Dooly, GA		_ '	1 in 45 miles	1	1.0	1		0	0.0	9.8	11.8
Harris, GA	7	Adult_Nephro	1 in 45 miles	0		7	100.0	0	0.0	23.6	23.6
Heard, GA	3	Adult_Nephro	1 in 45 miles	0		2	66.7	1	33.3	44.2	44.2
Johnson, GA	1	Adult_Nephro	1 in 45 miles	0		1		0	0.0	23.2	
Jones, GA	7	Adult_Nephro	1 in 45 miles	11	0.6	7	100.0	0	0.0	7.9	
Lamar, GA	6	Adult_Nephro	1 in 45 miles	0		6	100.0	0	0.0	17.6	17.7
Laurens, GA	19	Adult_Nephro	1 in 45 miles	21	0.9		100.0	0	0.0	3.9	4.1
Macon, GA	3	Adult_Nephro	1 in 45 miles	3	1.0	3	100.0	0	0.0	2.5	2.5
Marion, GA	1	Adult_Nephro	1 in 45 miles	8	0.1	1	100.0	0	0.0	6.2	6.2
Meriwether, GA		Adult_Nephro	1 in 45 miles	8	0.4	3	100.0	0	0.0	9.5	
Monroe, GA	7	Adult_Nephro	1 in 45 miles	10	0.7	7	100.0	0	0.0	4.8	4.8
Peach, GA	16	Adult_Nephro	1 in 45 miles	25	0.6	16		0	0.0	3.8	3.8
Pike, GA	5	Adult_Nephro	1 in 45 miles	0		5	100.0	0	0.0	16.5	16.6
Pulaski, GA		_ '	1 in 45 miles	7	0.4		100.0	0	0.0	1.5	1.5
Talbot, GA	2	Adult_Nephro	1 in 45 miles	0		2	100.0	0	0.0	16.3	16.6
Taylor, GA	2	Adult_Nephro	1 in 45 miles	0			100.0	0	0.0		23.4
Telfair, GA	3	Adult_Nephro	1 in 45 miles	0		3	100.0	0	0.0	23.5	23.5
Treutlen, GA	3	Adult_Nephro	1 in 45 miles	0		3	100.0	0	0.0	28.0	28.4
Twiggs, GA	8	Adult_Nephro	1 in 45 miles	0		8	100.0	0	0.0	12.3	12.3
Upson, GA	9	Adult_Nephro	1 in 45 miles	2	4.5	9	100.0	0	0.0	3.5	3.7
Wilcox, GA	1	Adult_Nephro	1 in 45 miles	0		1	100.0	0	0.0	13.3	13.3
Wilkinson, GA	8	Adult_Nephro	1 in 45 miles	0		8	100.0	0	0.0	18.7	18.7
Grand Totals	143	Adult_Nephr	1 in 45 miles	124	1.2	142	99.3	1	0.7	9.8	10.3

Adult Dermatology - Urban

April 21, 2023

Access Analysis
Adult_Dermatology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Dermatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acces	s Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	5	14.2		100.0).0 5.´			
Houston, GA			1 in 30 miles	7	5.0	35	100.0			0.0 4.1			
Muscogee, GA			1 in 30 miles	3			100.0			0.0			
Troup, GA			1 in 30 miles	3	5.7		100.0		0 (0.0 4.5			
Grand Totals	199	Adult_Derma	1 in 30 miles	18	11.1	199	100.0		0 (0.0 4.5	5.4		
© 2023 Quest Analytics II C													

Adult Dermatology - Rural

April 21, 2023

Access Analysis

Adult_Dermatology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Dermatology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Dermat	1 in 45 miles	4	3.3	13	100.0	0	0.0	3.5	3.5
Bleckley, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	30.3	30.3
Chattahoochee, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	23.2	26.2
Crawford, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	23.3	23.6
Crisp, GA	4	Adult_Dermat	1 in 45 miles	4	1.0	4	100.0	0	0.0	2.3	2.3
Dodge, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	32.5	32.5
Dooly, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	12.3	12.3
Harris, GA	7	Adult_Dermat	1 in 45 miles	0		7	100.0	0	0.0	14.2	16.9
Heard, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	19.5	19.5
Johnson, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	23.7	25.1
Jones, GA	7	Adult_Dermat	1 in 45 miles	0		7	100.0	0	0.0	9.3	9.3
Lamar, GA	6	Adult_Dermat	1 in 45 miles	0		6	100.0	0	0.0	10.3	10.3
Laurens, GA	19	Adult_Dermat	1 in 45 miles	8	2.4	19	100.0	0	0.0	4.3	5.2
Macon, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	22.7	22.7
Marion, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	26.4	26.4
Meriwether, GA	3	Adult_Dermat	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.6	19.2
Monroe, GA	7	Adult_Dermat	1 in 45 miles	5	1.4	7	100.0	0	0.0	5.2	5.2
Peach, GA	16	Adult_Dermat	1 in 45 miles	0		16	100.0	0	0.0	12.5	15.3
Pike, GA	5	Adult_Dermat	1 in 45 miles	0		5	100.0	0	0.0	12.6	12.6
Pulaski, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	28.7	28.7
Talbot, GA	2	Adult_Dermat	1 in 45 miles	0		2	100.0	0	0.0	19.1	19.1
Taylor, GA	2	Adult_Dermat	1 in 45 miles	0		2	100.0	0	0.0	27.2	27.2
Telfair, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	33.7	33.7
Treutlen, GA	3	Adult_Dermat	1 in 45 miles	0		3	100.0	0	0.0	20.5	28.0
Twiggs, GA	8	Adult_Dermat	1 in 45 miles	0		8	100.0	0	0.0	5.6	5.6
Upson, GA	9	Adult_Dermat	1 in 45 miles	4	2.3	9	100.0	0	0.0	3.5	3.5
Wilcox, GA	1	Adult_Dermat	1 in 45 miles	0		1	100.0	0	0.0	23.6	23.6
Wilkinson, GA	8	Adult_Dermat	1 in 45 miles	0		8	100.0	0	0.0	19.2	19.2
Grand Totals	143	Adult_Derma	1 in 45 miles	26	5.5	143	100.0	0	0.0	11.8	12.8

Adult Rheumatology- Urban

April 21, 2023

Access Analysis
Adult_Rheumatology- Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Rheumatology

			Members W	ith and W	ithout Acces	5					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	71	Adult_Rheum	1 in 30 miles	1	71.0	71	100.0	0	0.0	4.8	15.6
Houston, GA			1 in 30 miles	3	11.7		100.0			3.8	6.1
Muscogee, GA			1 in 30 miles	8			100.0				
Troup, GA	17	Adult_Rheum	1 in 30 miles	0		2	11.8	15	88.2	35.7	36.8
Grand Totals	199	Adult_Rheu	1 in 30 miles	12	16.6	184	92.5	15	7.5	6.6	11.7
© 2023 Quest Analytics, LLC.											

Adult Rheumatology - Rural

April 21, 2023

Access Analysis
Adult_Rheumatology - Rural
Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Rheumatology

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Rheum	1 in 45 miles	0		13	100.0	0	0.0	25.5	37.4
Bleckley, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	30.5	32.4
Chattahoochee, GA	1	Adult_Rheum	1 in 45 miles	0		1	100.0	0	0.0	20.6	23.3
Crawford, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	23.4	24.5
Crisp, GA	4	Adult_Rheum	1 in 45 miles	0		4	100.0	0	0.0	33.4	42.3
Dodge, GA	1	Adult_Rheum	1 in 45 miles	0		0	0.0	1	100.0	52.1	52.1
Dooly, GA	1	Adult_Rheum	1 in 45 miles	0		1	100.0	0	0.0	23.5	33.5
Harris, GA	7	Adult_Rheum	1 in 45 miles	0		7	100.0	0	0.0	22.6	24.5
Heard, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	21.2	21.2
Johnson, GA	1	Adult_Rheum	1 in 45 miles	0		0	0.0	1	100.0	54.8	55.1
Jones, GA	7	Adult_Rheum	1 in 45 miles	0		7	100.0	0	0.0	10.5	21.5
Lamar, GA	6	Adult_Rheum	1 in 45 miles	0		6	100.0	0	0.0	29.0	29.1
Laurens, GA	19	Adult_Rheum	1 in 45 miles	0		12	63.2	7	36.8	45.0	46.2
Macon, GA	3	Adult_Rheum	1 in 45 miles	1	3.0	3	100.0	0	0.0	2.5	40.1
Marion, GA	1	Adult_Rheum	1 in 45 miles	0		1	100.0	0	0.0	24.3	36.1
Meriwether, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	30.2	31.8
Monroe, GA	7	Adult_Rheum	1 in 45 miles	0		7	100.0	0	0.0	26.5	36.0
Peach, GA	16	Adult_Rheum	1 in 45 miles	0		16	100.0	0	0.0	11.7	14.7
Pike, GA	5	Adult_Rheum	1 in 45 miles	0		5	100.0	0	0.0	27.4	29.3
Pulaski, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	28.8	30.7
Talbot, GA	2	Adult_Rheum	1 in 45 miles	0		2	100.0	0	0.0	33.0	34.1
Taylor, GA	2	Adult_Rheum	1 in 45 miles	0		2	100.0	0	0.0	26.9	34.9
Telfair, GA	3	Adult_Rheum	1 in 45 miles	0		3	100.0	0	0.0	38.4	38.4
Treutlen, GA	3	Adult_Rheum	1 in 45 miles	0		0	0.0	3	100.0	47.3	47.3
Twiggs, GA	8	Adult_Rheum	1 in 45 miles	0		8	100.0	0	0.0	8.9	17.0
Upson, GA	9	Adult_Rheum	1 in 45 miles	0		9	100.0	0	0.0	37.7	40.0
Wilcox, GA	1	Adult_Rheum	1 in 45 miles	0		1	100.0	0	0.0	37.9	38.1
Wilkinson, GA	8	Adult_Rheum	1 in 45 miles	0		8	100.0	0	0.0	27.5	35.1
Grand Totals	143	Adult_Rheu	1 in 45 miles	1	143.0	131	91.6	12	8.4	27.0	32.3

Adult Infectious Disease- Urban

April 21, 2023

Access Analysis

Adult_Infectious Disease_Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Infectious Disease (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	45	1.6		100.0		0.0		2.7		
Houston, GA			1 in 30 miles	4	8.8	35	100.0		0.0		4.8		
Muscogee, GA			1 in 30 miles	5			100.0		0.0		3.9		
Troup, GA			1 in 30 miles	7	2.4		100.0		0.0				
Grand Totals	199	Adult_Infecti	1 in 30 miles	61	3.3	199	100.0		0.0	3.3	3.7		
© 2023 Quest Analytics II C													

Adult Infectious Disease -Rural

April 21, 2023

Access Analysis
Adult_Infectious Disease_Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_Infectious Disease (CENTRAL_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Infectio	1 in 45 miles	1	13.0	13	100.0	0	0.0	3.8	46.8
Bleckley, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	30.0	31.0
Chattahoochee, GA	1	Adult_Infectio	1 in 45 miles	0		1	100.0	0	0.0	41.9	66.1
Crawford, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	20.9	44.1
Crisp, GA	4	Adult_Infectio	1 in 45 miles	1	4.0	4	100.0	0	0.0	1.8	45.1
Dodge, GA	1	Adult_Infectio	1 in 45 miles	0		1	100.0	0	0.0	31.6	32.1
Dooly, GA	1	Adult_Infectio	1 in 45 miles	0		1	100.0	0	0.0	13.0	32.1
Harris, GA	7	Adult_Infectio	1 in 45 miles	0		7	100.0	0	0.0	23.7	70.6
Heard, GA	3	Adult_Infectio	1 in 45 miles	0		2	66.7	1	33.3	44.4	94.4
Johnson, GA	1	Adult_Infectio	1 in 45 miles	0		1	100.0	0	0.0	23.4	25.0
Jones, GA	7	Adult_Infectio	1 in 45 miles	0		7	100.0	0	0.0	24.6	32.7
Lamar, GA	6	Adult_Infectio	1 in 45 miles	0		5	83.3	1	16.7	38.5	51.6
Laurens, GA	19	Adult_Infectio	1 in 45 miles	5	3.8	19	100.0	0	0.0	3.7	5.1
Macon, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	35.4	36.2
Marion, GA	1	Adult_Infectio	1 in 45 miles	0		0	0.0	1	100.0	46.9	51.1
Meriwether, GA	3	Adult_Infectio	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.6	64.9
Monroe, GA	7	Adult_Infectio	1 in 45 miles	0		7	100.0	0	0.0	37.2	41.4
Peach, GA	16	Adult_Infectio	1 in 45 miles	1	16.0	16	100.0	0	0.0	9.0	45.4
Pike, GA	5	Adult_Infectio	1 in 45 miles	0		5	100.0	0	0.0	28.5	59.6
Pulaski, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	35.3	36.3
Talbot, GA	2	Adult_Infectio	1 in 45 miles	0		2	100.0	0	0.0	20.7	49.1
Taylor, GA	2	Adult_Infectio	1 in 45 miles	0		2	100.0	0	0.0	31.3	45.2
Telfair, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	31.0	33.7
Treutlen, GA	3	Adult_Infectio	1 in 45 miles	0		3	100.0	0	0.0	25.0	28.0
Twiggs, GA	8	Adult_Infectio	1 in 45 miles	0		8	100.0	0	0.0	25.3	32.9
Upson, GA	9	Adult_Infectio	1 in 45 miles	0		9	100.0	0	0.0	20.3	47.2
Wilcox, GA	1	Adult_Infectio	1 in 45 miles	0		1	100.0	0	0.0	24.5	42.4
Wilkinson, GA	8	Adult_Infectio	1 in 45 miles	0		8	100.0	0	0.0	19.1	34.7
		_									
Grand Totals	143	Adult_Infecti	1 in 45 miles	9	15.9	140	97.9	3	2.1	19.3	40.2

Adult General Surgery - Urban

April 21, 2023

Access Analysis
Adult_General Surgery_Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_General Surgery (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	71		1 in 30 miles	140	0.5	71	100.0	0	0.0	1.5	1.5			
Houston, GA	35		1 in 30 miles	66			100.0	0	0.0	1.8	2.4			
Muscogee, GA			1 in 30 miles	61			100.0		0.0	3.1	3.2			
Troup, GA	17	Adult_Genera	1 in 30 miles	16	1.1	17	100.0	0	0.0	3.2	3.9			
Grand Totals	199	Adult_Gener	1 in 30 miles	283	0.7	199	100.0	0	0.0	2.3	2.5			
© 2023 Quest Analytics, LLC.														

Adult General Surgery- Rural

April 21, 2023

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Adult Rural Members (CENTRAL_RURAL) Adult_General Surgery (CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
#	Group	Standard	#	to Providers	#	%	#	%	1	2			
13	Adult_Genera	1 in 45 miles	18	0.7	13	100.0	0	0.0	3.3	3.4			
3	Adult_Genera	1 in 45 miles			3	100.0	0	0.0	12.5	12.5			
1	Adult_Genera	1 in 45 miles	0		1	100.0	0	0.0	16.7	40.9			
3	Adult_Genera	1 in 45 miles	0		-		0	0.0	20.9	20.9			
		1 in 45 miles	7	0.6	4	100.0	0	0.0	1.4	2.1			
		1 in 45 miles	2	0.5	1	100.0	0	0.0	2.7	2.7			
1	Adult_Genera	1 in 45 miles	0		1	100.0	0	0.0	12.3	12.3			
7	Adult_Genera	1 in 45 miles	0		7	100.0	0	0.0	23.6	37.1			
3	Adult_Genera	1 in 45 miles	0		2	66.7	1	33.3	44.2	58.2			
1	Adult_Genera	1 in 45 miles	0		1	100.0	0	0.0	23.7	23.7			
7	Adult_Genera	1 in 45 miles	0		7	100.0	0	0.0	23.7	24.6			
6	Adult_Genera	1 in 45 miles	0		6	100.0	0	0.0	17.6	17.6			
19	Adult_Genera	1 in 45 miles	21	0.9	19	100.0	0	0.0	4.2	4.4			
3	Adult_Genera	1 in 45 miles	4	0.8	3	100.0	0	0.0	2.4	2.4			
		1 in 45 miles	1	1.0	1	100.0	0	0.0	10.6	21.1			
3	Adult_Genera	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.6	25.9			
7	Adult_Genera	1 in 45 miles	3	2.3	7	100.0	0	0.0	5.2	5.2			
16	Adult Genera	1 in 45 miles	11	1.5	16	100.0	0	0.0	9.0	9.0			
5	Adult Genera	1 in 45 miles	0		5	100.0	0	0.0	16.6	16.6			
3	Adult Genera	1 in 45 miles		1.5	3	100.0	0	0.0	1.4	1.4			
2	Adult Genera	1 in 45 miles			2	100.0	0	0.0	14.7	20.0			
		1 in 45 miles	0				0	0.0	22.7	22.7			
		1 in 45 miles					0	0.0	20.5	23.5			
3	Adult Genera	1 in 45 miles	0		3	100.0	0	0.0	16.6	27.9			
8		1 in 45 miles	0		8		0	0.0	25.3	25.3			
	_						0	0.0		3.5			
1	_		0		1		0	0.0		13.2			
8	_		0		8		0			19.1			
	_												
143	Adult_Gener	1 in 45 miles	72	2.0	142	99.3	1	0.7	12.2	14.3			
	# 13 3 1 3 4 1 1 7 6 19 3 1 3 7 16 5 3 2 2 3 3 8 9 1 8	# Group 13 Adult_Genera 3 Adult_Genera 1 Adult_Genera 3 Adult_Genera 4 Adult_Genera 1 Adult_Genera 1 Adult_Genera 1 Adult_Genera 7 Adult_Genera 1 Adult_Genera 7 Adult_Genera 7 Adult_Genera 1 Adult_Genera 1 Adult_Genera 2 Adult_Genera 1 Adult_Genera 1 Adult_Genera 1 Adult_Genera 1 Adult_Genera 1 Adult_Genera 2 Adult_Genera 3 Adult_Genera 4 Adult_Genera 5 Adult_Genera 2 Adult_Genera 2 Adult_Genera 2 Adult_Genera 3 Adult_Genera 2 Adult_Genera 3 Adult_Genera 3 Adult_Genera 3 Adult_Genera	# Group Standard 13 Adult_Genera 1 in 45 miles 3 Adult_Genera 1 in 45 miles 1 Adult_Genera 1 in 45 miles 3 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 1 Adult_Genera 1 in 45 miles 1 Adult_Genera 1 in 45 miles 2 Adult_Genera 1 in 45 miles 3 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 5 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 5 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 5 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles 5 Adult_Genera 1 in 45 miles 4 Adult_Genera 1 in 45 miles <	# Group Standard # 13 Adult_Genera 1 in 45 miles 0 14 Adult_Genera 1 in 45 miles 0 15 Adult_Genera 1 in 45 miles 0 16 Adult_Genera 1 in 45 miles 0 17 Adult_Genera 1 in 45 miles 0 18 Adult_Genera 1 in 45 miles 0 19 Adult_Genera 1 in 45 miles 0 10 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 11 Adult_Genera 1 in 45 miles 1 12 Adult_Genera 1 in 45 miles 1 13 Adult_Genera 1 in 45 miles 1 14 Adult_Genera 1 in 45 miles 1 15 Adult_Genera 1 in 45 miles 1 16 Adult_Genera 1 in 45 miles 1 17 Adult_Genera 1 in 45 miles 1 18 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 11 Adult_Genera 1 in 45 miles 1 12 Adult_Genera 1 in 45 miles 1 13 Adult_Genera 1 in 45 miles 1 14 Adult_Genera 1 in 45 miles 1 15 Adult_Genera 1 in 45 miles 1 16 Adult_Genera 1 in 45 miles 1 17 Adult_Genera 1 in 45 miles 1 18 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 11 Adult_Genera 1 in 45 miles 1 12 Adult_Genera 1 in 45 miles 1 13 Adult_Genera 1 in 45 miles 1 14 Adult_Genera 1 in 45 miles 1 15 Adult_Genera 1 in 45 miles 1 16 Adult_Genera 1 in 45 miles 1 17 Adult_Genera 1 in 45 miles 1 18 Adult_Genera 1 in 45 miles 1 18 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 10 Adult_Genera 1 in 45 miles 1 11 Adult_Genera 1 in 45 miles 1 12 Adult_Genera 1 in 45 miles 1 13 Adult_Genera 1 in 45 miles 1 14 Adult_Genera 1 in 45 miles 1	# Group Standard # to Providers # Group Standard # to Providers 13 Adult_Genera 1 in 45 miles 0 1 Adult_Genera 1 in 45 miles 0 1 Adult_Genera 1 in 45 miles 0 3 Adult_Genera 1 in 45 miles 0 4 Adult_Genera 1 in 45 miles 0 4 Adult_Genera 1 in 45 miles 0 5 Adult_Genera 1 in 45 miles 0 7 Adult_Genera 1 in 45 miles 0 8 Adult_Genera 1 in 45 miles 0 9 Adult_Genera 1 in 45 miles 0 1 Adult_Genera 1 in 45 miles 1 2 Adult_Genera 1 in 45 miles 1 3 Adult_Genera 1 in 45 miles 1 4 Adult_Genera 1 in 45 miles 1 5 Adult_Genera 1 in 45 miles 0 3 Adult_Genera 1 in 45 miles 0 4 Adult_Genera 1 in 45 miles 0 5 Adult_Genera 1 in 45 miles 0 6 Adult_Genera 1 in 45 miles 0 7 Adult_Genera 1 in 45 miles 0 8 Adult_Genera 1 in 45 miles 0 9 Adult_Genera 1 in 45 miles 0 8 Adult_Genera 1 in 45 miles 0 9 Adult_Genera 1 in 45 miles 0 1 Adult_Genera 1 in 45 mil	## Group Standard ## to Providers ## Group Standard ## to Providers ##	# Group Standard # to Providers to Providers # % Adult_Genera 1 in 45 miles 18 0.7 13 100.0 Adult_Genera 1 in 45 miles 0 3 100.0 Adult_Genera 1 in 45 miles 0 1 100.0 Adult_Genera 1 in 45 miles 1 1 100.0 Adult_Genera 1 in 45 miles 0 5 100.0 Adult_Genera	# Group Standard # Ratio Members to Providers With Access Without Access 13 Adult_Genera 1 in 45 miles 18 0.7 13 100.0 0 3 Adult_Genera 1 in 45 miles 0 3 100.0 0 4 Adult_Genera 1 in 45 miles 0 3 100.0 0 4 Adult_Genera 1 in 45 miles 0 3 100.0 0 1 Adult_Genera 1 in 45 miles 0 3 100.0 0 1 Adult_Genera 1 in 45 miles 0 1 100.0 0 3 Adult_Genera 1 in 45 miles 0 7 100.0 0 4 Adult_Genera 1 in 45 miles 0 7 100.0 0 5 Adult_Genera 1 in 45 miles 0 1 100.0 0 6 Adult_Genera 1 in 45 miles 0 6 100.0	## Group Standard ## to Providers # % # % # % # % # % # % # % # % # % #	# Group Standard # to Providers to Providers # % # % 1 13 Adult_Genera 1 in 45 miles 0 3 100.0 0 0.0 3.3 3 Adult_Genera 1 in 45 miles 0 3 100.0 0 0.0 16.7 3 Adult_Genera 1 in 45 miles 0 3 100.0 0 0.0 20.9 4 Adult_Genera 1 in 45 miles 7 0.6 4 100.0 0 0.0 1.4 1 Adult_Genera 1 in 45 miles 7 0.6 4 100.0 0 0.0 1.4 1 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.9 4 Adult_Genera 1 in 45 miles 7 0.6 4 100.0 0 0.0 1.4 1 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.7 1 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.7 1 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.7 2 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 3 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 4 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 4 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 5 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 6 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 6 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 7 Adult_Genera 1 in 45 miles 0 1 100.0 0 0.0 2.3 8 Adult_Genera 1 in 45 miles 0 6 100.0 0 0.0 2.3 1 Adult_Genera 1 in 45 miles 0 6 100.0 0 0.0 2.4 1 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.4 1 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.4 1 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.4 1 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.4 2 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.4 2 Adult_Genera 1 in 45 miles 1 1.0 1 100.0 0 0.0 2.2 3 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 2.2 4 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 2.2 3 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 2.2 3 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 2.2 4 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 0.0 2.2 3 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 0.0 2.5 3 Adult_Genera 1 in 45 miles 0 5 100.0 0 0.0 0.0 2.5 3 Adult_Genera 1 in 45 miles 0 5 100.			

Adult Neurology - Urban

April 21, 2023

Access Analysis

Adult_Neurology - Urban

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) Adult_Neurology (CENTRAL_URBAN)

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	71	Adult_Neurol	1 in 30 miles	196	0.4		100.0	0	0.0	2.5				
Houston, GA			1 in 30 miles	3			100.0	0	0.0	3.5				
Muscogee, GA			1 in 30 miles	158			100.0		0.0	3.1				
Troup, GA	17	Adult_Neurol	1 in 30 miles	58	0.3	17	100.0	0	0.0	4.6	5.3			
Grand Totals	199	Adult_Neurol	1 in 30 miles	415	0.5	199	100.0	0	0.0	3.1	3.6			
© 2023 Quest Analytics, LLC.														

Adult Neurology -Rural

April 21, 2023

Access Analysis Adult_Neurology - Rural

Member / Provider Groups Adult Rural Members (CENTRAL_RURAL)

Adult_Neurology (CENTRAL_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Neurol	1 in 45 miles	3	4.3	13	100.0	0	0.0	3.6	3.8
Bleckley, GA	3	Adult_Neurol	1 in 45 miles	0		3	100.0	0	0.0	12.5	30.7
Chattahoochee, GA	1	Adult_Neurol	1 in 45 miles	0		0	0.0	1	100.0	55.0	55.0
Crawford, GA	3	Adult_Neurol	1 in 45 miles	0		3		0	0.0	20.9	24.1
Crisp, GA	4	Adult_Neurol	1 in 45 miles	2	2.0	4	100.0	0	0.0	2.1	2.3
Dodge, GA	1	Adult_Neurol	1 in 45 miles	0		1	100.0	0	0.0	25.8	31.8
Dooly, GA	1	_	1 in 45 miles	0		1	100.0	0	0.0	12.2	12.3
Harris, GA	7	_	1 in 45 miles	0		5	71.4	2	28.6	41.3	41.3
Heard, GA	3	Adult_Neurol	1 in 45 miles	0		0		3	100.0	58.1	58.1
Johnson, GA	1	Adult_Neurol	1 in 45 miles	0			100.0	0	0.0	25.4	25.5
Jones, GA	7	Adult_Neurol	1 in 45 miles	0		7	100.0	0	0.0	24.6	26.1
Lamar, GA	6	Adult_Neurol	1 in 45 miles	0		6	100.0	0	0.0	17.6	22.1
Laurens, GA	19	Adult_Neurol	1 in 45 miles	6	3.2	19	100.0	0	0.0	5.3	5.4
Macon, GA	3	Adult_Neurol	1 in 45 miles	0		3		0	0.0	34.7	34.9
Marion, GA	1	Adult_Neurol	1 in 45 miles	0		1	100.0	0	0.0	42.2	42.2
Meriwether, GA	3	Adult_Neurol	1 in 45 miles	0		3		0	0.0	25.7	25.7
Monroe, GA	7	Adult_Neurol	1 in 45 miles	1		7	100.0	0	0.0	5.0	32.3
Peach, GA	16	Adult_Neurol	1 in 45 miles	1	16.0	16	100.0	0	0.0	9.0	32.6
Pike, GA	5	Adult_Neurol	1 in 45 miles	0		5	100.0	0	0.0	16.4	16.5
Pulaski, GA	3	_	1 in 45 miles	1	3.0	3		0	0.0	1.5	35.3
Talbot, GA	2	Adult_Neurol	1 in 45 miles	0		2		0	0.0	23.9	23.9
Taylor, GA	2	_	1 in 45 miles	0		2		0	0.0	27.2	27.2
Telfair, GA	3	Adult_Neurol	1 in 45 miles	0		3		0	0.0	33.4	33.7
Treutlen, GA	3	Adult_Neurol	1 in 45 miles	0		3	100.0	0	0.0	27.8	28.2
Twiggs, GA	8	Adult_Neurol	1 in 45 miles	0		8	100.0	0	0.0	25.3	30.8
Upson, GA	9	Adult_Neurol	1 in 45 miles	37	0.2	9		0	0.0	3.4	3.6
Wilcox, GA	1	Adult_Neurol	1 in 45 miles	0		1		0	0.0	13.3	23.6
Wilkinson, GA	8	Adult_Neurol	1 in 45 miles	0		8	100.0	0	0.0	18.9	19.0
Grand Totals	143	Adult_Neurol	1 in 45 miles	51	2.8	137	95.8	6	4.2	16.0	21.9
Grand I otals	143	Adult_Neurol	1 in 45 miles	51	2.8	137	95.8	6	4.2	16.0	21

Adult Ophthalmology- Urban

April 21, 2023

Access Analysis
Adult_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Ophthalmology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	71	Adult_Ophtha	1 in 30 miles	11	6.5		100.0		0.0	2.8	2.9			
Houston, GA		Adult_Ophtha	1 in 30 miles	1			100.0		0.0	4.8	18.6			
Muscogee, GA	76		1 in 30 miles	6			100.0		0.0	3.3	3.7			
Troup, GA	17	Adult_Ophtha	1 in 30 miles	2	8.5	17	100.0	0	0.0	4.0	4.0			
Grand Totals	199	Adult_Ophth	1 in 30 miles	20	10.0	199	100.0	0	0.0	3.4	6.1			

Adult Ophthalmology - Rural

April 21, 2023

Access Analysis
Adult_Ophthalmology - Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)

Adult_Ophthalmology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Baldwin, GA	13	Adult_Ophtha	1 in 45 miles	3	4.3	13	100.0	0	0.0	3.7	3.7			
Bleckley, GA	3	Adult_Ophtha	1 in 45 miles	0		3		0	0.0	28.6	31.3			
Chattahoochee, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	22.5	23.0			
Crawford, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0		25.3			
Crisp, GA	4	Adult_Ophtha	1 in 45 miles	0		4	100.0	0	0.0	29.8	29.8			
Dodge, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	32.5	45.1			
Dooly, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	29.1	29.1			
Harris, GA	7	Adult_Ophtha	1 in 45 miles	0		7	100.0	0	0.0	17.4	17.8			
Heard, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0	17.5	17.5			
Johnson, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	25.1	28.7			
Jones, GA	7	Adult_Ophtha	1 in 45 miles	0		7	100.0	0	0.0	6.9	9.2			
Lamar, GA	6	Adult_Ophtha	1 in 45 miles	1	6.0	6	100.0	0	0.0	6.1	13.5			
Laurens, GA	19	Adult_Ophtha	1 in 45 miles	1	19.0	19	100.0	0	0.0	5.2	33.8			
Macon, GA	3	Adult_Ophtha	1 in 45 miles	0		3		0	0.0	23.0	23.0			
Marion, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	26.2	26.2			
Meriwether, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0	18.8	23.6			
Monroe, GA	7	Adult_Ophtha	1 in 45 miles	0		7	100.0	0	0.0	15.3	19.8			
Peach, GA	16	Adult_Ophtha	1 in 45 miles	0		16	100.0	0	0.0	13.8	25.8			
Pike, GA	5	Adult_Ophtha	1 in 45 miles	0		5	100.0	0	0.0	12.7	15.7			
Pulaski, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0	27.8	41.5			
Talbot, GA	2	Adult_Ophtha	1 in 45 miles	0		2	100.0	0	0.0	18.6	28.5			
Taylor, GA	2	Adult_Ophtha	1 in 45 miles	0		2	100.0	0	0.0	27.2	32.0			
Telfair, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0	33.7	34.3			
Treutlen, GA	3	Adult_Ophtha	1 in 45 miles	0		3	100.0	0	0.0	22.5	23.3			
Twiggs, GA	8	Adult_Ophtha	1 in 45 miles	0		8	100.0	0	0.0	3.9	5.7			
Upson, GA	9	Adult_Ophtha	1 in 45 miles	1	9.0	9	100.0	0	0.0	3.8	20.5			
Wilcox, GA	1	Adult_Ophtha	1 in 45 miles	0		1	100.0	0	0.0	35.9	43.8			
Wilkinson, GA	8	Adult_Ophtha	1 in 45 miles	0		8	100.0	0	0.0	19.1	19.8			
Grand Totals	143	Adult_Ophth	1 in 45 miles	6	23.8	143	100.0	0	0.0	13.5	21.5			
© 2023 Quest Analytics 11 C										L				

Adult Orthopedics - Urban

April 21, 2023

Access Analysis
Adult_Orhopedics- Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Orthopedics

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acc	ess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA		Adult_Orthop	1 in 30 miles	138	0.5		100.0		0	0.0	1.5	1.6
Houston, GA			1 in 30 miles	61	0.6	35	100.0		0	0.0	2.0	2.2
Muscogee, GA			1 in 30 miles	95	0.8		100.0		0	0.0	2.9	3.0
Troup, GA			1 in 30 miles	51	0.3		100.0		0	0.0	2.6	2.9
Grand Totals	199	Adult_Ortho	1 in 30 miles	345	0.6	199	100.0		0	0.0	2.2	2.4
© 2023 Quest Analytics 11 C			!									

Adult Orthopedics- Rural

April 21, 2023

Access Analysis
Adult_Orhopedics- Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Orthopedics

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	13	Adult_Orthop	1 in 45 miles	15	0.9	13	100.0	0	0.0	2.7	2.8		
Bleckley, GA	3	Adult_Orthop	1 in 45 miles	3	1.0	3	100.0	0	0.0	1.3	1.8		
Chattahoochee, GA	1	Adult_Orthop	1 in 45 miles	0		1	100.0	0	0.0	16.7	22.0		
Crawford, GA	3	Adult_Orthop	1 in 45 miles	0		3	100.0	0	0.0	17.6	17.7		
Crisp, GA	4	Adult_Orthop	1 in 45 miles	20	0.2	4	100.0	0	0.0	1.2	1.5		
Dodge, GA	1	Adult_Orthop	1 in 45 miles	4	0.3	1	100.0	0	0.0	1.9	2.7		
Dooly, GA	1	Adult_Orthop	1 in 45 miles	5	0.2	1	100.0	0	0.0	4.5	4.5		
Harris, GA	7	Adult_Orthop	1 in 45 miles	0		7	100.0	0	0.0	9.4	11.6		
Heard, GA	3	Adult_Orthop	1 in 45 miles	0		3	100.0	0	0.0	17.2	17.2		
Johnson, GA	1	Adult_Orthop	1 in 45 miles	1	1.0	1	100.0	0	0.0	0.6	17.6		
Jones, GA	7	Adult_Orthop	1 in 45 miles	0		7	100.0	0	0.0	6.2	7.9		
Lamar, GA	6	Adult_Orthop	1 in 45 miles	2	3.0	6	100.0	0	0.0	6.3	6.4		
Laurens, GA	19	Adult_Orthop	1 in 45 miles	52	0.4	19	100.0	0	0.0	4.7	4.7		
Macon, GA	3	Adult_Orthop	1 in 45 miles	3	1.0	3	100.0	0	0.0	2.5	2.5		
Marion, GA	1	Adult_Orthop	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.6	11.6		
Meriwether, GA	3	Adult_Orthop	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.6	16.9		
Monroe, GA	7	Adult Orthop	1 in 45 miles	0		7	100.0	0	0.0	15.6	15.8		
Peach, GA	16	Adult Orthop	1 in 45 miles	8	2.0	16	100.0	0	0.0	9.3	9.6		
Pike, GA	5	Adult_Orthop	1 in 45 miles	0			100.0	0	0.0	12.3	12.4		
Pulaski, GA			1 in 45 miles	6	0.5	3	100.0	0	0.0	1.5	1.7		
Talbot, GA		Adult Orthop	1 in 45 miles	0			100.0	0	0.0	14.5	18.0		
Taylor, GA	2	Adult Orthop	1 in 45 miles	0			100.0	0	0.0	21.5	21.8		
Telfair, GA			1 in 45 miles	0			100.0	0	0.0	20.5	20.5		
Treutlen, GA		Adult_Orthop	1 in 45 miles	0		3	100.0	0	0.0	16.6	16.6		
Twiggs, GA			1 in 45 miles	0		8	100.0	0	0.0	3.2	4.1		
Upson, GA			1 in 45 miles	13	0.7	9	100.0	0	0.0	2.9	3.0		
Wilcox, GA		Adult Orthop	1 in 45 miles	1	1.0	1	100.0	0	0.0	12.2	13.3		
Wilkinson, GA		Adult_Orthop	1 in 45 miles	1	8.0	8	100.0	0	0.0	9.7	16.4		
Grand Totals	143	Adult_Ortho	1 in 45 miles	136	1.1	143	100.0	0	0.0	7.7	8.8		
@ 2023 Quaet Analytics II C													

Adult Optometry - Urban

April 21, 2023

Access Analysis Adult_Optometry - Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Optometry

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Optom	1 in 30 miles	10	7.1		100.0		0.0		3.1
Houston, GA			1 in 30 miles	11	3.2	35	100.0		0.0		3.6
Muscogee, GA			1 in 30 miles	19	4.0		100.0		0.0		3.4
Troup, GA	17	Adult_Optom	1 in 30 miles	3	5.7	17	100.0		0.0	3.8	4.3
Grand Totals	199	Adult_Opto	1 in 30 miles	43	4.6	199	100.0		0.0	2.6	3.4
© 2023 Quest Analytics 11 C			!								

Adult Optometry - Rural

April 21, 2023

Access Analysis
Adult_Optometry - Rural

Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Optometry

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	13	Adult_Optom	1 in 45 miles	2	6.5	13	100.0	0	0.0	4.1	4.1
Bleckley, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	22.4	25.5
Chattahoochee, GA	1	Adult_Optom	1 in 45 miles	0		1	100.0	0	0.0	17.4	23.0
Crawford, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	-	17.8
Crisp, GA	4	Adult_Optom	1 in 45 miles	0		4	100.0	0	0.0	9.1	16.0
Dodge, GA	1	Adult_Optom	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.8	20.2
Dooly, GA	1	Adult_Optom	1 in 45 miles	2	0.5	1	100.0	0	0.0	2.9	4.5
Harris, GA	7	Adult_Optom	1 in 45 miles	0		7	100.0	0	0.0	9.5	14.9
Heard, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	17.5	17.9
Johnson, GA	1	Adult_Optom	1 in 45 miles	0		1	100.0	0	0.0	23.0	25.1
Jones, GA	7	Adult_Optom	1 in 45 miles	0		7	100.0	0	0.0	9.3	9.5
Lamar, GA	6	Adult_Optom	1 in 45 miles	0		6	100.0	0	0.0	12.0	15.5
Laurens, GA	19	Adult_Optom	1 in 45 miles	6	3.2	19	100.0	0	0.0	3.9	5.5
Macon, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	21.6	22.9
Marion, GA	1	Adult_Optom	1 in 45 miles	0		1	100.0	0	0.0	27.7	33.5
Meriwether, GA	3	Adult_Optom	1 in 45 miles	1	3.0	3	100.0	0	0.0	11.0	23.5
Monroe, GA	7	Adult_Optom	1 in 45 miles	1	7.0	7	100.0	0	0.0	5.3	23.0
Peach, GA	16	Adult_Optom	1 in 45 miles	2	8.0	16	100.0	0	0.0	10.0	10.0
Pike, GA	5	Adult_Optom	1 in 45 miles	0		5	100.0	0	0.0	16.4	17.2
Pulaski, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	21.8	22.2
Talbot, GA	2	Adult_Optom	1 in 45 miles	0		2	100.0	0	0.0	16.2	29.1
Taylor, GA	2	Adult_Optom	1 in 45 miles	0		2	100.0	0	0.0	30.8	31.4
Telfair, GA	3	Adult_Optom	1 in 45 miles	1	3.0	3	100.0	0	0.0	1.0	23.5
Treutlen, GA	3	Adult_Optom	1 in 45 miles	0		3	100.0	0	0.0	23.3	27.0
Twiggs, GA	8	Adult_Optom	1 in 45 miles	0		8	100.0	0	0.0	6.0	6.7
Upson, GA	9	Adult_Optom	1 in 45 miles	0		9	100.0	0	0.0	17.9	26.2
Wilcox, GA	1	Adult_Optom	1 in 45 miles	0		1	100.0	0	0.0	16.9	19.3
Wilkinson, GA	8	Adult_Optom	1 in 45 miles	0		8	100.0	0	0.0	19.8	19.8
Grand Totals	143	Adult_Opto	1 in 45 miles	16	8.9	143	100.0	0	0.0	11.2	14.9

Adult Urology -Urban

April 21, 2023

Access Analysis
Adult_Urology- Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Urology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Urology	1 in 30 miles	18	3.9		100.0		0.0		
Houston, GA		Adult_Urology	1 in 30 miles	5		35	100.0		0.0		
Muscogee, GA		Adult_Urology	1 in 30 miles	9	8.4	76	100.0		0.0		
Troup, GA	17	Adult_Urology	1 in 30 miles	9	1.9	17	100.0		0.0	5.0	5.1
Grand Totals	199	Adult_Urology	1 in 30 miles	41	4.9	199	100.0		0.0	3.4	3.8
							l .				

Adult Urology- Rural

April 21, 2023

Access Analysis
Adult_Urology- Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Urology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	13	Adult_Urology	1 in 45 miles	2	6.5	13	100.0	0	0.0	3.4	4.0	
Bleckley, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	12.5	30.5	
Chattahoochee, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	22.2	22.7	
Crawford, GA	3	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	23.8	25.2	
Crisp, GA	4	Adult_Urology	1 in 45 miles	1	4.0	4	100.0	0	0.0	2.3	30.8	
Dodge, GA		Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	25.8	31.9	
Dooly, GA		Adult_Urology	1 in 45 miles	0		1		0	0.0	12.2	24.8	
Harris, GA	7	Adult_Urology	1 in 45 miles	0		7	100.0	0	0.0	15.3	15.3	
Heard, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	17.3	17.3	
Johnson, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	25.1	25.5	
Jones, GA	7	Adult_Urology	1 in 45 miles	0		7	100.0	0	0.0	7.9	7.9	
Lamar, GA	6	Adult_Urology	1 in 45 miles	0		6	100.0	0	0.0	12.3	12.3	
Laurens, GA	19	Adult_Urology	1 in 45 miles	5	3.8	19	100.0	0	0.0	5.1	5.5	
Macon, GA	3	Adult_Urology	1 in 45 miles	1	3.0	3	100.0	0	0.0	2.4	24.9	
Marion, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	21.1	25.0	
Meriwether, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	19.9	24.7	
Monroe, GA	7	Adult_Urology	1 in 45 miles	0		7	100.0	0	0.0	19.8	19.8	
Peach, GA	16	Adult_Urology	1 in 45 miles	0		16	100.0	0	0.0	12.0	14.7	
Pike, GA	5	Adult_Urology	1 in 45 miles	0		5	100.0	0	0.0	12.7	16.2	
Pulaski, GA	3	Adult_Urology	1 in 45 miles	1	3.0	3	100.0	0	0.0	1.5	28.8	
Talbot, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	17.9	29.7	
Taylor, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	22.7	27.3	
Telfair, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	33.7	33.9	
Treutlen, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	22.6	22.6	
Twiggs, GA	8	Adult_Urology	1 in 45 miles	0		8	100.0	0	0.0	4.1	4.2	
Upson, GA	9	Adult_Urology	1 in 45 miles	1	9.0	9	100.0	0	0.0	3.7	25.6	
Wilcox, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	13.2	23.6	
Wilkinson, GA	8	Adult_Urology	1 in 45 miles	0		8	100.0	0	0.0	19.1	19.3	
Grand Totals	143	Adult_Urology	1 in 45 miles	11	13.0	143	100.0	0	0.0	11.2	16.0	

Adult Vascular Surgery - Urban

April 21, 2023

Access Analysis

Adult_Vascular Surgery- Urban

Member / Provider Groups Adult Urban Members (CENTRAL_URBAN)

Adult_Vascular Surgery

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA		Adult_Vascula	1 in 30 miles	51	1.4	71	100.0		0	0.0	3.0	3.1	
Houston, GA	35	Adult_Vascula	1 in 30 miles	27	1.3	35	100.0		0	0.0	3.6	3.7	
Muscogee, GA	76	Adult_Vascula	1 in 30 miles	23	3.3	76	100.0		0	0.0	3.2	3.2	
Troup, GA	17	Adult_Vascula	1 in 30 miles	6	2.8	17	100.0		0	0.0	5.1	5.1	
Grand Totals	199	Adult_Vascul	1 in 30 miles	107	1.9	199	100.0		0	0.0	3.4	3.4	
		_											
© 2023 Quest Analytics II C													

Adult Vascular Surgery- Rural

April 21, 2023

Access Analysis
Adult_Vascular Surgery- Rural

Member / Provider Groups Adult Rural Members (CENTRAL_RURAL)

Adult_Vascular Surgery

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	13	Adult_Vascula	1 in 45 miles	2	6.5	13	100.0	0	0.0	3.9	3.9	
Bleckley, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	30.5	30.5	
Chattahoochee, GA	1	Adult_Vascula	1 in 45 miles	0		1	100.0	0	0.0	22.9	22.9	
Crawford, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	20.9	20.9	
Crisp, GA	4	Adult_Vascula	1 in 45 miles	2	2.0	4	100.0	0	0.0	2.2	42.4	
Dodge, GA	1	Adult_Vascula	1 in 45 miles	0		1	100.0	0	0.0	43.6	45.1	
Dooly, GA	1	Adult_Vascula	1 in 45 miles	0		1	100.0	0	0.0	12.3	32.1	
Harris, GA	7	Adult_Vascula	1 in 45 miles	0		7	100.0	0	0.0	15.6	15.6	
Heard, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	17.3	17.3	
Johnson, GA	1	Adult_Vascula	1 in 45 miles	0		1	100.0	0	0.0	20.8	47.8	
Jones, GA	7	Adult_Vascula	1 in 45 miles	0		7	100.0	0	0.0	7.8	7.8	
Lamar, GA	6	Adult_Vascula	1 in 45 miles	0		6	100.0	0	0.0	12.3	12.3	
Laurens, GA	19	Adult_Vascula	1 in 45 miles	0		19	100.0	0	0.0	33.7	43.5	
Macon, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	34.9	36.2	
Marion, GA	1	Adult_Vascula	1 in 45 miles	0		1	100.0	0	0.0	38.3	38.3	
Meriwether, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	24.7	24.7	
Monroe, GA	7	Adult_Vascula	1 in 45 miles	0		7	100.0	0	0.0	17.1	23.6	
Peach, GA	16	Adult_Vascula	1 in 45 miles	4	4.0	16	100.0	0	0.0	8.9	8.9	
Pike, GA	5	Adult_Vascula	1 in 45 miles	0		5	100.0	0	0.0	16.2	16.2	
Pulaski, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	28.8	28.8	
Talbot, GA	2	Adult_Vascula	1 in 45 miles	0		2	100.0	0	0.0	29.8	29.8	
Taylor, GA	2	Adult_Vascula	1 in 45 miles	0		2	100.0	0	0.0	31.3	31.3	
Telfair, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	34.3	34.3	
Treutlen, GA	3	Adult_Vascula	1 in 45 miles	0		3	100.0	0	0.0	23.2	23.2	
Twiggs, GA	8	Adult_Vascula	1 in 45 miles	0		8	100.0	0	0.0	3.9	3.9	
Upson, GA	9	Adult_Vascula	1 in 45 miles	0		9	100.0	0	0.0	25.6	25.6	
Wilcox, GA	1	Adult Vascula	1 in 45 miles	0		1	100.0	0	0.0	23.8	37.9	
Wilkinson, GA		Adult_Vascula	1 in 45 miles	0		8	100.0	0	0.0	19.1	19.1	
		_										
Grand Totals	143	Adult_Vascul	1 in 45 miles	8	17.9	143	100.0	0	0.0	18.3	21.5	
		_										

Audiology -Urban

April 21, 2023

Access Analysis
Audiology- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Audiology

Members With and Without Access												
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Audiology	1 in 30 miles	9	53.2	479	100.0	0			4.1	
Houston, GA	465	Audiology	1 in 30 miles	3			100.0	0	0.0			
Muscogee, GA		Audiology	1 in 30 miles	10			100.0	0				
Troup, GA	223	Audiology	1 in 30 miles	5	44.6	223	100.0	0	0.0	3.1	3.7	
Grand Totals	1,966	Audiology	1 in 30 miles	27	72.8	1,966	100.0	0	0.0	3.0	3.5	
© 2023 Quest Analytics. LLC												

Audiology - Rural

April 21, 2023

Access Analysis
Audiology- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Audiology

Members With and Without Access												
	Member	F	rovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Audiology	1 in 45 miles	1	162.0	162	100.0	0	0.0	2.7	23.3	
Bleckley, GA	30	Audiology	1 in 45 miles	0		30	100.0	0	0.0	28.3	29.4	
Chattahoochee, GA	33	Audiology	1 in 45 miles	0		33	100.0	0	0.0	22.5	22.5	
Crawford, GA	54	Audiology	1 in 45 miles	0		54		0	0.0	21.6	21.7	
Crisp, GA	84	Audiology	1 in 45 miles	0		84	100.0	0	0.0	42.0	43.1	
Dodge, GA		Audiology	1 in 45 miles	0		8	13.3	52	86.7	47.6	52.1	
Dooly, GA	73	Audiology	1 in 45 miles	0		73	100.0	0	0.0	35.1	35.1	
Harris, GA	103	Audiology	1 in 45 miles	0		103		0	0.0	14.6	15.6	
Heard, GA	33	Audiology	1 in 45 miles	0		33	100.0	0	0.0	18.4	20.0	
Johnson, GA		Audiology	1 in 45 miles	0		0	0.0	35	100.0	50.8	53.1	
Jones, GA	188	Audiology	1 in 45 miles	0		188	100.0	0	0.0	12.9	14.5	
Lamar, GA	112	Audiology	1 in 45 miles	2	56.0	112	100.0	0	0.0	3.2	3.4	
Laurens, GA	209	Audiology	1 in 45 miles	0		154	73.7	55	26.3	43.9	47.6	
Macon, GA	43	Audiology	1 in 45 miles	0		43	100.0	0	0.0	35.9	35.9	
Marion, GA	19	Audiology	1 in 45 miles	0		19	100.0	0	0.0	34.4	34.4	
Meriwether, GA	80	Audiology	1 in 45 miles	0		80	100.0	0	0.0	19.2	19.3	
Monroe, GA	104	Audiology	1 in 45 miles	0		104	100.0	0	0.0	15.2	15.7	
Peach, GA	142	Audiology	1 in 45 miles	0		142	100.0	0	0.0		10.6	
Pike, GA	75	Audiology	1 in 45 miles	0		75	100.0	0	0.0	12.5	14.7	
Pulaski, GA	47	Audiology	1 in 45 miles	0		47	100.0	0	0.0	28.9	31.2	
Talbot, GA	9	Audiology	1 in 45 miles	0		9	100.0	0	0.0	27.4	27.4	
Taylor, GA	42	Audiology	1 in 45 miles	0		42	100.0	0	0.0	30.7	30.7	
Telfair, GA	103	Audiology	1 in 45 miles	0		0	0.0	103	100.0	64.1	67.4	
Treutlen, GA	22	Audiology	1 in 45 miles	0		0	0.0	22	100.0	49.4	49.4	
Twiggs, GA	60	Audiology	1 in 45 miles	0		60	100.0	0	0.0	10.1	11.5	
Upson, GA	130	Audiology	1 in 45 miles	0		130	100.0	0	0.0	18.2	18.2	
Wheeler, GA	11	Audiology	1 in 45 miles	0		0	0.0	11	100.0	60.0	60.2	
Wilcox, GA	24	Audiology	1 in 45 miles	0		24	100.0	0	0.0	38.4	51.1	
Wilkinson, GA	59	Audiology	1 in 45 miles	0		59	100.0	0	0.0	19.5	25.7	
Grand Totals	2,146	Audiology	1 in 45 miles	3	715.3	1,868	87.0	278	13.0	24.2	27.3	
2.0	_,					.,	.	0				

Behavioral Health- Urban

April 21, 2023

Access Analysis
Behavioral Health- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Behavioral Health

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Behavioral He	1 in 30 miles	250	1.9	479	100.0	0	0.0	0.8	1.1	
Houston, GA	465	Behavioral He	1 in 30 miles	141	3.3	465	100.0	0		1.3	1.8	
Muscogee, GA	799	Behavioral He	1 in 30 miles	358	2.2	799	100.0	0	0.0		0.7	
Troup, GA	223	Behavioral He	1 in 30 miles	59	3.8	223	100.0	0	0.0	2.2	3.0	
Grand Totals	1,966	Behavioral H	1 in 30 miles	808	2.4	1,966	100.0	0	0.0	1.0	1.3	

Behavioral Health- Rural

April 21, 2023

Access Analysis
Behavioral Health- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Behavioral Health

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Behavioral He	1 in 45 miles	70	2.3	162	100.0	0	0.0	1.2	1.3	
Bleckley, GA	30	Behavioral He	1 in 45 miles	1	30.0	30	100.0	0	0.0	4.8	13.8	
Chattahoochee, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	15.4	16.6	
Crawford, GA	54	Behavioral He	1 in 45 miles	0		54	100.0	0	0.0	11.9	13.9	
Crisp, GA	84	Behavioral He	1 in 45 miles	6	14.0	84		0	0.0	1.9	2.1	
Dodge, GA		Behavioral He	1 in 45 miles	5	12.0		100.0	0	0.0	5.4	6.4	
Dooly, GA	73	Behavioral He	1 in 45 miles	2	36.5	73	100.0	0	0.0	0.6	7.9	
Harris, GA	103	Behavioral He	1 in 45 miles	14	7.4	103	100.0	0	0.0	4.4	5.2	
Heard, GA	33	Behavioral He	1 in 45 miles	3	11.0	33	100.0	0	0.0	3.4	7.7	
Johnson, GA	35	Behavioral He	1 in 45 miles	1	35.0		100.0	0	0.0	7.2	16.6	
Jones, GA	188	Behavioral He	1 in 45 miles	11	17.1	188	100.0	0	0.0	2.8	3.2	
Lamar, GA	112	Behavioral He	1 in 45 miles	25	4.5	112	100.0	0	0.0	2.3	2.9	
Laurens, GA	209	Behavioral He	1 in 45 miles	28	7.5	209	100.0	0	0.0	2.5	3.3	
Macon, GA	43	Behavioral He	1 in 45 miles	8	5.4	43	100.0	0	0.0	4.3	4.4	
Marion, GA	19	Behavioral He	1 in 45 miles	1	19.0	19	100.0	0	0.0	7.2	23.4	
Meriwether, GA	80	Behavioral He	1 in 45 miles	7	11.4	80	100.0	0	0.0	2.5	2.9	
Monroe, GA	104	Behavioral He	1 in 45 miles	4	26.0	104	100.0	0	0.0	3.9	4.7	
Peach, GA	142	Behavioral He	1 in 45 miles	10	14.2	142	100.0	0	0.0	2.5	2.8	
Pike, GA	75	Behavioral He	1 in 45 miles	21	3.6	75	100.0	0	0.0	4.2	4.5	
Pulaski, GA	47	Behavioral He	1 in 45 miles	3	15.7	47	100.0	0	0.0	1.9	2.8	
Talbot, GA	9	Behavioral He	1 in 45 miles	7	1.3	9	100.0	0	0.0	9.3	9.5	
Taylor, GA	42	Behavioral He	1 in 45 miles	2	21.0	42	100.0	0	0.0	3.9	10.9	
Telfair, GA	103	Behavioral He	1 in 45 miles	2	51.5	103	100.0	0	0.0	2.5	6.7	
Treutlen, GA	22	Behavioral He	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	18.4	
Twiggs, GA	60	Behavioral He	1 in 45 miles	4	15.0	60	100.0	0	0.0	4.1	5.1	
Upson, GA	130	Behavioral He	1 in 45 miles	13	10.0	130	100.0	0	0.0	2.7	3.2	
Wheeler, GA	11	Behavioral He	1 in 45 miles	0		11	100.0	0	0.0	12.9	16.4	
Wilcox, GA	24	Behavioral He	1 in 45 miles	0		24	100.0	0	0.0	15.8	18.1	
Wilkinson, GA	59	Behavioral He	1 in 45 miles	2	29.5	59	100.0	0	0.0	2.5	11.6	
Grand Totals	2,146	Behavioral H	1 in 45 miles	251	8.5	2,146	100.0	0	0.0	3.6	5.6	
	·											

Behavioral Health Facilities - Urban

April 21, 2023

Access Analysis

Behavioral Health Facilities-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Behavioral Health Facilities

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Behavioral He	1 in 30 miles	36	13.3	479	100.0	0	0.0	1.9	2.1	
Houston, GA	465	Behavioral He	1 in 30 miles	24	19.4	465	100.0	0			4.4	
Muscogee, GA	799	Behavioral He	1 in 30 miles	110	7.3	799	100.0	0			1.2	
Troup, GA	223	Behavioral He	1 in 30 miles	5	44.6	223	100.0	0	0.0	3.7	3.8	
Grand Totals	1,966	Behavioral H	1 in 30 miles	175	11.2	1,966	100.0	0	0.0	2.1	2.5	

Behavioral Health Facilities - Rural

April 21, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Behavioral Health Facilities

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Behavioral He	1 in 45 miles	12	13.5	162	100.0	0	0.0	2.5	3.6	
Bleckley, GA	30	Behavioral He	1 in 45 miles	0		30	100.0	0	0.0	18.8	23.3	
Chattahoochee, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	19.9	20.2	
Crawford, GA	54	Behavioral He	1 in 45 miles	0		54	100.0	0	0.0	12.6	14.0	
Crisp, GA	84	Behavioral He	1 in 45 miles	0		84	100.0	0	0.0	24.5	30.3	
Dodge, GA	60	Behavioral He	1 in 45 miles	0		60	100.0	0	0.0	22.7	27.9	
Dooly, GA	73	Behavioral He	1 in 45 miles	0		73	100.0	0	0.0	25.3	27.1	
Harris, GA	103	Behavioral He	1 in 45 miles	4	25.8	103	100.0	0	0.0	7.9	9.9	
Heard, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	17.0	18.0	
Johnson, GA	35	Behavioral He	1 in 45 miles	0		35	100.0	0	0.0	18.5	24.3	
Jones, GA	188	Behavioral He	1 in 45 miles	1	188.0	188	100.0	0	0.0	4.8	12.0	
Lamar, GA	112	Behavioral He	1 in 45 miles	4	28.0	112	100.0	0	0.0	3.2	3.5	
Laurens, GA	209	Behavioral He	1 in 45 miles	2	104.5	209	100.0	0	0.0	3.7	9.4	
Macon, GA	43	Behavioral He	1 in 45 miles	0		43	100.0	0	0.0	18.9	21.7	
Marion, GA	19	Behavioral He	1 in 45 miles	0		19	100.0	0	0.0	24.8	27.1	
Meriwether, GA	80	Behavioral He	1 in 45 miles	3	26.7	80	100.0	0	0.0	3.0	10.9	
Monroe, GA	104	Behavioral He	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.8	12.6	
Peach, GA	142	Behavioral He	1 in 45 miles	4	35.5	142	100.0	0	0.0	3.8	4.1	
Pike, GA	75	Behavioral He	1 in 45 miles	1	75.0	75	100.0	0	0.0	6.9	12.7	
Pulaski, GA	47	Behavioral He	1 in 45 miles	0		47	100.0	0	0.0	25.5	26.4	
Talbot, GA	9	Behavioral He	1 in 45 miles	1	9.0	9	100.0	0	0.0	10.2	15.2	
Taylor, GA	42	Behavioral He	1 in 45 miles	1	42.0	42	100.0	0	0.0	10.1	20.4	
Telfair, GA	103	Behavioral He	1 in 45 miles	1	103.0	103	100.0	0	0.0	3.1	27.6	
Treutlen, GA	22	Behavioral He	1 in 45 miles	0		22	100.0	0	0.0	21.1	26.9	
Twiggs, GA	60	Behavioral He	1 in 45 miles	1	60.0	60	100.0	0	0.0	6.1	8.5	
Upson, GA	130	Behavioral He	1 in 45 miles	0		130	100.0	0	0.0	9.7	17.8	
Wheeler, GA	11	Behavioral He	1 in 45 miles	0		11	100.0	0	0.0	17.1	21.2	
Wilcox, GA	24	Behavioral He	1 in 45 miles	0		24	100.0	0	0.0	22.5	28.4	
Wilkinson, GA	59	Behavioral He	1 in 45 miles	0		59	100.0	0	0.0	16.1	18.2	
Grand Totals	2,146	Behavioral H	1 in 45 miles	36	59.6	2,146	100.0	0	0.0	9.6	14.7	
	,					,						

Dental -Urban

April 21, 2023

Access Analysis
Dental- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Dental

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Dental	1 in 30 miles	20	24.0	479	100.0	0	0.0	3.3	4.0	
Houston, GA		Dental	1 in 30 miles	12			100.0		0.0	2.9	5.6	
Muscogee, GA		Dental	1 in 30 miles	17			100.0		0.0		2.5	
Troup, GA	223	Dental	1 in 30 miles	5	44.6	223	100.0	0	0.0	3.5	3.7	
Grand Totals	1,966	Dental	1 in 30 miles	54	36.4	1,966	100.0	0	0.0	2.7	3.7	
© 2023 Quest Analytics, LLC.												

Dental - Rural

April 21, 2023

Access Analysis
Dental- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Dental

Members With and Without Access												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Dental	1 in 45 miles	1	162.0	162	100.0	0	0.0	2.6	19.9	
Bleckley, GA	30	Dental	1 in 45 miles	0		30	100.0	0	0.0	20.8	21.2	
Chattahoochee, GA	33	Dental	1 in 45 miles	0		33	100.0	0	0.0	14.3	16.8	
Crawford, GA	54	Dental	1 in 45 miles	0		54	100.0	0	0.0	14.5	15.1	
Crisp, GA	84	Dental	1 in 45 miles	3	28.0	84	100.0	0	0.0	2.1	2.2	
Dodge, GA		Dental	1 in 45 miles	2	30.0		100.0	0	0.0	7.1	7.2	
Dooly, GA	73	Dental	1 in 45 miles	0		73	100.0	0	0.0	9.0	9.0	
Harris, GA	103	Dental	1 in 45 miles	0		103	100.0	0	0.0	15.0	16.6	
Heard, GA	33	Dental	1 in 45 miles	1	33.0	33	100.0	0	0.0	4.4	17.0	
Johnson, GA	35	Dental	1 in 45 miles	0		35	100.0	0	0.0	17.3	18.4	
Jones, GA	188	Dental	1 in 45 miles	0		188	100.0	0	0.0	10.9	11.2	
Lamar, GA	112	Dental	1 in 45 miles	0		112	100.0	0	0.0	12.1	12.9	
Laurens, GA	209	Dental	1 in 45 miles	12	17.4	209	100.0	0	0.0	4.2	4.2	
Macon, GA	43	Dental	1 in 45 miles	0		43	100.0	0	0.0	21.5	24.1	
Marion, GA	19	Dental	1 in 45 miles	1	19.0	19	100.0	0	0.0	5.6	19.3	
Meriwether, GA	80	Dental	1 in 45 miles	1	80.0	80	100.0	0	0.0	4.0	18.6	
Monroe, GA	104	Dental	1 in 45 miles	12	8.7	104	100.0	0	0.0	4.5	5.1	
Peach, GA	142	Dental	1 in 45 miles	6	23.7	142	100.0	0	0.0	3.9	4.4	
Pike, GA	75	Dental	1 in 45 miles	1	75.0	75	100.0	0	0.0	5.6	11.8	
Pulaski, GA	47	Dental	1 in 45 miles	0		47	100.0	0	0.0	20.9	21.1	
Talbot, GA	9	Dental	1 in 45 miles	0		9	100.0	0	0.0	14.1	19.4	
Taylor, GA	42	Dental	1 in 45 miles	1	42.0	42	100.0	0	0.0	12.0	19.4	
Telfair, GA	103	Dental	1 in 45 miles	1	103.0	103	100.0	0	0.0	2.8	23.8	
Treutlen, GA	22	Dental	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.8	26.5	
Twiggs, GA	60	Dental	1 in 45 miles	0		60	100.0	0	0.0	9.2	10.0	
Upson, GA	130	Dental	1 in 45 miles	2	65.0	130	100.0	0	0.0	2.9	4.0	
Wheeler, GA	11	Dental	1 in 45 miles	0		11	100.0	0	0.0	15.2	23.5	
Wilcox, GA	24	Dental	1 in 45 miles	0		24	100.0	0	0.0	19.6	20.3	
Wilkinson, GA	59	Dental	1 in 45 miles	1	59.0	59	100.0	0	0.0	6.0	19.7	
Grand Totals	2,146	Dental	1 in 45 miles	46	46.7	2,146	100.0	0	0.0	7.8	12.5	
						·						

Dental Subspeciality - Urban

April 21, 2023

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Dental Subspecialty

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA	479	Dental Subsp	1 in 30 miles	5	95.8	479	100.0		0	0.0	3.6	4.8
Houston, GA	465	Dental Subsp	1 in 30 miles	4	116.3		100.0		0	0.0	4.8	5.9
Muscogee, GA			1 in 30 miles	4	199.8		100.0		0	0.0	3.4	3.4
Troup, GA	223	Dental Subsp	1 in 30 miles	2	111.5		100.0		0	0.0	4.1	4.4
Grand Totals	1,966	Dental Subs	1 in 30 miles	15	131.1	1,966	100.0		0	0.0	3.9	4.5
© 2023 Quest Analytics II C												

Dental Subspeciality - Rural

April 21, 2023

Access Analysis
Dental Subspeciality- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Dental Subspecialty

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Dental Subsp	1 in 45 miles	0		162	100.0	0	0.0	25.1	25.3	
Bleckley, GA	30	Dental Subsp	1 in 45 miles	0		30	100.0	0	0.0	26.9	27.4	
Chattahoochee, GA	33	Dental Subsp	1 in 45 miles	0		33	100.0	0	0.0	22.8	22.8	
Crawford, GA	54	Dental Subsp	1 in 45 miles	0		54	100.0	0	0.0	19.6	19.6	
Crisp, GA	84	Dental Subsp	1 in 45 miles	0		82	97.6	2	2.4	43.4	43.5	
Dodge, GA	60	Dental Subsp	1 in 45 miles	0		60	100.0	0	0.0	33.9	35.5	
Dooly, GA	73	Dental Subsp	1 in 45 miles	0		73	100.0	0	0.0	35.0	35.0	
Harris, GA	103	Dental Subsp	1 in 45 miles	0		103	100.0	0	0.0	14.3	14.5	
Heard, GA	33	Dental Subsp	1 in 45 miles	0		33	100.0	0	0.0	19.3	19.4	
Johnson, GA	35	Dental Subsp	1 in 45 miles	0		35	100.0	0	0.0	20.7	20.7	
Jones, GA	188	Dental Subsp	1 in 45 miles	0		188	100.0	0	0.0	14.3	17.4	
Lamar, GA	112	Dental Subsp	1 in 45 miles	0		112	100.0	0	0.0	14.8	14.8	
Laurens, GA	209	Dental Subsp	1 in 45 miles	2	104.5	209	100.0	0	0.0	5.5	5.5	
Macon, GA	43	Dental Subsp	1 in 45 miles	0		43	100.0	0	0.0	35.6	35.6	
Marion, GA	19	Dental Subsp	1 in 45 miles	0		19	100.0	0	0.0	34.9	35.1	
Meriwether, GA	80	Dental Subsp	1 in 45 miles	0		80	100.0	0	0.0	20.7	20.9	
Monroe, GA	104	Dental Subsp	1 in 45 miles	3	34.7	104	100.0	0	0.0	4.6	5.4	
Peach, GA	142	Dental Subsp	1 in 45 miles	0		142	100.0	0	0.0	10.1	10.1	
Pike, GA	75	Dental Subsp	1 in 45 miles	0		75	100.0	0	0.0	24.2	24.2	
Pulaski, GA	47	Dental Subsp	1 in 45 miles	0		47	100.0	0	0.0	29.5	31.7	
Talbot, GA	9	Dental Subsp	1 in 45 miles	0		9	100.0	0	0.0	25.7	25.7	
Taylor, GA	42	Dental Subsp	1 in 45 miles	0		42	100.0	0	0.0	30.2	30.2	
Telfair, GA	103	Dental Subsp	1 in 45 miles	0		103	100.0	0	0.0	33.9	34.9	
Treutlen, GA	22	Dental Subsp	1 in 45 miles	0		22	100.0	0	0.0	27.6	27.6	
Twiggs, GA	60	Dental Subsp	1 in 45 miles	0		60	100.0	0	0.0	12.0	12.9	
Upson, GA	130	Dental Subsp	1 in 45 miles	0		130	100.0	0	0.0	28.6	28.6	
Wheeler, GA	11	Dental Subsp	1 in 45 miles	0		11	100.0	0	0.0	32.2	32.6	
Wilcox, GA	24	Dental Subsp	1 in 45 miles	0		4	16.7	20	83.3	48.5	49.6	
Wilkinson, GA	59	Dental Subsp	1 in 45 miles	0		59	100.0	0	0.0	27.2	27.5	
Grand Totals	2,146	Dental Subs	1 in 45 miles	5	429.2	2,124	99.0	22	1.0	21.1	21.7	
			1									

Dialysis - Urban

April 21, 2023

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Dialysis

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA		Dialysis	1 in 30 miles	7	68.4		100.0		0	0.0	3.8	4.0
Houston, GA		Dialysis	1 in 30 miles	5	93.0	465	100.0		0	0.0	4.4	6.3
Muscogee, GA		Dialysis	1 in 30 miles	9	88.8		100.0		0	0.0	2.3	2.8
Troup, GA		Dialysis	1 in 30 miles	3	74.3	223	100.0		0	0.0	3.1	6.8
Grand Totals	1,966	Dialysis	1 in 30 miles	24	81.9	1,966	100.0		0	0.0	3.2	4.4

Dialysis- Rural

April 21, 2023

Access Analysis
Dialysis- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Dialysis

Members With and Without Access												
	Member	Р	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Dialysis	1 in 45 miles	2	81.0	162	100.0	0	0.0	3.8	4.4	
Bleckley, GA	30	Dialysis	1 in 45 miles	0		30	100.0	0	0.0	15.0	21.1	
Chattahoochee, GA	33	Dialysis	1 in 45 miles	0		33	100.0	0	0.0	16.5	20.1	
Crawford, GA	54	Dialysis	1 in 45 miles	0		54	100.0	0	0.0	15.4	19.7	
Crisp, GA	84	Dialysis	1 in 45 miles	1	84.0	84	100.0	0	0.0	2.7	28.4	
Dodge, GA		Dialysis	1 in 45 miles	1	60.0		100.0	0	0.0	7.2	25.1	
Dooly, GA	73	Dialysis	1 in 45 miles	0		73	100.0	0	0.0	9.2	26.0	
Harris, GA	103	Dialysis	1 in 45 miles	0		103	100.0	0	0.0	12.5	16.0	
Heard, GA	33	Dialysis	1 in 45 miles	0		33	100.0	0	0.0	18.0	19.0	
Johnson, GA	35	Dialysis	1 in 45 miles	0		35	100.0	0	0.0	20.3	20.7	
Jones, GA	188	Dialysis	1 in 45 miles	1	188.0	188	100.0	0	0.0	4.5	12.6	
Lamar, GA	112	Dialysis	1 in 45 miles	0		112	100.0	0	0.0	13.3	17.0	
Laurens, GA	209	Dialysis	1 in 45 miles	11	19.0	209	100.0	0	0.0	3.9	4.1	
Macon, GA	43	Dialysis	1 in 45 miles	0		43	100.0	0	0.0	21.7	22.8	
Marion, GA	19	Dialysis	1 in 45 miles	0		19	100.0	0	0.0	26.6	27.9	
Meriwether, GA	80	Dialysis	1 in 45 miles	1	80.0	80	100.0	0	0.0	10.3	17.2	
Monroe, GA	104	Dialysis	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.9	18.1	
Peach, GA	142	Dialysis	1 in 45 miles	1	142.0	142	100.0	0	0.0	4.4	12.4	
Pike, GA	75	Dialysis	1 in 45 miles	0			100.0	0	0.0	11.4	14.4	
Pulaski, GA	47	Dialysis	1 in 45 miles	1	47.0	47	100.0	0	0.0	3.3	21.0	
Talbot, GA	9	Dialysis	1 in 45 miles	0		9	100.0	0	0.0	17.8	21.5	
Taylor, GA	42	Dialysis	1 in 45 miles	0		42	100.0	0	0.0	21.9	27.1	
Telfair, GA	103	Dialysis	1 in 45 miles	0		103	100.0	0	0.0	23.6	33.2	
Treutlen, GA	22	Dialysis	1 in 45 miles	0		22	100.0	0	0.0	21.3	21.3	
Twiggs, GA	60	Dialysis	1 in 45 miles	0		60	100.0	0	0.0	8.7	8.8	
Upson, GA	130	Dialysis	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.5	20.7	
Wheeler, GA	11	Dialysis	1 in 45 miles	0		11	100.0	0	0.0	21.6	21.6	
Wilcox, GA	24	Dialysis	1 in 45 miles	0		24	100.0	0	0.0	19.7	27.0	
Wilkinson, GA	59	Dialysis	1 in 45 miles	0		59	100.0	0	0.0	17.8	18.4	
Grand Totals	2,146	Dialysis	1 in 45 miles	21	102.2	2,146	100.0	0	0.0	9.6	16.8	
	,					,						

DME -Urban

April 21, 2023

Access Analysis

DME- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
DME

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA		DME	1 in 30 miles	11	43.5		100.0		0	0.0	2.0	2.7
Houston, GA		DME	1 in 30 miles	7	66.4		100.0		0	0.0	2.5	4.9
Muscogee, GA		DME	1 in 30 miles	7	114.1		100.0		0	0.0	2.1	2.3
Troup, GA		DME	1 in 30 miles	4	55.8		100.0		0	0.0	3.6	3.8
Grand Totals	1,966	DME	1 in 30 miles	29	67.8	1,966	100.0		0	0.0	2.3	3.2
© 2023 Quest Analytics 11 C			ļ.		ıl				1			

DME -Rural

April 21, 2023

Access Analysis

DME- Rural

Member / Provider Groups

Rural Members

(CENTRAL_RURAL)

DME

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	DME	1 in 45 miles	1	162.0	162	100.0	0	0.0	2.1	8.0	
Bleckley, GA	30	DME	1 in 45 miles	0		30	100.0	0	0.0	21.2	26.0	
Chattahoochee, GA	33	DME	1 in 45 miles	0		33	100.0	0	0.0	19.1	19.1	
Crawford, GA	-	DME	1 in 45 miles	0		54	100.0	0	0.0	15.5	17.7	
Crisp, GA	84	DME	1 in 45 miles	18	4.7	84	100.0	0	0.0	2.1	2.2	
Dodge, GA		DME	1 in 45 miles	1	60.0		100.0	0	0.0	5.8	25.6	
Dooly, GA		DME	1 in 45 miles	0			100.0	0	0.0	8.1	8.8	
Harris, GA	103	DME	1 in 45 miles	0		103	100.0	0	0.0	16.3	16.9	
Heard, GA		DME	1 in 45 miles	0		33	100.0	0	0.0	16.8	17.0	
Johnson, GA	35	DME	1 in 45 miles	0		35	100.0	0	0.0	18.8	19.7	
Jones, GA	188	DME	1 in 45 miles	0		188	100.0	0	0.0	10.2	12.4	
Lamar, GA	112	DME	1 in 45 miles	0		112	100.0	0	0.0	11.7	13.1	
Laurens, GA	209	DME	1 in 45 miles	3	69.7	209	100.0	0	0.0	4.5	5.1	
Macon, GA	43	DME	1 in 45 miles	9	4.8	43	100.0	0	0.0	8.9	9.9	
Marion, GA		DME	1 in 45 miles	0		19	100.0	0	0.0	10.8	12.1	
Meriwether, GA	80	DME	1 in 45 miles	0		80	100.0	0	0.0	18.2	18.5	
Monroe, GA	-	DME	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.6	13.5	
Peach, GA	142	DME	1 in 45 miles	0		142	100.0	0	0.0	9.8	11.5	
Pike, GA	75	DME	1 in 45 miles	0			100.0	0	0.0	10.4	11.7	
Pulaski, GA	47	DME	1 in 45 miles	0		47	100.0	0	0.0	21.3	27.8	
Talbot, GA	9	DME	1 in 45 miles	0		9	100.0	0	0.0	19.3	20.8	
Taylor, GA	42	DME	1 in 45 miles	1	42.0	42	100.0	0	0.0	5.3	19.7	
Telfair, GA		DME	1 in 45 miles	0		103	100.0	0	0.0	21.7	24.0	
Treutlen, GA	22	DME	1 in 45 miles	0		22	100.0	0	0.0	15.6	19.8	
Twiggs, GA	60	DME	1 in 45 miles	0		60	100.0	0	0.0	8.4	10.0	
Upson, GA	130	DME	1 in 45 miles	8	16.3	130	100.0	0	0.0	2.6	3.3	
Wheeler, GA	11	DME	1 in 45 miles	0		11	100.0	0	0.0	16.7	18.2	
Wilcox, GA	24	DME	1 in 45 miles	0		24	100.0	0	0.0	16.4	17.7	
Wilkinson, GA	59	DME	1 in 45 miles	0		59	100.0	0	0.0	19.0	22.6	
Grand Totals	2,146	DME	1 in 45 miles	42	51.1	2,146	100.0	0	0.0	10.2	13.1	
	_,			-		_,						

FQHCs AND RHCs - Urban

April 21, 2023

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members
(CENTRAL_URBAN)

FQHCs and RHCs

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA		FQHCs and R		6	79.8		100.0	0	0.0	3.9	4.6	
Houston, GA		FQHCs and R…		5	93.0		100.0	0	0.0		6.5	
Muscogee, GA	799	FQHCs and R	1 in 30 miles	2	399.5		100.0	0	0.0		6.6	
Troup, GA	223	FQHCs and R	1 in 30 miles	0		223	100.0	0	0.0	19.0	27.6	
0 17.1	4.000	E0110 1	4: 00 "	40	454.0	4 000	400.0					
Grand Totals	1,966	FQHCs and	1 in 30 miles	13	151.2	1,966	100.0	0	0.0	7.0	8.4	

FQHCs AND RHCs - Rural

April 21, 2023

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
FQHCs and RHCs

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	FQHCs and R	1 in 45 miles	3	54.0	162	100.0	0	0.0	2.7	3.3	
Bleckley, GA	30	FQHCs and R	1 in 45 miles	3	10.0		100.0	0	0.0	4.8	4.9	
Chattahoochee, GA	33	FQHCs and R	1 in 45 miles	1	33.0	33	100.0	0	0.0	1.1	2.0	
Crawford, GA	54	FQHCs and R	1 in 45 miles	1	54.0	54	100.0	0	0.0	4.0	15.7	
Crisp, GA	84	FQHCs and R	1 in 45 miles	7	12.0	84	100.0	0	0.0	1.7	2.1	
Dodge, GA	60	FQHCs and R	1 in 45 miles	0		60	100.0	0	0.0	20.1	20.2	
Dooly, GA	73	FQHCs and R	1 in 45 miles	3	24.3	73	100.0	0	0.0	0.6	7.5	
Harris, GA	103	FQHCs and R	1 in 45 miles	0		103	100.0	0	0.0	20.7	24.5	
Heard, GA	33	FQHCs and R	1 in 45 miles	0		33	100.0	0	0.0	20.4	21.4	
Johnson, GA	35	FQHCs and R	1 in 45 miles	1	35.0	35	100.0	0	0.0	7.3	17.4	
Jones, GA	188	FQHCs and R	1 in 45 miles	0		188	100.0	0	0.0	12.1	12.9	
Lamar, GA	112	FQHCs and R	1 in 45 miles	3	37.3	112	100.0	0	0.0	3.2	3.2	
Laurens, GA	209	FQHCs and R	1 in 45 miles	4	52.3	209	100.0	0	0.0	5.4	5.5	
Macon, GA	43	FQHCs and R	1 in 45 miles	2	21.5	43	100.0	0	0.0	3.5	6.2	
Marion, GA	19	FQHCs and R	1 in 45 miles	1	19.0	19	100.0	0	0.0	14.8	15.8	
Meriwether, GA	80	FQHCs and R	1 in 45 miles	2	40.0	80	100.0	0	0.0	2.2	12.5	
Monroe, GA	104	FQHCs and R	1 in 45 miles	1	104.0	104	100.0	0	0.0	5.2	13.7	
Peach, GA	142	FQHCs and R	1 in 45 miles	2	71.0	142	100.0	0	0.0	3.3	5.6	
Pike, GA	75	FQHCs and R	1 in 45 miles	1	75.0	75	100.0	0	0.0	5.6	11.6	
Pulaski, GA	47	FQHCs and R	1 in 45 miles	3	15.7	47	100.0	0	0.0	2.8	2.8	
Talbot, GA	9	FQHCs and R	1 in 45 miles	0		9	100.0	0	0.0	17.6	20.8	
Taylor, GA	42	FQHCs and R	1 in 45 miles	1	42.0	42	100.0	0	0.0	5.4	20.0	
Telfair, GA	103	FQHCs and R	1 in 45 miles	2	51.5	103	100.0	0	0.0	2.9	2.9	
Treutlen, GA	22	FQHCs and R	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.3	14.4	
Twiggs, GA	60	FQHCs and R	1 in 45 miles	5	12.0	60	100.0	0	0.0	6.0	6.4	
Upson, GA			1 in 45 miles	2	65.0	130	100.0	0	0.0	3.0	4.0	
Wheeler, GA	11	FQHCs and R	1 in 45 miles	1	11.0		100.0	0	0.0	8.6	11.7	
Wilcox, GA	24	FQHCs and R	1 in 45 miles	2		24	100.0	0	0.0	7.0	7.9	
Wilkinson, GA	59	FQHCs and R	1 in 45 miles	1	59.0	59	100.0	0	0.0	9.5		
Grand Totals	2,146	FQHCs and	1 in 45 miles	53	40.5	2,146	100.0	0	0.0	6.3	9.3	

Home Health Infusion Services -Urban

April 21, 2023

Access Analysis

Home Health and Infusion Services- Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Home Health and Infusion Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Home Health	1 in 30 miles	9	53.2	479	100.0	(0.0	2.3	3.4	
Houston, GA	465	Home Health	1 in 30 miles	2		465	100.0	C			8.6	
Muscogee, GA			1 in 30 miles	12			100.0				1.5	
Troup, GA	223	Home Health	1 in 30 miles	2	111.5	223	100.0	(0.0	6.5	7.0	
Grand Totals	1,966	Home Health	1 in 30 miles	25	78.6	1,966	100.0	C	0.0	3.0	4.3	

Home Health Infusion Services- Rural

April 21, 2023

Access Analysis

Home Health and Infusion Services- Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Home Health and Infusion Services

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	162	Home Health	1 in 45 miles	4	40.5	162	100.0	0	0.0	2.0	3.6
Bleckley, GA	30	Home Health	1 in 45 miles	0		30	100.0	0	0.0	16.2	27.5
Chattahoochee, GA	33	Home Health	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.8
Crawford, GA	54	Home Health	1 in 45 miles	0		54	100.0	0	0.0	14.8	18.8
Crisp, GA	84	Home Health	1 in 45 miles	4	21.0	84	100.0	0	0.0	2.5	2.8
Dodge, GA	60	Home Health	1 in 45 miles	0		60	100.0	0	0.0	20.5	29.3
Dooly, GA	73	Home Health	1 in 45 miles	0		73	100.0	0	0.0	7.9	8.1
Harris, GA	103	Home Health	1 in 45 miles	1	103.0	103	100.0	0	0.0	9.4	12.7
Heard, GA	33	Home Health	1 in 45 miles	0		33	100.0	0	0.0	17.9	18.6
Johnson, GA	35	Home Health	1 in 45 miles	0		35	100.0	0	0.0	17.3	19.5
Jones, GA	188	Home Health	1 in 45 miles	1	188.0	188	100.0	0	0.0	3.8	8.3
Lamar, GA	112	Home Health	1 in 45 miles	1	112.0	112	100.0	0	0.0	3.1	15.6
Laurens, GA	209	Home Health	1 in 45 miles	2	104.5	209	100.0	0	0.0	4.4	4.4
Macon, GA	43	Home Health	1 in 45 miles	6	7.2	43	100.0	0	0.0	6.4	10.5
Marion, GA	19	Home Health	1 in 45 miles	0		19	100.0	0	0.0	11.2	12.4
Meriwether, GA	80	Home Health	1 in 45 miles	1	80.0		100.0	0	0.0	3.3	15.7
Monroe, GA	104	Home Health	1 in 45 miles	1	104.0	104	100.0	0	0.0	10.5	12.6
Peach, GA	142	Home Health	1 in 45 miles	1	142.0	142	100.0	0	0.0	4.7	13.5
Pike, GA	75	Home Health	1 in 45 miles	0		75	100.0	0	0.0	11.0	13.5
Pulaski, GA	47	Home Health	1 in 45 miles	1	47.0	47	100.0	0	0.0	1.8	29.4
Talbot, GA	9	Home Health	1 in 45 miles	2	4.5	9	100.0	0	0.0	10.2	14.5
Taylor, GA	42	Home Health	1 in 45 miles	1	42.0	42	100.0	0	0.0	5.7	18.3
Telfair, GA	103	Home Health	1 in 45 miles	0		103	100.0	0	0.0	24.4	25.2
Treutlen, GA	22	Home Health	1 in 45 miles	0		22	100.0	0	0.0	15.6	16.8
Twiggs, GA	60	Home Health	1 in 45 miles	0		60	100.0	0	0.0	7.8	8.9
Upson, GA	130	Home Health	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.5	18.3
Wheeler, GA	11	Home Health	1 in 45 miles	0		11	100.0	0	0.0	17.0	17.4
Wilcox, GA	24	Home Health	1 in 45 miles	0		24	100.0	0	0.0	16.6	17.8
Wilkinson, GA	59	Home Health	1 in 45 miles	0		59	100.0	0	0.0	16.0	17.7
Grand Totals	2 1 1 6	Home Health	1 in 45 miles	27	70.5	2,146	100.0	0	0.0	8.1	13.3
Grand Totals	2,146	Home Health	1 in 45 miles	21	79.5	2,146	100.0	U	0.0	8.1	13.3
© 2023 Quest Analytics, LLC.											

Hospitals - Urban

April 21, 2023

Access Analysis Hospitals- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Hospitals

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA		Hospitals	1 in 30 miles	6	79.8		100.0		0	0.0	2.8	4.3
Houston, GA		Hospitals	1 in 30 miles	4	116.3	465	100.0		0	0.0	4.3	6.7
Muscogee, GA		Hospitals	1 in 30 miles	3		799	100.0		0	0.0	2.1	4.0
Troup, GA	223	Hospitals	1 in 30 miles	1	223.0	223	100.0		0	0.0	5.4	27.1
Grand Totals	1,966	Hospitals	1 in 30 miles	14	140.4	1,966	100.0		0	0.0	3.2	7.3
© 2023 Quest Analytics 11 C												

Hospitals - Rural

April 21, 2023

Access Analysis Hospitals- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Hospitals

Members With and Without Access												
	Member	F	Provider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Hospitals	1 in 45 miles	0		162	100.0	0	0.0	21.0	26.6	
Bleckley, GA	30	Hospitals	1 in 45 miles	1	30.0	30	100.0	0	0.0	4.8	15.0	
Chattahoochee, GA	33	Hospitals	1 in 45 miles	0		33	100.0	0	0.0	22.8	23.0	
Crawford, GA	54	Hospitals	1 in 45 miles	0		54	100.0	0	0.0	18.5	20.4	
Crisp, GA	84	Hospitals	1 in 45 miles	1	84.0	84	100.0	0	0.0	2.8	30.2	
Dodge, GA	60	Hospitals	1 in 45 miles	1	60.0	60	100.0	0	0.0	6.7	21.1	
Dooly, GA	73	Hospitals	1 in 45 miles	0		73	100.0	0	0.0	8.1	27.0	
Harris, GA	103	Hospitals	1 in 45 miles	0		103	100.0	0	0.0	14.2	18.9	
Heard, GA	33	Hospitals	1 in 45 miles	0		33	100.0	0	0.0	17.1	22.5	
Johnson, GA	35	Hospitals	1 in 45 miles	0		35	100.0	0	0.0	19.0	23.5	
Jones, GA	188	Hospitals	1 in 45 miles	0		188	100.0	0	0.0	12.3	13.0	
Lamar, GA	112	Hospitals	1 in 45 miles	1	112.0	112	100.0	0	0.0	3.2	13.0	
Laurens, GA	209	Hospitals	1 in 45 miles	1	209.0	209	100.0	0	0.0	5.4	30.0	
Macon, GA	43	Hospitals	1 in 45 miles	1	43.0	43	100.0	0	0.0	4.6	24.4	
Marion, GA	19	Hospitals	1 in 45 miles	0		19	100.0	0	0.0	27.5	30.1	
Meriwether, GA	80	Hospitals	1 in 45 miles	2	40.0	80	100.0	0	0.0	10.9	11.5	
Monroe, GA	104	Hospitals	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.6	14.3	
Peach, GA	142	Hospitals	1 in 45 miles	1	142.0	142	100.0	0	0.0	8.5	13.3	
Pike, GA	75	Hospitals	1 in 45 miles	0		75	100.0	0	0.0	11.8	15.4	
Pulaski, GA	47	Hospitals	1 in 45 miles	1	47.0	47	100.0	0	0.0	2.6	13.9	
Talbot, GA	9	Hospitals	1 in 45 miles	0		9	100.0	0	0.0	18.6	19.7	
Taylor, GA	42	Hospitals	1 in 45 miles	0		42	100.0	0	0.0	24.6	27.9	
Telfair, GA	103	Hospitals	1 in 45 miles	0		103	100.0	0	0.0	22.2	26.8	
Treutlen, GA	22	Hospitals	1 in 45 miles	0		22	100.0	0	0.0	22.7	27.4	
Twiggs, GA	60	Hospitals	1 in 45 miles	0		60	100.0	0	0.0	8.6	9.5	
Upson, GA	130	Hospitals	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.8	17.3	
Wheeler, GA	11	Hospitals	1 in 45 miles	0		11	100.0	0	0.0	20.8	25.8	
Wilcox, GA	24	Hospitals	1 in 45 miles	0		24	100.0	0	0.0	19.1	22.4	
Wilkinson, GA	59	Hospitals	1 in 45 miles	0		59	100.0	0	0.0	24.0	24.6	
Grand Totals	2,146	Hospitals	1 in 45 miles	12	178.8	2,146	100.0	0	0.0	11.4	20.3	

Outpatient Laboratory Services - Urban

April 21, 2023

Access Analysis

Outpatient Laboratory Services-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Outpatient Laboratory Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA			1 in 30 miles	10	47.9	479	100.0	0	0.0	4.2	4.3	
Houston, GA		Outpatient La	1 in 30 miles	20	23.3		100.0	0	0.0	5.7	5.7	
Muscogee, GA			1 in 30 miles	21	38.0		100.0		0.0		2.1	
Troup, GA	223	Outpatient La…	1 in 30 miles	16	13.9	223	100.0	0	0.0	3.8	5.2	
Grand Totals	1 966	Outpatient L	1 in 30 miles	67	29.3	1 966	100.0	0	0.0	3.6	3.8	
Grand Totals	1,300	Outpatient L	i iii 30 iiiiles	01	29.5	1,500	100.0	· ·	0.0	3.0	3.0	
© 2023 Quest Analytics, LLC.		!										

Outpatient Laboratory Services - Rural

April 21, 2023

Access Analysis

Outpatient Laboratory Services-Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Outpatient Laboratory Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Outpatient La	1 in 45 miles	8	20.3	162	100.0	0	0.0	2.9	3.1	
Bleckley, GA	30	Outpatient La	1 in 45 miles	0		30	100.0	0	0.0	20.9	20.9	
Chattahoochee, GA	33	Outpatient La	1 in 45 miles	0		33	100.0	0	0.0	21.2	22.5	
Crawford, GA	54	Outpatient La	1 in 45 miles	0		54	100.0	0	0.0	21.9	22.3	
Crisp, GA	84	Outpatient La	1 in 45 miles	0		84	100.0	0	0.0	20.0	25.2	
Dodge, GA	60	Outpatient La	1 in 45 miles	3	20.0	60	100.0	0	0.0	6.4	7.1	
Dooly, GA	73	Outpatient La	1 in 45 miles	1	73.0	73	100.0	0	0.0	11.8	22.9	
Harris, GA	103	Outpatient La	1 in 45 miles	0		103	100.0	0	0.0	15.4	15.5	
Heard, GA	33	Outpatient La	1 in 45 miles	0		33	100.0	0	0.0	16.6	16.8	
Johnson, GA	35	Outpatient La	1 in 45 miles	0		35	100.0	0	0.0	14.5	19.8	
Jones, GA	188	Outpatient La	1 in 45 miles	0		188	100.0	0	0.0	12.2	13.6	
Lamar, GA	112	Outpatient La	1 in 45 miles	0		112	100.0	0	0.0	14.7	14.8	
Laurens, GA	209	Outpatient La	1 in 45 miles	6	34.8	209	100.0	0	0.0	4.1	5.1	
Macon, GA	43	Outpatient La	1 in 45 miles	0		43	100.0	0	0.0	14.1	18.1	
Marion, GA	19	Outpatient La	1 in 45 miles	0		19	100.0	0	0.0	13.9	21.2	
Meriwether, GA	80	Outpatient La	1 in 45 miles	0		80	100.0	0	0.0	18.7	19.7	
Monroe, GA	104	Outpatient La	1 in 45 miles	0		104	100.0	0	0.0	14.3	18.4	
Peach, GA	142	Outpatient La	1 in 45 miles	0		142	100.0	0	0.0	13.1	13.3	
Pike, GA	75	Outpatient La	1 in 45 miles	0		75	100.0	0	0.0	12.5	12.5	
Pulaski, GA	47	Outpatient La	1 in 45 miles	0		47	100.0	0	0.0	17.1	20.8	
Talbot, GA	9	Outpatient La	1 in 45 miles	0		9	100.0	0	0.0	20.0	20.0	
Taylor, GA	42	Outpatient La	1 in 45 miles	0		42	100.0	0	0.0	24.1	25.9	
Telfair, GA	103	Outpatient La	1 in 45 miles	1	103.0	103	100.0	0	0.0	6.2	22.1	
Treutlen, GA	22	Outpatient La	1 in 45 miles	0		22	100.0	0	0.0	19.7	22.7	
Twiggs, GA	60	Outpatient La	1 in 45 miles	0		60	100.0	0	0.0	8.4	9.8	
Upson, GA	130	Outpatient La	1 in 45 miles	6	21.7	130	100.0	0	0.0	3.9	3.9	
Wheeler, GA	11	Outpatient La	1 in 45 miles	0		11	100.0	0	0.0	14.9	19.3	
Wilcox, GA	24	Outpatient La	1 in 45 miles	0		24	100.0	0	0.0	21.8	23.2	
Wilkinson, GA	59	Outpatient La	1 in 45 miles	0		59	100.0	0	0.0	18.0	18.8	
Grand Totals	2 146	Outpatient L	1 in 45 miles	25	85.8	2,146	100 0	0	0.0	12.0	14.4	
Grand Totals	2,146	Outpatient L	i iii 45 iiiiles	25	8.60	2,146	100.0	U	0.0	12.0	14.4	
© 2023 Quest Analytics, LLC.												

Obstetrics/Gynecology -Urban

April 21, 2023

Access Analysis
Obstetrics/Gynecology- Urban

Member / Provider Groups
Female Urban Members
(CENTRAL_URBAN)
Obstetrics/Gynecology

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acc	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA	102	Obstetrics/Gy	2 in 30 miles	112	0.9		100.0		0	0.0	1.8	2.1
Houston, GA			2 in 30 miles	54			100.0		0	0.0	1.8	2.0
Muscogee, GA		Obstetrics/Gy		97	1.2		100.0		0	0.0	1.8	1.9
Troup, GA	32	Obstetrics/Gy	2 in 30 miles	32	1.0	32	100.0		0	0.0	2.9	2.9
Grand Totals	358	Obstetrics/G	2 in 30 miles	295	1.2	358	100.0		0	0.0	1.9	2.1
© 2023 Quest Analytics 11 C		L	L	L								

Obstetrics/Gynecology - Rural

April 21, 2023

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups

Female Rural Members (CENTRAL_RURAL) Obstetrics/Gynecology

Baldwin, GA 29 Obstetrics/Gy 2 in 45 miles 1 5.0 5 100.0 0 0.0 2.8 2.9 2.0	Members With and Without Access												
Baldwin, GA		Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
Bleckley, GA	County	#	Group	Standard	#		#	%	#	%	1	2	
Chattahoochee, GA	Baldwin, GA	29	Obstetrics/Gy	2 in 45 miles	6	4.8	29	100.0	0	0.0	2.8	2.9	
Crawford, GA 8 Obstetrics/Gy 2 in 45 miles 1 8.0 8 100.0 0 0.0 4.8 15.0 Crisp, GA 12 Obstetrics/Gy 2 in 45 miles 15 0.8 12 100.0 0 0.0 3.6 4.0 Dooly, GA 6 Obstetrics/Gy 2 in 45 miles 5 0.8 4 100.0 0 0.0 5.1 5.2 Dooly, GA 6 Obstetrics/Gy 2 in 45 miles 0 6 100.0 0 0.0 8.6 8.6 8.6 Heard, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 6.1 6.2 Heard, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 16.5 16.5 Johnson, GA 4 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 17.0 17.0 17.0 17.0 17.0 <td>Bleckley, GA</td> <td>5</td> <td>Obstetrics/Gy</td> <td>2 in 45 miles</td> <td>1</td> <td>5.0</td> <td></td> <td></td> <td>0</td> <td>0.0</td> <td>5.0</td> <td>13.2</td>	Bleckley, GA	5	Obstetrics/Gy	2 in 45 miles	1	5.0			0	0.0	5.0	13.2	
Crisp, GA 12 Obstetrics/Gy 2 in 45 miles 15 0.8 12 100.0 0 0.0 3.6 4.0 Dodge, GA 4 Obstetrics/Gy 2 in 45 miles 5 0.8 4 100.0 0 0.0 5.1 5.2 Dooly, GA 6 Obstetrics/Gy 2 in 45 miles 0 6 100.0 0 0.0 8.6 8.6 Harris, GA 18 Obstetrics/Gy 2 in 45 miles 1 18.0 18 100.0 0 0.0 6.1 6.2 Heard, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 16.5 16.5 Johnson, GA 4 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 17.0 17.0 Johnson, GA 31 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 17.0 17.0 Johnson, GA 17 Obstetrics/Gy 2 in 45 miles 1 31.0 31 100.0	Chattahoochee, GA	5	Obstetrics/Gy	2 in 45 miles	1	5.0	5	100.0	0	0.0	13.2	16.5	
Dodge, GA 4 Obstetrics/Gy 2 in 45 miles 5 0.8 4 100.0 0 0.0 5.1 5.2 Dooly, GA 6 Obstetrics/Gy 2 in 45 miles 0 6 100.0 0 0.0 8.6 9.6 9.0 9.0 9.0 9.0 9.1 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0 17.0	Crawford, GA	8	Obstetrics/Gy	2 in 45 miles	1	8.0	8	100.0	0	0.0	4.8	15.0	
Dooly, GA	Crisp, GA	12	Obstetrics/Gy	2 in 45 miles	15	0.8	12	100.0	0	0.0	3.6	4.0	
Harris, GA	Dodge, GA	4	Obstetrics/Gy	2 in 45 miles	5	0.8	4	100.0	0	0.0	5.1	5.2	
Heard, GA	Dooly, GA	6	Obstetrics/Gy	2 in 45 miles	0		6	100.0	0	0.0	8.6	8.6	
Johnson, GA	Harris, GA	18	Obstetrics/Gy	2 in 45 miles	1	18.0	18	100.0	0	0.0	6.1	6.2	
Jones, GA	Heard, GA	8	Obstetrics/Gy	2 in 45 miles	0		8	100.0	0	0.0	16.5	16.5	
Lamer, GA 17 Obstetrics/Gy 2 in 45 miles 8 2.1 17 100.0 0 0.0 5.0 5.2 Laurens, GA 52 Obstetrics/Gy 2 in 45 miles 18 2.9 52 100.0 0 0.0 4.2 5.2 Macon, GA 7 Obstetrics/Gy 2 in 45 miles 2 3.5 7 100.0 0 0.0 4.3 5.2 Marion, GA 3 Obstetrics/Gy 2 in 45 miles 1 3.0 3 100.0 0 0.0 9.8 19.9 Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 100.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.5 3.5 Peach, GA 39 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 0.0 <td>Johnson, GA</td> <td>4</td> <td>Obstetrics/Gy</td> <td>2 in 45 miles</td> <td>0</td> <td></td> <td>4</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>17.0</td> <td>17.0</td>	Johnson, GA	4	Obstetrics/Gy	2 in 45 miles	0		4	100.0	0	0.0	17.0	17.0	
Laurens, GA 52 Obstetrics/Gy 2 in 45 miles 18 2.9 52 100.0 0 0.0 4.2 5.2 Macon, GA 7 Obstetrics/Gy 2 in 45 miles 2 3.5 7 100.0 0 0.0 4.3 5.2 Marion, GA 3 Obstetrics/Gy 2 in 45 miles 1 3.0 3 100.0 0 0.0 9.8 19.9 Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 100.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.5 3.5 Peach, GA 15 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 11.6 12.1 Pulaski, GA 7 Obstetrics/Gy 2 in 45 miles	Jones, GA	31	Obstetrics/Gy	2 in 45 miles	1	31.0	31	100.0	0	0.0	4.3	9.5	
Macon, GA 7 Obstetrics/Gy 2 in 45 miles 2 3.5 7 loo.0 0 0.0 4.3 5.2 Marion, GA 3 Obstetrics/Gy 2 in 45 miles 1 3.0 3 loo.0 0 0.0 9.8 19.9 Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 loo.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 1 1.6 16 loo.0 0 0.0 8.9 12.2 Meach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 loo.0 0 0.0 3.5 3.5 Peach, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 loo.0 0 0.0 3.2 8.2 Pike, GA 3 Obstetrics/Gy 2 in 45 miles 0 15 loo.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 3 2.3 7 loo.0 0 <td>Lamar, GA</td> <td>17</td> <td>Obstetrics/Gy</td> <td>2 in 45 miles</td> <td>8</td> <td>2.1</td> <td>17</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>5.0</td> <td>5.2</td>	Lamar, GA	17	Obstetrics/Gy	2 in 45 miles	8	2.1	17	100.0	0	0.0	5.0	5.2	
Macon, GA 7 Obstetrics/Gy 2 in 45 miles 2 3.5 7 loo.0 0 0.0 4.3 5.2 Marion, GA 3 Obstetrics/Gy 2 in 45 miles 1 3.0 3 loo.0 0 0.0 9.8 19.9 Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 loo.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 2 7.0 14 loo.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 loo.0 0 0.0 3.5 3.5 Peach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 loo.0 0 0.0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 loo.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 loo	Laurens, GA	52	Obstetrics/Gy	2 in 45 miles	18	2.9	52	100.0	0	0.0	4.2	5.2	
Marion, GA 3 Obstetrics/Gy 2 in 45 miles 1 3.0 3 100.0 0 0.0 9.8 19.9 Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 100.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.5 3.5 Peach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 100.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles	Macon, GA			2 in 45 miles	2	3.5	7	100.0	0	0.0	4.3	5.2	
Meriwether, GA 14 Obstetrics/Gy 2 in 45 miles 2 7.0 14 100.0 0 0.0 8.9 12.2 Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.5 3.5 Peach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 100.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 0.9 2.0 Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 <td>Marion, GA</td> <td>3</td> <td>Obstetrics/Gy</td> <td>2 in 45 miles</td> <td>1</td> <td>3.0</td> <td>3</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>9.8</td> <td>19.9</td>	Marion, GA	3	Obstetrics/Gy	2 in 45 miles	1	3.0	3	100.0	0	0.0	9.8	19.9	
Monroe, GA 16 Obstetrics/Gy 2 in 45 miles 10 1.6 16 100.0 0 0.0 3.5 3.5 Peach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 100.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 0.0 0.9 2.0 Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetri	Meriwether, GA	14	Obstetrics/Gy	2 in 45 miles	2		14	100.0	0	0.0	8.9	12.2	
Peach, GA 39 Obstetrics/Gy 2 in 45 miles 3 13.0 39 100.0 0 0.0 3.2 8.2 Pike, GA 15 Obstetrics/Gy 2 in 45 miles 0 15 100.0 0 0.0 11.6 12.1 Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 0.9 2.0 Teglair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles	Monroe, GA	16	Obstetrics/Gy	2 in 45 miles		1.6	16	100.0	0	0.0	3.5		
Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 3.8 8.7 Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 <	Peach, GA	39	Obstetrics/Gy	2 in 45 miles	3	13.0			0	0.0	3.2		
Pulaski, GA 3 Obstetrics/Gy 2 in 45 miles 5 0.6 3 100.0 0 0.0 0.9 2.0 Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 3.8 8.7 Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles	Pike, GA	15	Obstetrics/Gy	2 in 45 miles	0		15	100.0	0	0.0	11.6	12.1	
Taylor, GA 7 Obstetrics/Gy 2 in 45 miles 3 2.3 7 100.0 0 0.0 3.8 8.7 Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles	Pulaski, GA	3	Obstetrics/Gy	2 in 45 miles	5	0.6	3	100.0	0	0.0			
Telfair, GA 8 Obstetrics/Gy 2 in 45 miles 0 8 100.0 0 0.0 22.7 22.7 Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4	Taylor, GA	7		2 in 45 miles			7	100.0	0	0.0	3.8		
Treutlen, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 22.2 22.2 Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4		8		2 in 45 miles			8		0	0.0			
Twiggs, GA 25 Obstetrics/Gy 2 in 45 miles 4 6.3 25 100.0 0 0.0 3.2 5.2 Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4		3		2 in 45 miles	0		3		0	0.0	22.2		
Upson, GA 18 Obstetrics/Gy 2 in 45 miles 15 1.2 18 100.0 0 0.0 2.5 2.6 Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilkinson, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4		25				6.3							
Wheeler, GA 3 Obstetrics/Gy 2 in 45 miles 0 3 100.0 0 0.0 19.3 19.3 Wilcox, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4										0.0			
Wilcox, GA 4 Obstetrics/Gy 2 in 45 miles 3 1.3 4 100.0 0 0.0 6.1 6.3 Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4	Wheeler, GA	3	Obstetrics/Gy	2 in 45 miles						0.0			
Wilkinson, GA 11 Obstetrics/Gy 2 in 45 miles 0 11 100.0 0 0.0 14.8 15.4	Wilcox, GA			2 in 45 miles		1.3							
							11						
Grand Totals 375 Obstetrics/G 2 in 45 miles 105 3.6 375 100.0 0 0.0 6.0 8.0	, -		,										
	Grand Totals	375	Obstetrics/G	2 in 45 miles	105	3.6	375	100.0	0	0.0	6.0	8.0	

Pediatric Allergy/Immunology -Urban

April 21, 2023

Access Analysis

Pediatric Allergy/Immunology-Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Allergy/Immunology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA			1 in 30 miles	23	17.7		100.0	0		2.4	2.7	
Houston, GA			1 in 30 miles	8	53.8		100.0	0	0.0	5.2		
Muscogee, GA			1 in 30 miles	3			100.0		0.0	4.8		
Troup, GA	206	Pediatric_Alle	1 in 30 miles	3	68.7	206	100.0	0	0.0	4.1	5.7	
Grand Totals	1,767	Pediatric_All	1 in 30 miles	37	47.8	1,767	100.0	0	0.0	4.3	4.6	
© 2023 Quest Analytics, LLC.		-	-									

Pediatric Allergy/Immunology - Rural

April 21, 2023

Access Analysis

Pediatric Allergy/Immunology-Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Allergy/Immunology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_Alle	1 in 45 miles	4	37.3	149	100.0	0	0.0	3.1	3.2		
Bleckley, GA	27	Pediatric_Alle	1 in 45 miles	0		27	100.0	0	0.0	26.2	26.8		
Chattahoochee, GA	32	Pediatric_Alle	1 in 45 miles	0		32	100.0	0	0.0	25.5	25.5		
Crawford, GA	51	Pediatric_Alle	1 in 45 miles	0		51	100.0	0	0.0	20.1	20.2		
Crisp, GA	80	Pediatric_Alle	1 in 45 miles	2	40.0	80	100.0	0	0.0	2.8	2.9		
Dodge, GA	59	Pediatric_Alle	1 in 45 miles	0		59	100.0	0	0.0	31.1	31.3		
Dooly, GA	72	Pediatric_Alle	1 in 45 miles	0		72	100.0	0	0.0	7.9	8.0		
Harris, GA	96	Pediatric_Alle	1 in 45 miles	0		96	100.0	0	0.0	16.2	16.7		
Heard, GA	30	Pediatric_Alle	1 in 45 miles	0		30	100.0	0	0.0	16.8	17.3		
Johnson, GA	34	Pediatric_Alle	1 in 45 miles	0		34	100.0	0	0.0	19.2	19.6		
Jones, GA	181	Pediatric_Alle	1 in 45 miles	1	181.0	181	100.0	0	0.0	4.3	12.6		
Lamar, GA		Pediatric_Alle	1 in 45 miles	0		106	100.0	0	0.0	13.2	17.0		
Laurens, GA	190	Pediatric_Alle	1 in 45 miles	3	63.3	190	100.0	0	0.0	5.3	5.3		
Macon, GA	40	Pediatric_Alle	1 in 45 miles	0		40	100.0	0	0.0	33.5	33.6		
Marion, GA		Pediatric_Alle	1 in 45 miles	0		18	100.0	0	0.0	37.2	37.2		
Meriwether, GA	77	Pediatric_Alle	1 in 45 miles	0		77	100.0	0	0.0	20.7	21.9		
Monroe, GA	97	Pediatric_Alle	1 in 45 miles	1	97.0	97	100.0	0	0.0	4.8	20.9		
Peach, GA	126	Pediatric_Alle	1 in 45 miles	0		126	100.0	0	0.0	11.2	11.2		
Pike, GA	70	Pediatric_Alle	1 in 45 miles	0		70	100.0	0	0.0	15.3	15.3		
Pulaski, GA	44	Pediatric_Alle	1 in 45 miles	0		44	100.0	0	0.0	28.8	30.1		
Talbot, GA	7	Pediatric_Alle	1 in 45 miles	0		7	100.0	0	0.0	29.1	29.1		
Taylor, GA	40	Pediatric_Alle	1 in 45 miles	0		40	100.0	0	0.0	32.0	32.0		
Telfair, GA	100	Pediatric_Alle	1 in 45 miles	0		100	100.0	0	0.0	33.3	33.4		
Treutlen, GA	19	Pediatric_Alle	1 in 45 miles	0		19	100.0	0	0.0	28.5	28.5		
Twiggs, GA	52	Pediatric_Alle	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.7	10.6		
Upson, GA	121	Pediatric_Alle	1 in 45 miles	0		121	100.0	0	0.0	25.1	25.4		
Wheeler, GA		Pediatric_Alle	1 in 45 miles	0		11	100.0	0	0.0	31.6	31.7		
Wilcox, GA	23	Pediatric_Alle	1 in 45 miles	0		23	100.0	0	0.0	23.2	23.6		
Wilkinson, GA	51	Pediatric_Alle	1 in 45 miles	0		51	100.0	0	0.0	18.2	18.6		
Grand Totals	2,003	Pediatric_All	1 in 45 miles	12	166.9	2,003	100.0	0	0.0	15.0	16.9		
	·	_				·							

Pediatric Cardiology- Urban

April 21, 2023

Access Analysis

Pediatric Cardiology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Cardiology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA	408	Pediatric_Car	1 in 30 miles	154	2.6		100.0		0	0.0	1.9	2.1	
Houston, GA			1 in 30 miles	53	8.1	430	100.0		0	0.0	4.5	4.6	
Muscogee, GA			1 in 30 miles	79	9.2		100.0		0	0.0	1.6	1.8	
Troup, GA			1 in 30 miles	41	5.0	206	100.0		0	0.0	3.8	3.8	
Grand Totals	1,767	Pediatric_Ca	1 in 30 miles	327	5.4	1,767	100.0		0	0.0	2.7	2.8	
© 2023 Quest Analytics 11 C				L			l		[

Pediatric Cardiology - Rural

April 21, 2023

Access Analysis
Pediatric Cardiology- Rural

Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Cardiology

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Car	1 in 45 miles	20	7.5	149	100.0	0	0.0	2.8	2.8	
Bleckley, GA	27	Pediatric_Car	1 in 45 miles	3	9.0	27	100.0	0	0.0	4.8	5.2	
Chattahoochee, GA		Pediatric_Car	1 in 45 miles	0		32	100.0	0	0.0	22.5	22.5	
Crawford, GA	51	Pediatric_Car	1 in 45 miles	0		51	100.0	0	0.0	15.2	15.3	
Crisp, GA	80	Pediatric_Car	1 in 45 miles	13	6.2	80	100.0	0	0.0	2.7	2.7	
Dodge, GA	59	Pediatric_Car	1 in 45 miles	7	8.4	59	100.0	0	0.0	6.3	6.6	
Dooly, GA	72	Pediatric_Car	1 in 45 miles	0		72	100.0	0	0.0	7.9	7.9	
Harris, GA	96	Pediatric_Car	1 in 45 miles	0		96	100.0	0	0.0		14.6	
Heard, GA	30	Pediatric_Car	1 in 45 miles	0		30		0	0.0	16.1	16.1	
Johnson, GA	34	Pediatric_Car	1 in 45 miles	0		34	100.0	0	0.0	17.1	17.1	
Jones, GA	181	Pediatric_Car	1 in 45 miles	0		181	100.0	0	0.0	12.0	12.1	
Lamar, GA	106	Pediatric_Car	1 in 45 miles	0		106	100.0	0	0.0	12.9	12.9	
Laurens, GA		Pediatric_Car	1 in 45 miles	26	7.3	190	100.0	0	0.0	3.9	4.0	
Macon, GA	40	Pediatric_Car	1 in 45 miles	4	10.0	40	100.0	0	0.0	3.5	3.5	
Marion, GA	18	Pediatric_Car	1 in 45 miles	0		18	100.0	0	0.0	22.6	25.1	
Meriwether, GA		Pediatric_Car	1 in 45 miles	2	38.5	77		0	0.0	4.2	13.0	
Monroe, GA	97	Pediatric_Car	1 in 45 miles	8	12.1	97	100.0	0	0.0	3.8	3.8	
Peach, GA	126	Pediatric_Car	1 in 45 miles	13	9.7	126	100.0	0	0.0	2.9	2.9	
Pike, GA	70	Pediatric_Car	1 in 45 miles	0			100.0	0	0.0	11.8	12.1	
Pulaski, GA	44	Pediatric_Car	1 in 45 miles	14	3.1	44	100.0	0	0.0	2.7	2.8	
Talbot, GA			1 in 45 miles	0		7	100.0	0	0.0	17.9	20.4	
Taylor, GA	40	Pediatric_Car	1 in 45 miles	1	40.0	40	100.0	0	0.0	5.7	21.5	
Telfair, GA		_	1 in 45 miles	2	50.0	100	100.0	0	0.0	2.3	6.7	
Treutlen, GA	19	Pediatric_Car	1 in 45 miles	0		19	100.0	0	0.0	19.5	19.5	
Twiggs, GA		Pediatric_Car	1 in 45 miles	1	52.0		100.0	0	0.0	8.9	9.4	
Upson, GA	121	Pediatric_Car	1 in 45 miles	28	4.3	121	100.0	0	0.0	3.1	3.5	
Wheeler, GA	11	Pediatric_Car	1 in 45 miles	0		11	100.0	0	0.0	14.7	16.3	
Wilcox, GA	23	Pediatric_Car	1 in 45 miles	0		23	100.0	0	0.0	18.9	18.9	
Wilkinson, GA	51	Pediatric_Car	1 in 45 miles	0		51	100.0	0	0.0	18.2	18.2	
Grand Totals	2,003	Pediatric_Ca	1 in 45 miles	142	14.1	2,003	100.0	0	0.0	7.8	8.9	
	,					,						
© 2023 Quest Analytics 11 C	•	•		•								

Pediatric Dermatology -Urban

April 21, 2023

Access Analysis

Pediatric Dermatology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Dermatology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	5	81.6		100.0		0.0	4.2	4.3		
Houston, GA	430	Pediatric_Der	1 in 30 miles	7	61.4	430	100.0	(7.1		
Muscogee, GA			1 in 30 miles	3	241.0		100.0				4.8		
Troup, GA	206	Pediatric_Der	1 in 30 miles	3	68.7	206	100.0	(0.0	5.3	5.3		
Grand Totals	1,767	Pediatric_De	1 in 30 miles	18	98.2	1,767	100.0	(0.0	4.2	5.3		

Pediatric Dermatology- Rural

April 21, 2023

Access Analysis
Pediatric Dermatology- Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Dermatology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Der	1 in 45 miles	4	37.3	149	100.0	0	0.0	4.0	4.0	
Bleckley, GA	27	Pediatric_Der	1 in 45 miles	0		27	100.0	0	0.0	26.3	26.3	
Chattahoochee, GA	32	Pediatric_Der	1 in 45 miles	0		32	100.0	0	0.0	22.6	25.5	
Crawford, GA	51	Pediatric_Der	1 in 45 miles	0		51	100.0	0	0.0		20.1	
Crisp, GA	80	Pediatric_Der	1 in 45 miles	4	20.0	80	100.0	0	0.0	2.9	2.9	
Dodge, GA	59	Pediatric_Der	1 in 45 miles	0			100.0	0	0.0	33.2	33.2	
Dooly, GA	72	Pediatric_Der	1 in 45 miles	0		72	100.0	0	0.0	8.0	8.0	
Harris, GA	96	Pediatric_Der	1 in 45 miles	0		96	100.0	0	0.0	14.7	16.2	
Heard, GA	30	Pediatric_Der	1 in 45 miles	0			100.0	0	0.0	18.7	18.7	
Johnson, GA	34	Pediatric_Der	1 in 45 miles	0		34	100.0	0	0.0	21.0		
Jones, GA	181	Pediatric_Der	1 in 45 miles	0		181	100.0	0	0.0	14.3	14.3	
Lamar, GA	106	Pediatric_Der	1 in 45 miles	0			100.0	0	0.0	12.9	12.9	
Laurens, GA	190	Pediatric_Der	1 in 45 miles	8	23.8	190	100.0	0	0.0	4.1	5.2	
Macon, GA	40	Pediatric_Der	1 in 45 miles	0		40	100.0	0	0.0	23.3		
Marion, GA		Pediatric_Der	1 in 45 miles	0		18	100.0	0	0.0	29.2	29.9	
Meriwether, GA	77	Pediatric_Der	1 in 45 miles	1	77.0	77	100.0	0	0.0			
Monroe, GA	97	Pediatric_Der	1 in 45 miles	5	19.4	97	100.0	0	0.0	5.0	5.0	
Peach, GA	126	Pediatric_Der	1 in 45 miles	0		126	100.0	0	0.0		14.8	
Pike, GA	70	Pediatric_Der	1 in 45 miles	0			100.0	0	0.0	12.4	12.5	
Pulaski, GA	44	Pediatric_Der	1 in 45 miles	0		44	100.0	0	0.0	28.8	28.8	
Talbot, GA	7	Pediatric_Der	1 in 45 miles	0		7	100.0	0	0.0	18.8	21.4	
Taylor, GA	40	Pediatric_Der	1 in 45 miles	0		40	100.0	0	0.0	25.8	26.2	
Telfair, GA	100	Pediatric_Der	1 in 45 miles	0		100	100.0	0	0.0	33.1	33.4	
Treutlen, GA	19	Pediatric_Der	1 in 45 miles	0		19	100.0	0	0.0	20.1	28.3	
Twiggs, GA	52	Pediatric_Der	1 in 45 miles	0		52	100.0	0	0.0	10.8	10.8	
Upson, GA	121	Pediatric_Der	1 in 45 miles	4	30.3	121	100.0	0	0.0	3.6	3.6	
Wheeler, GA	11	Pediatric_Der	1 in 45 miles	0		11	100.0	0	0.0	20.9	31.3	
Wilcox, GA	23	Pediatric_Der	1 in 45 miles	0		23	100.0	0	0.0	25.1	25.1	
Wilkinson, GA	51	Pediatric_Der	1 in 45 miles	0		51	100.0	0	0.0	18.2	18.3	
Grand Totals	2.003	Pediatric_De	1 in 45 miles	26	77.0	2,003	100.0	0	0.0	13.6	14.5	
Grand Totals	2,003	r ediatric_be	1 111 43 1111163	20	77.0	2,003	100.0		0.0	13.0	14.5	

Pediatric Endocrinology -Urban

April 21, 2023

Access Analysis

Pediatric Endocrinology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Endocrinology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA	408	Pediatric_End	1 in 30 miles	27	15.1	408	100.0		0	0.0	2.9	2.9	
Houston, GA			1 in 30 miles	5	86.0		100.0		0	0.0	5.6	6.8	
Muscogee, GA			1 in 30 miles	13	55.6		100.0		0	0.0	1.9	1.9	
Troup, GA			1 in 30 miles	2	103.0	206	100.0		0	0.0	4.4	4.4	
Grand Totals	1,767	Pediatric_En	1 in 30 miles	47	37.6	1,767	100.0		0	0.0	3.3	3.6	
© 2023 Quest Analytics 11 C				<u> </u>					[

Pediatric Endocrinology - Rural

April 21, 2023

Access Analysis

Pediatric Endocrinology- Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Endocrinology

	Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_End	1 in 45 miles	0		149	100.0	0	0.0	32.2	32.2		
Bleckley, GA	27	Pediatric_End	1 in 45 miles	0		27	100.0	0	0.0	23.0	26.9		
Chattahoochee, GA	32	Pediatric_End	1 in 45 miles	0		32	100.0	0	0.0	22.7	22.7		
Crawford, GA	51	Pediatric_End	1 in 45 miles	0		51	100.0	0	0.0	21.8	21.8		
Crisp, GA	80	Pediatric_End	1 in 45 miles	0		80	100.0	0	0.0	35.6	41.6		
Dodge, GA	59	Pediatric_End	1 in 45 miles	0		59	100.0	0	0.0	30.9	37.6		
Dooly, GA	72	Pediatric_End	1 in 45 miles	0		72	100.0	0	0.0	27.3	39.6		
Harris, GA	96	Pediatric_End	1 in 45 miles	0		96	100.0	0	0.0	15.8	15.8		
Heard, GA	30	Pediatric_End	1 in 45 miles	0		30	100.0	0	0.0	19.6	19.6		
Johnson, GA	34	Pediatric_End	1 in 45 miles	0		34	100.0	0	0.0	19.7	24.4		
Jones, GA	181	Pediatric_End	1 in 45 miles	0		181	100.0	0	0.0	12.8	13.0		
Lamar, GA	106	Pediatric_End	1 in 45 miles	0		106	100.0	0	0.0	30.3	30.3		
Laurens, GA	190	Pediatric_End	1 in 45 miles	1	190.0	190	100.0	0	0.0	5.5	30.3		
Macon, GA	40	Pediatric_End	1 in 45 miles	0		40	100.0	0	0.0	28.2	41.3		
Marion, GA	18	Pediatric_End	1 in 45 miles	0		18	100.0	0	0.0	34.3	34.3		
Meriwether, GA	77	Pediatric_End	1 in 45 miles	0		77	100.0	0	0.0	20.7	20.7		
Monroe, GA	97	Pediatric_End	1 in 45 miles	0		97	100.0	0	0.0	19.8	19.8		
Peach, GA	126	Pediatric_End	1 in 45 miles	0		126	100.0	0	0.0	12.8	14.2		
Pike, GA	70	Pediatric_End	1 in 45 miles	0		70	100.0	0	0.0	28.1	28.9		
Pulaski, GA	44	Pediatric_End	1 in 45 miles	0		44	100.0	0	0.0	24.7	28.9		
Talbot, GA	7	Pediatric_End	1 in 45 miles	0		7	100.0	0	0.0	27.6	27.6		
Taylor, GA	40	Pediatric_End	1 in 45 miles	0		40	100.0	0	0.0	32.5	34.6		
Telfair, GA	100	Pediatric_End	1 in 45 miles	0		100	100.0	0	0.0	33.6	37.6		
Treutlen, GA	19	Pediatric_End	1 in 45 miles	0		19	100.0	0	0.0	28.3	33.1		
Twiggs, GA	52	Pediatric_End	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.7	10.7		
Upson, GA	121	Pediatric_End	1 in 45 miles	0		121	100.0	0	0.0	36.4	36.5		
Wheeler, GA	11	Pediatric_End	1 in 45 miles	0		11	100.0	0	0.0	32.0	42.1		
Wilcox, GA	23	Pediatric_End	1 in 45 miles	0		23	100.0	0	0.0	28.9	29.7		
Wilkinson, GA	51	Pediatric_End	1 in 45 miles	0		51	100.0	0	0.0	24.3	24.5		
Grand Totals	2,003	Pediatric_En	1 in 45 miles	2	1,001.5	2,003	100.0	0	0.0	22.8	27.1		
				L									

Pediatric ENT - Urban

April 21, 2023

Access Analysis
Pediatric ENT- Urban

Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_ENT

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	408	Pediatric_ENT	1 in 30 miles	27	15.1	408	100.0	0	0.0	2.5	3.9	
Houston, GA		Pediatric_ENT	1 in 30 miles	10	43.0		100.0	0	0.0	4.0	4.4	
Muscogee, GA	723		1 in 30 miles	12			100.0		0.0		1.9	
Troup, GA	206	Pediatric_ENT	1 in 30 miles	5	41.2	206	100.0	0	0.0	3.1	3.7	
Grand Totals	1,767	Pediatric_ENT	1 in 30 miles	54	32.7	1,767	100.0	0	0.0	2.7	3.2	
© 2023 Quest Analytics, LLC.		ļ.			<u> </u>		l .					

Pediatric ENT - Rural

April 21, 2023

Access Analysis
Pediatric ENT- Rural

Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_ENT

	Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_ENT	1 in 45 miles	0		149	100.0	0	0.0	24.8	25.6		
Bleckley, GA	27	Pediatric_ENT	1 in 45 miles	0		27	100.0	0	0.0	26.2	26.3		
Chattahoochee, GA	32	Pediatric_ENT	1 in 45 miles	0		32	100.0	0	0.0	22.6	22.7		
Crawford, GA	51	Pediatric_ENT	1 in 45 miles	0		51	100.0	0	0.0	20.6	21.1		
Crisp, GA	80	Pediatric_ENT	1 in 45 miles	1	80.0	80	100.0	0	0.0	2.8	42.4		
Dodge, GA	59	Pediatric_ENT	1 in 45 miles	0		59	100.0	0	0.0	31.1	31.2		
Dooly, GA	72	Pediatric_ENT	1 in 45 miles	0		72	100.0	0	0.0	8.0	35.2		
Harris, GA	96	Pediatric_ENT	1 in 45 miles	0		96	100.0	0	0.0	15.1	16.0		
Heard, GA	30	Pediatric_ENT	1 in 45 miles	0		30	100.0	0	0.0	17.0	18.2		
Johnson, GA	34	Pediatric_ENT	1 in 45 miles	0		34	100.0	0	0.0	17.7	19.7		
Jones, GA	181	Pediatric_ENT	1 in 45 miles	0		181	100.0	0	0.0	13.0	13.3		
Lamar, GA	106	Pediatric_ENT	1 in 45 miles	6	17.7	106	100.0	0	0.0	3.0	3.0		
Laurens, GA	190	Pediatric_ENT	1 in 45 miles	4	47.5	190	100.0	0	0.0	5.4	5.5		
Macon, GA	40	Pediatric_ENT	1 in 45 miles	0		40	100.0	0	0.0	32.9	35.8		
Marion, GA	18	Pediatric_ENT	1 in 45 miles	0		18	100.0	0	0.0	34.2	34.3		
Meriwether, GA	77	Pediatric_ENT	1 in 45 miles	0		77	100.0	0	0.0	17.4	19.2		
Monroe, GA	97	Pediatric_ENT	1 in 45 miles	0		97	100.0	0	0.0	14.4	15.6		
Peach, GA	126	Pediatric_ENT	1 in 45 miles	0		126	100.0	0	0.0	9.9	10.4		
Pike, GA	70	Pediatric_ENT	1 in 45 miles	0		70	100.0	0	0.0	11.7	12.5		
Pulaski, GA	44	Pediatric_ENT	1 in 45 miles	0		44	100.0	0	0.0	28.9	28.9		
Talbot, GA	7	Pediatric_ENT	1 in 45 miles	0		7	100.0	0	0.0	20.6	27.4		
Taylor, GA	40	Pediatric_ENT	1 in 45 miles	0		40	100.0	0	0.0	25.5	30.5		
Telfair, GA	100	Pediatric_ENT	1 in 45 miles	0		100	100.0	0	0.0	33.3	33.4		
Treutlen, GA	19	Pediatric_ENT	1 in 45 miles	0		19	100.0	0	0.0	22.2	22.5		
Twiggs, GA	52	Pediatric_ENT	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.7	9.8		
Upson, GA	121	Pediatric_ENT	1 in 45 miles	1	121.0	121	100.0	0	0.0	3.7	18.1		
Wheeler, GA	11	Pediatric_ENT	1 in 45 miles	0		11	100.0	0	0.0	22.3	22.5		
Wilcox, GA	23	Pediatric_ENT	1 in 45 miles	0		23	100.0	0	0.0	23.3	29.2		
Wilkinson, GA	51	Pediatric_ENT	1 in 45 miles	0		51	100.0	0	0.0	24.2	24.3		
Grand Totals	2,003	Pediatric_ENT	1 in 45 miles	13	154.1	2,003	100.0	0	0.0	15.5	19.5		
	_,:30					_,,,,,		· ·					
© 2023 Quest Analytics, LLC.													

Pediatric Gastroenterology -Urban

April 21, 2023

Access Analysis

Pediatric Gastroenterology-Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Gastroenterology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	50	8.2		100.0		0.0	2.3	2.8		
Houston, GA	430	Pediatric_Gas	1 in 30 miles	8	53.8	430	100.0	(4.8		
Muscogee, GA		Pediatric_Gas	1 in 30 miles	16	45.2		100.0				1.9		
Troup, GA	206	Pediatric_Gas	1 in 30 miles	11	18.7	206	100.0	(0.0	3.8	5.2		
Grand Totals	1,767	Pediatric_Ga	1 in 30 miles	85	20.8	1,767	100.0	(0.0	2.8	3.2		

Pedaitric Gastroenterology - Rural

April 21, 2023

Access Analysis

Pediatric Gastroenterology-

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Gastroenterology

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric Gas	1 in 45 miles	3	49.7	149	100.0	0	0.0	2.4	2.8	
Bleckley, GA	27	Pediatric_Gas	1 in 45 miles	0		27	100.0	0	0.0	23.0	23.0	
Chattahoochee, GA	32	Pediatric_Gas	1 in 45 miles	0		32	100.0	0	0.0	20.9	22.5	
Crawford, GA		Pediatric Gas	1 in 45 miles	0		51	100.0	0	0.0	18.4	20.4	
Crisp, GA	80	Pediatric_Gas	1 in 45 miles	5	16.0	80	100.0	0	0.0	2.7	2.9	
Dodge, GA	59	Pediatric_Gas	1 in 45 miles	0		59	100.0	0	0.0	30.7	30.8	
Dooly, GA	72	Pediatric_Gas	1 in 45 miles	0		72	100.0	0	0.0	7.9	7.9	
Harris, GA	96	Pediatric_Gas	1 in 45 miles	0		96	100.0	0	0.0	14.1	15.3	
Heard, GA	30	Pediatric_Gas	1 in 45 miles	0		30	100.0	0	0.0	16.7	16.8	
Johnson, GA	34	Pediatric_Gas	1 in 45 miles	0		34	100.0	0	0.0	19.3	19.7	
Jones, GA	181	Pediatric_Gas	1 in 45 miles	0		181	100.0	0	0.0	12.3	12.5	
Lamar, GA	106	Pediatric_Gas	1 in 45 miles	0		106	100.0	0	0.0	16.5	16.5	
Laurens, GA	190	Pediatric_Gas	1 in 45 miles	18	10.6	190	100.0	0	0.0	5.4	5.4	
Macon, GA		Pediatric_Gas	1 in 45 miles	0		40	100.0	0	0.0	28.1	28.1	
Marion, GA	18	Pediatric_Gas	1 in 45 miles	0		18	100.0	0	0.0	32.8	34.2	
Meriwether, GA	77	Pediatric_Gas	1 in 45 miles	1	77.0	77	100.0	0	0.0	11.0	20.6	
Monroe, GA	97	Pediatric_Gas	1 in 45 miles	0		97	100.0	0	0.0	18.8	19.0	
Peach, GA	126	Pediatric_Gas	1 in 45 miles	1	126.0		100.0	0	0.0	8.3	11.1	
Pike, GA	70	Pediatric_Gas	1 in 45 miles	0		70	100.0	0	0.0	14.0	15.0	
Pulaski, GA	44	Pediatric_Gas	1 in 45 miles	0		44	100.0	0	0.0	24.7	24.7	
Talbot, GA	7	Pediatric_Gas	1 in 45 miles	0		7	100.0	0	0.0	19.5	27.8	
Taylor, GA			1 in 45 miles	0		40		0	0.0		31.5	
Telfair, GA	100	Pediatric_Gas	1 in 45 miles	0		100	100.0	0	0.0	33.4	33.5	
Treutlen, GA	19	Pediatric_Gas	1 in 45 miles	0		19	100.0	0	0.0	22.7	28.2	
Twiggs, GA	52	Pediatric_Gas	1 in 45 miles	1	52.0	52		0	0.0	9.7	10.2	
Upson, GA	121	Pediatric_Gas	1 in 45 miles	0		121	100.0	0	0.0		25.0	
Wheeler, GA		_	1 in 45 miles	0		11	100.0	0	0.0	23.1	32.0	
Wilcox, GA	23	Pediatric_Gas	1 in 45 miles	0		23	100.0	0	0.0	23.2	23.5	
Wilkinson, GA	51	Pediatric_Gas	1 in 45 miles	0		51	100.0	0	0.0	19.1	19.2	
0 17 (1	0.000	D 11 4 1 0	4 . 4		00.4	0.000	400.0			45.0	40.0	
Grand Totals	2,003	Pediatric_Ga	1 in 45 miles	29	69.1	2,003	100.0	0	0.0	15.0	16.3	

Pediatric General Surgery - Urban

April 21, 2023

Access Analysis

Pediatric General Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_General Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA	408	Pediatric_Ge	1 in 30 miles	150	2.7		100.0		0	0.0	1.4	1.6	
Houston, GA			1 in 30 miles	67	6.4	430	100.0		0	0.0	2.0	3.7	
Muscogee, GA			1 in 30 miles	61	11.9		100.0		0	0.0	1.7	1.8	
Troup, GA			1 in 30 miles	16	12.9	206	100.0		0	0.0	2.8	3.8	
Grand Totals	1,767	Pediatric_Ge	1 in 30 miles	294	6.0	1,767	100.0		0	0.0	1.8	2.5	
© 2023 Quest Analytics II C													

Pediatric General Surgery -Rural

April 21, 2023

Access Analysis

Pediatric General Surgery-

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_General Surgery

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_Ge	1 in 45 miles	18	8.3	149	100.0	0	0.0	2.5	2.7		
Bleckley, GA	27	Pediatric_Ge	1 in 45 miles	0		27	100.0	0	0.0	14.8	16.0		
Chattahoochee, GA	32	Pediatric_Ge	1 in 45 miles	0		32	100.0	0	0.0	16.2	22.3		
Crawford, GA	51	Pediatric_Ge	1 in 45 miles	0		51	100.0	0	0.0	17.2	17.2		
Crisp, GA	80	Pediatric_Ge	1 in 45 miles	7	11.4	80	100.0	0	0.0	1.7	2.7		
Dodge, GA	59	Pediatric_Ge	1 in 45 miles	2		59	100.0	0	0.0	6.6	6.6		
Dooly, GA	72	Pediatric_Ge	1 in 45 miles	0		72	100.0	0	0.0	8.0	8.0		
Harris, GA	96	Pediatric_Ge	1 in 45 miles	0		96	100.0	0	0.0	13.7	15.1		
Heard, GA	30	Pediatric_Ge	1 in 45 miles	0		30	100.0	0	0.0	16.7	16.8		
Johnson, GA	34	Pediatric_Ge	1 in 45 miles	0		34	100.0	0	0.0	17.2	18.6		
Jones, GA	181	Pediatric_Ge	1 in 45 miles	0		181	100.0	0	0.0	11.3	11.5		
Lamar, GA	106	Pediatric_Ge	1 in 45 miles	0		106	100.0	0	0.0	12.7	12.7		
Laurens, GA	190	Pediatric_Ge	1 in 45 miles	23	8.3	190	100.0	0	0.0	4.0	4.1		
Macon, GA	40	Pediatric_Ge	1 in 45 miles	4	10.0	40	100.0	0	0.0	3.6	3.6		
Marion, GA	18	Pediatric_Ge	1 in 45 miles	1	18.0	18	100.0	0	0.0	7.1	25.5		
Meriwether, GA		Pediatric_Ge	1 in 45 miles	1	77.0	77	100.0	0	0.0	10.7	17.4		
Monroe, GA	97	Pediatric_Ge	1 in 45 miles	3	32.3	97	100.0	0	0.0	3.8	4.0		
Peach, GA	126	Pediatric_Ge	1 in 45 miles	11	11.5	126	100.0	0	0.0	8.2	8.3		
Pike, GA	70	Pediatric_Ge	1 in 45 miles	0		70	100.0	0	0.0	10.6	10.6		
Pulaski, GA	44	Pediatric_Ge	1 in 45 miles	2	22.0	44	100.0	0	0.0	2.8	2.8		
Talbot, GA	7	Pediatric_Ge	1 in 45 miles	0		7	100.0	0	0.0	16.0	20.0		
Taylor, GA	40	Pediatric_Ge	1 in 45 miles	0		40	100.0	0	0.0	21.3	23.4		
Telfair, GA	100	Pediatric_Ge	1 in 45 miles	0		100	100.0	0	0.0	19.8	22.1		
Treutlen, GA	19	Pediatric_Ge	1 in 45 miles	0		19	100.0	0	0.0	15.2	20.6		
Twiggs, GA	52	Pediatric_Ge	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.2	9.3		
Upson, GA	121	Pediatric_Ge	1 in 45 miles	2	60.5	121	100.0	0	0.0	3.7	3.7		
Wheeler, GA	11	Pediatric_Ge	1 in 45 miles	1	11.0	11	100.0	0	0.0	8.5	19.1		
Wilcox, GA	23	Pediatric_Ge	1 in 45 miles	0		23	100.0	0	0.0	18.5	18.6		
Wilkinson, GA	51	Pediatric_Ge	1 in 45 miles	0		51	100.0	0	0.0	18.2	18.5		
Grand Totals	2,003	Pediatric_Ge	1 in 45 miles	76	26.4	2,003	100.0	0	0.0	9.4	10.4		
	·	_				·							

Pediatric Hematology/Oncology- Urban

April 21, 2023

Access Analysis

Pediatric Hematology/Oncology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Hematology/Oncology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	408	Pediatric_He	1 in 30 miles	65	6.3	408	100.0	0	0.0	1.8			
Houston, GA		Pediatric_He	1 in 30 miles	18	23.9		100.0	0	0.0				
Muscogee, GA		Pediatric_He	1 in 30 miles	38			100.0		0.0				
Troup, GA	206	Pediatric_He	1 in 30 miles	18	11.4	206	100.0	0	0.0	4.0	5.3		
Grand Totals	1 767	Pediatric_He	1 in 30 miles	139	12.7	1 767	100.0	0	0.0	2.3	2.6		
Grand Totals	1,707	Pediatric_ne	1 in 30 miles	139	12.7	1,707	100.0	U	0.0	2.3	2.6		
© 2023 Quest Analytics, LLC.	·		·	·		·							

Pediatric Hematology/Oncology- Rural

April 21, 2023

Access Analysis

Pediatric Hematology/Oncology- Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Hematology/Oncology

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_He	1 in 45 miles	6	24.8	149	100.0	0	0.0	3.0	3.0	
Bleckley, GA	27	Pediatric_He	1 in 45 miles	1	27.0	27	100.0	0	0.0	5.1	16.0	
Chattahoochee, GA	32	Pediatric_He	1 in 45 miles	0		32	100.0	0	0.0	22.6	22.6	
Crawford, GA	51	Pediatric_He	1 in 45 miles	0		51	100.0	0	0.0	13.3	16.4	
Crisp, GA	80	Pediatric_He	1 in 45 miles	8	10.0	80	100.0	0	0.0	2.8	2.8	
Dodge, GA	59	Pediatric_He	1 in 45 miles	0		59	100.0	0	0.0	20.6	21.9	
Dooly, GA	72	Pediatric_He	1 in 45 miles	0		72	100.0	0	0.0	8.0	8.0	
Harris, GA	96	Pediatric_He	1 in 45 miles	0		96	100.0	0	0.0	11.7	11.7	
Heard, GA	30	Pediatric_He	1 in 45 miles	0		30	100.0	0	0.0	15.9	16.8	
Johnson, GA	34	Pediatric_He	1 in 45 miles	0		34	100.0	0	0.0	19.0	20.9	
Jones, GA	181	Pediatric_He	1 in 45 miles	0		181	100.0	0	0.0	12.4	12.5	
Lamar, GA	106	Pediatric_He	1 in 45 miles	0		106	100.0	0	0.0	16.2	16.4	
Laurens, GA	190	Pediatric_He	1 in 45 miles	15	12.7	190	100.0	0	0.0	4.0	4.8	
Macon, GA	40	Pediatric_He	1 in 45 miles	0		40	100.0	0	0.0	21.3	24.0	
Marion, GA	18	Pediatric_He	1 in 45 miles	0		18	100.0	0	0.0	27.8	28.4	
Meriwether, GA	77	Pediatric_He	1 in 45 miles	0		77	100.0	0	0.0	21.2	21.7	
Monroe, GA	97	Pediatric_He	1 in 45 miles	0		97	100.0	0	0.0	17.8	20.4	
Peach, GA	126	Pediatric_He	1 in 45 miles	3	42.0	126	100.0	0	0.0	3.6	8.6	
Pike, GA	70	Pediatric_He	1 in 45 miles	0		70	100.0	0	0.0	14.6	14.7	
Pulaski, GA	44	Pediatric_He	1 in 45 miles	9	4.9	44	100.0	0	0.0	2.9	2.9	
Talbot, GA	7	Pediatric_He	1 in 45 miles	0		7		0	0.0	27.6	27.6	
Taylor, GA	40	Pediatric_He	1 in 45 miles	0		40	100.0	0	0.0	20.3	28.2	
Telfair, GA	100	Pediatric_He	1 in 45 miles	0		100	100.0	0	0.0	30.6	30.6	
Treutlen, GA	19	Pediatric_He	1 in 45 miles	0		19	100.0	0	0.0	21.6	21.7	
Twiggs, GA	52	Pediatric_He	1 in 45 miles	0		52	100.0	0	0.0	9.4	9.8	
Upson, GA	121	Pediatric_He	1 in 45 miles	0		121	100.0	0	0.0	24.5	24.7	
Wheeler, GA	11	Pediatric_He	1 in 45 miles	0		11	100.0	0	0.0	22.1	22.2	
Wilcox, GA	23	Pediatric_He	1 in 45 miles	0		23	100.0	0	0.0	19.8	19.8	
Wilkinson, GA	51	Pediatric_He	1 in 45 miles	0		51	100.0	0	0.0	18.7	18.7	
Grand Totals	2,003	Pediatric_He	1 in 45 miles	42	47.7	2,003	100.0	0	0.0	13.4	14.5	
J.a.ia iotais	2,300		1000	12	7	2,000			0.0	.5.4	0	
© 2023 Quest Analytics, LLC.												

Pediatric Infectious Disease - Urban

April 21, 2023

Access Analysis

Pediatric Infectious Disease-Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Infectious Disease

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA			1 in 30 miles	56	7.3		100.0	0		2.2	2.3	
Houston, GA		Pediatric_Infe	1 in 30 miles	4	107.5		100.0	0	0.0	4.6		
Muscogee, GA			1 in 30 miles	5			100.0		0.0	2.1		
Troup, GA	206	Pediatric_Infe	1 in 30 miles	7	29.4	206	100.0	0	0.0	5.4	5.4	
Grand Totals	1,767	Pediatric_Inf	1 in 30 miles	72	24.5	1,767	100.0	0	0.0	3.1	3.5	
© 2023 Quest Analytics, LLC.												

Pediatric Infectious Disease- Rural

April 21, 2023

Access Analysis

Pediatric Infectious Disease-

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Infectious Disease

	Members With and Without Access										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	149	Pediatric_Infe	1 in 45 miles	1	149.0	149	100.0	0	0.0	3.1	32.2
Bleckley, GA	27	Pediatric_Infe	1 in 45 miles	0		27	100.0	0	0.0	23.0	25.8
Chattahoochee, GA	32	Pediatric_Infe	1 in 45 miles	0		32	100.0	0	0.0	22.5	22.6
Crawford, GA	51	Pediatric_Infe	1 in 45 miles	0		51	100.0	0	0.0	17.2	17.8
Crisp, GA		Pediatric_Infe	1 in 45 miles	1	80.0	80	100.0	0	0.0	2.3	31.1
Dodge, GA	59	Pediatric_Infe	1 in 45 miles	0		59	100.0	0	0.0	30.5	31.1
Dooly, GA	72	Pediatric_Infe	1 in 45 miles	0		72	100.0	0	0.0	8.7	27.1
Harris, GA	96	Pediatric_Infe	1 in 45 miles	0		96	100.0	0	0.0	15.1	16.8
Heard, GA	30	Pediatric_Infe	1 in 45 miles	0		30	100.0	0	0.0	17.0	17.0
Johnson, GA	34	Pediatric_Infe	1 in 45 miles	0		34	100.0	0	0.0	18.8	19.4
Jones, GA	181	Pediatric_Infe	1 in 45 miles	0		181	100.0	0	0.0	12.5	13.0
Lamar, GA	106	Pediatric_Infe	1 in 45 miles	0		106	100.0	0	0.0	16.6	16.6
Laurens, GA	190	Pediatric_Infe	1 in 45 miles	5	38.0	190	100.0	0	0.0	3.7	5.1
Macon, GA	40	Pediatric_Infe	1 in 45 miles	0		40	100.0	0	0.0	24.3	28.9
Marion, GA	18	Pediatric_Infe	1 in 45 miles	0		18	100.0	0	0.0	28.4	34.2
Meriwether, GA	77	Pediatric_Infe	1 in 45 miles	1	77.0	77	100.0	0	0.0	11.1	21.8
Monroe, GA	97	Pediatric_Infe	1 in 45 miles	0		97	100.0	0	0.0	22.4	22.4
Peach, GA	126	Pediatric_Infe	1 in 45 miles	1	126.0	126	100.0	0	0.0	8.3	11.9
Pike, GA	70	Pediatric_Infe	1 in 45 miles	0		70	100.0	0	0.0		15.0
Pulaski, GA	44	Pediatric_Infe	1 in 45 miles	0		44	100.0	0	0.0	24.7	28.7
Talbot, GA	7	Pediatric_Infe	1 in 45 miles	0		7	100.0	0	0.0	19.4	28.8
Taylor, GA	40	Pediatric_Infe	1 in 45 miles	0		40		0	0.0	28.4	31.9
Telfair, GA	100	Pediatric_Infe	1 in 45 miles	0		100	100.0	0	0.0	31.0	33.3
Treutlen, GA	19	Pediatric_Infe	1 in 45 miles	0		19	100.0	0	0.0	25.3	28.3
Twiggs, GA	52	Pediatric_Infe	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.5	10.0
Upson, GA	121	Pediatric_Infe	1 in 45 miles	0			100.0	0	0.0	-	25.0
Wheeler, GA	11	Pediatric_Infe	1 in 45 miles	0		11	100.0	0	0.0	28.9	31.4
Wilcox, GA	23	Pediatric_Infe	1 in 45 miles	0		23	100.0	0	0.0	23.2	29.2
Wilkinson, GA	51	Pediatric_Infe	1 in 45 miles	0		51	100.0	0	0.0	18.6	24.1
0 17 (1		D 11 4 1 1 4	4 . 45 . !!	40	200.0	0.000	400.0	0		440	20.0
Grand Totals	2,003	Pediatric_Inf	1 in 45 miles	10	200.3	2,003	100.0	U	0.0	14.9	20.9

Pediatric Nephrology- Urban

April 21, 2023

Access Analysis
Pediatric Nephrology- Urban

Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Nephrology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	100	4.1	408	100.0	0	0.0	1.9	2.2		
Houston, GA			1 in 30 miles	40			100.0		0.0	4.4	4.4		
Muscogee, GA			1 in 30 miles	44			100.0		0.0	1.4	1.4		
Troup, GA	206	Pediatric_Nep	1 in 30 miles	10	20.6	206	100.0	0	0.0	2.7	2.7		
Grand Totals	1,767	Pediatric_Ne	1 in 30 miles	194	9.1	1,767	100.0	0	0.0	2.4	2.5		

Pediatric Nephrology - Rural

April 21, 2023

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Nephrology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_Nep	1 in 45 miles	15	9.9	149	100.0	0	0.0	2.7	2.7		
Bleckley, GA	27	Pediatric_Nep	1 in 45 miles	1	27.0	27	100.0	0	0.0	5.1	15.4		
Chattahoochee, GA	32	Pediatric_Nep	1 in 45 miles	0		32	100.0	0	0.0	14.3	14.6		
Crawford, GA	51	Pediatric_Nep	1 in 45 miles	1	51.0	51	100.0	0	0.0	4.8	15.1		
Crisp, GA	80	Pediatric_Nep	1 in 45 miles	8	10.0	80	100.0	0	0.0	2.5	2.6		
Dodge, GA		Pediatric_Nep	1 in 45 miles	3	19.7		100.0	0	0.0	6.7	7.2		
Dooly, GA		Pediatric_Nep	1 in 45 miles	1	72.0		100.0	0	0.0	7.7	7.7		
Harris, GA	96	Pediatric_Nep	1 in 45 miles	0		96	100.0	0	0.0	14.3	14.3		
Heard, GA	30	Pediatric_Nep	1 in 45 miles	0			100.0	0	0.0	16.9	17.0		
Johnson, GA	34	Pediatric_Nep	1 in 45 miles	0			100.0	0	0.0	17.0			
Jones, GA	181	Pediatric_Nep	1 in 45 miles	11	16.5	181	100.0	0	0.0	3.9	3.9		
Lamar, GA	106	Pediatric_Nep	1 in 45 miles	0		106	100.0	0	0.0	12.9			
Laurens, GA	190	Pediatric_Nep	1 in 45 miles	22	8.6	190	100.0	0	0.0	3.8	3.9		
Macon, GA	40	Pediatric_Nep	1 in 45 miles	3	13.3	40	100.0	0	0.0	4.6	4.6		
Marion, GA	18	Pediatric_Nep	1 in 45 miles	8	2.3	18	100.0	0	0.0	5.7	5.9		
Meriwether, GA	77	Pediatric_Nep	1 in 45 miles	8	9.6	77	100.0	0	0.0		10.5		
Monroe, GA	97	Pediatric_Nep	1 in 45 miles	10	9.7	97	100.0	0	0.0	4.2	4.3		
Peach, GA	126	Pediatric_Nep	1 in 45 miles	25	5.0	126	100.0	0	0.0	3.4	3.4		
Pike, GA	70	Pediatric_Nep	1 in 45 miles	0			100.0	0	0.0	11.0			
Pulaski, GA	44	Pediatric_Nep	1 in 45 miles	7	6.3	44	100.0	0	0.0	2.9	2.9		
Talbot, GA	7	Pediatric_Nep	1 in 45 miles	0		7	100.0	0	0.0	17.7	18.0		
Taylor, GA	40	Pediatric_Nep	1 in 45 miles	0		40	100.0	0	0.0	19.5	19.9		
Telfair, GA	100	Pediatric_Nep	1 in 45 miles	0		100	100.0	0	0.0	23.5	23.6		
Treutlen, GA	19	Pediatric_Nep	1 in 45 miles	0		19	100.0	0	0.0	21.3	21.3		
Twiggs, GA	52	Pediatric_Nep	1 in 45 miles	1	52.0	52	100.0	0	0.0	8.6	9.1		
Upson, GA	121	Pediatric_Nep	1 in 45 miles	2	60.5	121	100.0	0	0.0	3.7	3.9		
Wheeler, GA	11	Pediatric_Nep	1 in 45 miles	0		11	100.0	0	0.0	21.7	21.7		
Wilcox, GA	23	Pediatric_Nep	1 in 45 miles	0		23	100.0	0	0.0	19.5	19.5		
Wilkinson, GA	51	Pediatric_Nep	1 in 45 miles	0		51	100.0	0	0.0	17.6	17.6		
Grand Totals	2,003	Pediatric_Ne	1 in 45 miles	126	15.9	2,003	100.0	0	0.0	8.3	8.8		
Grana rotato	2,000	- odiatilo_itoiii	10		10.0	2,000	100.0		0.0	0.0			

Pediatric Neurology- Urban

April 21, 2023

Access Analysis
Pediatric Neurology- Urban

Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	208	2.0		100.0		0.0		2.4		
Houston, GA	430	Pediatric_Neu	1 in 30 miles	4	107.5	430	100.0	0			5.3		
Muscogee, GA			1 in 30 miles	158			100.0				1.9		
Troup, GA	206	Pediatric_Neu	1 in 30 miles	58	3.6	206	100.0	0	0.0	4.8	5.4		
Grand Totals	1,767	Pediatric_Ne	1 in 30 miles	428	4.1	1,767	100.0	0	0.0	2.8	3.2		
·													

Pediatric Neurology- Rural

April 21, 2023

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Neurology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Neu	1 in 45 miles	3	49.7	149	100.0	0	0.0	3.0	3.4	
Bleckley, GA	27	Pediatric_Neu	1 in 45 miles	0		27	100.0	0	0.0	16.0	25.7	
Chattahoochee, GA	32	Pediatric_Neu	1 in 45 miles	0		32	100.0	0	0.0	21.9	21.9	
Crawford, GA	51	Pediatric_Neu	1 in 45 miles	0		51	100.0	0	0.0	18.4	20.3	
Crisp, GA	80	Pediatric_Neu	1 in 45 miles	2	40.0	80	100.0	0	0.0	2.8	2.9	
Dodge, GA		Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	23.0	30.9	
Dooly, GA		Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	7.9	8.0	
Harris, GA	96	Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0		15.5	
Heard, GA	30	Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	16.1	16.9	
Johnson, GA	34	Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	17.7	17.7	
Jones, GA	181	Pediatric_Neu	1 in 45 miles	0		181		0	0.0		12.4	
Lamar, GA	106	Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	12.8	12.8	
Laurens, GA	190	Pediatric_Neu	1 in 45 miles	7	27.1	190	100.0	0	0.0	5.3	5.3	
Macon, GA	40	Pediatric_Neu	1 in 45 miles	0		40	100.0	0	0.0	23.6	25.1	
Marion, GA	18	Pediatric_Neu	1 in 45 miles	0		18	100.0	0	0.0	28.3	28.3	
Meriwether, GA	77	Pediatric_Neu	1 in 45 miles	0		77	100.0	0	0.0	_	19.7	
Monroe, GA	97	Pediatric_Neu	1 in 45 miles	2	48.5	97	100.0	0	0.0	4.3	4.6	
Peach, GA	126	Pediatric_Neu	1 in 45 miles	1	126.0	126	100.0	0	0.0	8.4	10.1	
Pike, GA	70	Pediatric_Neu	1 in 45 miles	0			100.0	0	0.0	12.3	12.5	
Pulaski, GA	44	Pediatric_Neu	1 in 45 miles	1	44.0	44	100.0	0	0.0	2.9	28.4	
Talbot, GA	7	Pediatric_Neu	1 in 45 miles	0		7	100.0	0	0.0	20.5	20.7	
Taylor, GA	40	Pediatric_Neu	1 in 45 miles	0		40	100.0	0	0.0	25.0	25.5	
Telfair, GA	100	Pediatric_Neu	1 in 45 miles	0		100	100.0	0	0.0	32.8	33.0	
Treutlen, GA	19	Pediatric_Neu	1 in 45 miles	0		19	100.0	0	0.0	22.2	22.3	
Twiggs, GA	52	Pediatric_Neu	1 in 45 miles	1	52.0	52	100.0	0	0.0	9.8	10.3	
Upson, GA	121	Pediatric_Neu	1 in 45 miles	37	3.3	121	100.0	0	0.0	3.6	3.8	
Wheeler, GA	11	Pediatric_Neu	1 in 45 miles	0		11	100.0	0	0.0	22.3	22.3	
Wilcox, GA	23	Pediatric_Neu	1 in 45 miles	0		23	100.0	0	0.0	23.1	23.5	
Wilkinson, GA	51	Pediatric_Neu	1 in 45 miles	0		51	100.0	0	0.0	18.2	18.3	
Grand Totals	2,003	Pediatric_Ne	1 in 45 miles	54	37.1	2,003	100.0	0	0.0	12.3	13.6	
	_,,,,,					_,,						

Pediatric Ophthalmology -Urban

April 21, 2023

Access Analysis

Pediatric Ophthalmology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Ophthalmology

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	408	Pediatric_Op	1 in 30 miles	11	37.1		100.0	0	0.0	2.4	2.8	
Houston, GA			1 in 30 miles	1	430.0		100.0		0.0	3.9	20.3	
Muscogee, GA			1 in 30 miles	6			100.0		0.0		2.1	
Troup, GA	206	Pediatric_Op	1 in 30 miles	2	103.0	206	100.0	0	0.0	4.2	4.2	
Grand Totals	1,767	Pediatric_Op	1 in 30 miles	20	88.4	1,767	100.0	0	0.0	2.7	6.9	

Pediatric Ophthalmology - Rural

April 21, 2023

Access Analysis
Pediatric Ophthalmology- Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Ophthalmology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Op	1 in 45 miles	3	49.7	149	100.0	0	0.0	2.6	2.6	
Bleckley, GA	27	Pediatric_Op	1 in 45 miles	0		27	100.0	0	0.0	25.4	28.6	
Chattahoochee, GA	32	Pediatric_Op	1 in 45 miles	0		32	100.0	0	0.0	21.8	22.3	
Crawford, GA	51	Pediatric_Op	1 in 45 miles	0		51	100.0	0	0.0	21.7	21.9	
Crisp, GA	80	Pediatric_Op	1 in 45 miles	0		80	100.0	0	0.0	30.2	30.2	
Dodge, GA	59	Pediatric_Op	1 in 45 miles	0		59	100.0	0	0.0	34.0	44.0	
Dooly, GA	72	Pediatric_Op	1 in 45 miles	0		72	100.0	0	0.0	26.9	26.9	
Harris, GA	96	Pediatric_Op	1 in 45 miles	0		96	100.0	0	0.0	16.8	17.4	
Heard, GA	30	Pediatric_Op	1 in 45 miles	0		30	100.0	0	0.0	19.5	19.5	
Johnson, GA	34	Pediatric_Op	1 in 45 miles	0		34	100.0	0	0.0	20.2	23.7	
Jones, GA	181	Pediatric_Op	1 in 45 miles	0		181	100.0	0	0.0	11.4	13.5	
Lamar, GA	106	Pediatric_Op	1 in 45 miles	1	106.0	106	100.0	0	0.0	3.2	16.6	
Laurens, GA	190	Pediatric_Op	1 in 45 miles	1	190.0	190	100.0	0	0.0	5.2	34.4	
Macon, GA	40	Pediatric_Op	1 in 45 miles	0		40	100.0	0	0.0	23.5	24.3	
Marion, GA	18	Pediatric_Op	1 in 45 miles	0		18	100.0	0	0.0	28.9	29.1	
Meriwether, GA	77	Pediatric_Op	1 in 45 miles	0		77	100.0	0	0.0	18.5	20.5	
Monroe, GA	97	Pediatric_Op	1 in 45 miles	0		97	100.0	0	0.0	13.3	17.7	
Peach, GA	126	Pediatric_Op	1 in 45 miles	0		126	100.0	0	0.0	13.2	24.7	
Pike, GA	70	Pediatric_Op	1 in 45 miles	0		70	100.0	0	0.0	12.0	16.0	
Pulaski, GA	44	Pediatric_Op	1 in 45 miles	0		44	100.0	0	0.0	27.9	41.0	
Talbot, GA	7	Pediatric_Op	1 in 45 miles	0		7	100.0	0	0.0	20.2	28.2	
Taylor, GA	40	Pediatric_Op	1 in 45 miles	0		40	100.0	0	0.0	25.9	31.9	
Telfair, GA	100	Pediatric_Op	1 in 45 miles	0		100	100.0	0	0.0	33.0	34.3	
Treutlen, GA	19	Pediatric_Op	1 in 45 miles	0		19	100.0	0	0.0	22.2	22.9	
Twiggs, GA	52	Pediatric_Op	1 in 45 miles	0		52	100.0	0	0.0	10.5	12.8	
Upson, GA	121	Pediatric_Op	1 in 45 miles	1	121.0	121	100.0	0	0.0	4.0	19.5	
Wheeler, GA	11	Pediatric_Op	1 in 45 miles	0		11	100.0	0	0.0	22.2	22.5	
Wilcox, GA	23	Pediatric_Op	1 in 45 miles	0		23	100.0	0	0.0	37.7	38.5	
Wilkinson, GA	51	Pediatric_Op	1 in 45 miles	0		51	100.0	0	0.0	19.2	19.5	
				_				_				
Grand Totals	2,003	Pediatric_Op	1 in 45 miles	6	333.8	2,003	100.0	0	0.0	15.7	22.5	

Pediatric Optometry -Urban

April 21, 2023

Access Analysis
Pediatric Optometry- Urban

Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Optometry

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA		Pediatric_Opt	1 in 30 miles	10	40.8	408	100.0	0		2.5		
Houston, GA			1 in 30 miles	11		430	100.0	0				
Muscogee, GA		Pediatric_Opt		19			100.0					
Troup, GA	206	Pediatric_Opt	1 in 30 miles	3	68.7	206	100.0	0	0.0	4.0	4.6	
© 2023 Quest Analytics 110												

Pediatric Optometry -Rural

April 21, 2023

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Optometry

Baldwin, GA	Members With and Without Access												
Baldwin, GA		Member	Pro	vider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
Bleckley, GA	County	#	Group	Standard	#		#	%	#	%	1	2	
Chattahoochee, GA	Baldwin, GA	149	Pediatric_Opt	1 in 45 miles	2	74.5	149	100.0	0	0.0	2.6	2.6	
Crawford, GA	Bleckley, GA	27	Pediatric_Opt	1 in 45 miles			27	100.0	0	0.0	21.2	24.2	
Crisp, GA 80 Pediatric_Opt 1 in 45 miles 0	Chattahoochee, GA	32	Pediatric_Opt	1 in 45 miles	0		32	100.0	0	0.0	16.8	22.3	
Dodge, GA	Crawford, GA	51	Pediatric_Opt	1 in 45 miles	0		51	100.0	0	0.0	15.1	15.7	
Dooly, GA	Crisp, GA	80	Pediatric_Opt	1 in 45 miles	0		80	100.0	0	0.0	10.1	17.0	
Harris, GA 96 Pediatric_Opt 1 in 45 miles 0 96 100.0 0 0.0 10.2 1 1 Heard, GA 30 Pediatric_Opt 1 in 45 miles 0 30 100.0 0 0.0 19.2 1 Johnson, GA 34 Pediatric_Opt 1 in 45 miles 0 34 100.0 0 0.0 20.3 2 3 Jones, GA 181 Pediatric_Opt 1 in 45 miles 0 181 100.0 0 0.0 13.3 1 Lamar, GA 106 Pediatric_Opt 1 in 45 miles 0 181 100.0 0 0.0 13.3 1 Laurens, GA 190 Pediatric_Opt 1 in 45 miles 0 106 100.0 0 0.0 13.6 1 Laurens, GA 190 Pediatric_Opt 1 in 45 miles 0 106 100.0 0 0.0 20.1 2	Dodge, GA	59	Pediatric_Opt	1 in 45 miles	1	59.0	59	100.0	0	0.0	7.2	23.3	
Heard, GA 30 Pediatric_Opt 1 in 45 miles 0 30 100.0 0 0.0 19.2 1 1 1 1 1 1 1 1 1	Dooly, GA	72	Pediatric_Opt	1 in 45 miles	2	36.0	72	100.0	0	0.0	0.6	7.5	
Johnson, GA 34 Pediatric_Opt 1 in 45 miles 0 34 100.0 0 0.0 20.3 2 Jones, GA 181 Pediatric_Opt 1 in 45 miles 0 181 100.0 0 0.0 13.3 1 Lamar, GA 106 Pediatric_Opt 1 in 45 miles 0 106 100.0 0 0.0 13.3 1 Laurens, GA 190 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 20.1 2 Macon, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 20.1 2 Marion, GA 18 Pediatric_Opt 1 in 45 miles 0 18 100.0 0 0.0 27.4 3 Meriwether, GA 77 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 27.4 3 Meniwether, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 4.5 2 Pulaski, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Talfair, GA 100 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 22.5 2	Harris, GA	96	Pediatric_Opt	1 in 45 miles	0		96	100.0	0	0.0	10.2	14.9	
Jones, GA	Heard, GA	30	Pediatric_Opt	1 in 45 miles	0		30	100.0	0	0.0	19.2	19.8	
Lamar, GA 106 Pediatric_Opt 1 in 45 miles 0 106 100.0 0 0.0 13.6 1 Laurens, GA 190 Pediatric_Opt 1 in 45 miles 6 31.7 190 100.0 0 0.0 4.1 Macron, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 2.1 2 Meriwether, GA 18 Pediatric_Opt 1 in 45 miles 0 18 100.0 0 0.0 27.4 3 Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 13.8 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1	Johnson, GA	34	Pediatric_Opt	1 in 45 miles	0		34	100.0	0	0.0	20.3	22.3	
Laurens, GA 190 Pediatric_Opt 1 in 45 miles 6 31.7 190 100.0 0 0.0 4.1 Macon, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 20.1 2 Marion, GA 18 Pediatric_Opt 1 in 45 miles 0 18 100.0 0 0.0 27.4 3 Meriwether, GA 77 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 13.8 2 Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 4.5 2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulsaski, GA 44 Pediatric_Opt 1 in 45 miles 0	Jones, GA	181	Pediatric_Opt	1 in 45 miles	0		181	100.0	0	0.0	13.3	13.4	
Macon, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 20.1 2 Marion, GA 18 Pediatric_Opt 1 in 45 miles 0 18 100.0 0 0.0 27.4 3 Meriwether, GA 77 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 13.8 2 Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 9.2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 9.2 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 12.6 2 Tajlor, GA 40 Pediatric_Opt 1 in 45 miles 0 7	Lamar, GA	106	Pediatric_Opt	1 in 45 miles	0		106	100.0	0	0.0	13.6	19.2	
Marion, GA 18 Pediatric_Opt 1 in 45 miles 0 18 100.0 0 0.0 27.4 3 Meriwether, GA 77 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 13.8 2 Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 9.2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Tallot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 16.8 2 Tallot, GA 7 Pediatric_Opt 1 in 45 miles 0	Laurens, GA	190	Pediatric_Opt	1 in 45 miles	6	31.7	190	100.0	0	0.0	4.1	5.2	
Meriwether, GA 77 Pediatric_Opt 1 in 45 miles 1 77.0 77 100.0 0 0.0 13.8 2 Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 9.2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 20.6 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Terutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pe	Macon, GA	40	Pediatric_Opt	1 in 45 miles	0		40	100.0	0	0.0	20.1	23.1	
Monroe, GA 97 Pediatric_Opt 1 in 45 miles 1 97.0 97 100.0 0 0.0 4.5 2 Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 9.2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 44 100.0 0 0.0 20.6 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100.0 0 0.0 22.7 2	Marion, GA	18	Pediatric_Opt	1 in 45 miles	0		18	100.0	0	0.0	27.4	31.9	
Peach, GA 126 Pediatric_Opt 1 in 45 miles 2 63.0 126 100.0 0 0.0 9.2 Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 44 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 16.8 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100 100.0 0 0.0 0.0 2.8 2 Twiggs, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 0.0 22.7 2 Twiggs, GA 121 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 11 Pediatric_Opt	Meriwether, GA	77	Pediatric_Opt	1 in 45 miles	1	77.0	77	100.0	0	0.0		20.6	
Pike, GA 70 Pediatric_Opt 1 in 45 miles 0 70 100.0 0 0.0 14.0 1 Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 44 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 29.2 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100.0 0 0.0 29.2 2 Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0	Monroe, GA	97	Pediatric_Opt	1 in 45 miles	1	97.0	97	100.0	0	0.0	4.5	21.2	
Pulaski, GA 44 Pediatric_Opt 1 in 45 miles 0 44 100.0 0 0.0 20.6 2 Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 16.8 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100 100.0 0 0.0 28.2 2 Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles <td< td=""><td>Peach, GA</td><td>126</td><td>Pediatric_Opt</td><td>1 in 45 miles</td><td>2</td><td>63.0</td><td>126</td><td>100.0</td><td>0</td><td>0.0</td><td>9.2</td><td>9.2</td></td<>	Peach, GA	126	Pediatric_Opt	1 in 45 miles	2	63.0	126	100.0	0	0.0	9.2	9.2	
Talbot, GA 7 Pediatric_Opt 1 in 45 miles 0 7 100.0 0 0.0 16.8 2 Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100 100.0 0 0.0 28.8 2 Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles	Pike, GA	70	Pediatric_Opt	1 in 45 miles	0		70	100.0	0	0.0	14.0	15.9	
Taylor, GA 40 Pediatric_Opt 1 in 45 miles 0 40 100.0 0 0.0 29.2 2 Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100 100.0 0 0.0 28.8 2 Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 121 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 22.5 2	Pulaski, GA	44	Pediatric_Opt	1 in 45 miles	0		44	100.0	0	0.0	20.6	22.0	
Telfair, GA 100 Pediatric_Opt 1 in 45 miles 1 100.0 100 loo.0 0 0.0 2.8 2 Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 loo.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 loo.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 121 loo.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 loo.0 0 0.0 18.3 2 Wilkinson, GA 23 Pediatric_Opt 1 in 45 miles 0 51 loo.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 loo.0 0 0.0 20.3 2	Talbot, GA			1 in 45 miles	0		7	100.0	0	0.0	16.8	26.4	
Treutlen, GA 19 Pediatric_Opt 1 in 45 miles 0 19 100.0 0 0.0 22.7 2 Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 121 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilkinson, GA 23 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Taylor, GA	40	Pediatric_Opt	1 in 45 miles	0		40	100.0	0	0.0	29.2	29.5	
Twiggs, GA 52 Pediatric_Opt 1 in 45 miles 0 52 100.0 0 0.0 11.1 1 Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 121 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilkinson, GA 23 Pediatric_Opt 1 in 45 miles 0 23 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Telfair, GA	100	Pediatric_Opt	1 in 45 miles	1	100.0	100	100.0	0	0.0	2.8	23.8	
Upson, GA 121 Pediatric_Opt 1 in 45 miles 0 121 100.0 0 0.0 18.7 2 Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilcox, GA 23 Pediatric_Opt 1 in 45 miles 0 23 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Treutlen, GA	19	Pediatric_Opt	1 in 45 miles	0		19	100.0		0.0	22.7	27.6	
Wheeler, GA 11 Pediatric_Opt 1 in 45 miles 0 11 100.0 0 0.0 18.3 2 Wilcox, GA 23 Pediatric_Opt 1 in 45 miles 0 23 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Twiggs, GA	52	Pediatric_Opt	1 in 45 miles	0		52	100.0	0	0.0	11.1	12.1	
Wilcox, GA 23 Pediatric_Opt 1 in 45 miles 0 23 100.0 0 0.0 22.5 2 Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Upson, GA	121	Pediatric_Opt	1 in 45 miles	0		121	100.0	0	0.0	18.7	25.7	
Wilkinson, GA 51 Pediatric_Opt 1 in 45 miles 0 51 100.0 0 0.0 20.3 2	Wheeler, GA	11	Pediatric_Opt	1 in 45 miles	0		11	100.0	0	0.0	18.3	23.6	
	Wilcox, GA	23	Pediatric_Opt	1 in 45 miles	0		23	100.0	0	0.0	22.5	28.3	
Grand Totals 2,003 Pediatric_Op 1 in 45 miles 16 125.2 2,003 100.0 0 0.0 11.4 1	Wilkinson, GA	51	Pediatric_Opt	1 in 45 miles	0		51	100.0	0	0.0	20.3	20.3	
Grand Totals 2,000 Fediatic_op Till 45 miles 10 125.2 2,000 100.0 0 0.0 11.4	Grand Totals	2 003	Pediatric On	1 in 45 miles	16	125.2	2 003	100.0	0	0.0	11.4	16.2	
	Gianu iotais	2,003	rediatric_Op	i iii 45 iiiiles	10	125.2	2,003	100.0	U	0.0	11.4	10.2	

Pediatric Orthopedics- Urban

April 21, 2023

Access Analysis

Pediatric Othopedics- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Orthopedics

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA	408	Pediatric_Ort	1 in 30 miles	146	2.8		100.0		0	0.0	1.6	1.7
Houston, GA	430	Pediatric_Ort	1 in 30 miles	61	7.0	430	100.0		0	0.0	1.9	3.2
Muscogee, GA			1 in 30 miles	96	7.5		100.0		0	0.0	1.5	1.7
Troup, GA			1 in 30 miles	51	4.0	206	100.0		0	0.0	2.5	2.5
Grand Totals	1,767	Pediatric_Ort	1 in 30 miles	354	5.0	1,767	100.0		0	0.0	1.7	2.1
© 2023 Quest Analytics 11 C												

Pediatric Orthopedics -Rural

April 21, 2023

Access Analysis Pediatric Orthopedics- Rural

Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Orthopedics

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Ort	1 in 45 miles	15	9.9	149	100.0	0	0.0	2.1	2.2	
Bleckley, GA	27	Pediatric_Ort	1 in 45 miles	3	9.0	27	100.0	0	0.0	4.6	5.1	
Chattahoochee, GA	32	Pediatric_Ort	1 in 45 miles	0		32	100.0	0	0.0	16.1	21.4	
Crawford, GA	51	Pediatric_Ort	1 in 45 miles	0		51	100.0	0	0.0	14.9	15.0	
Crisp, GA	80	Pediatric_Ort	1 in 45 miles	20	4.0	80	100.0	0	0.0	1.9	2.0	
Dodge, GA	59	Pediatric_Ort	1 in 45 miles	4	14.8	59	100.0	0	0.0	6.7	7.1	
Dooly, GA	72	Pediatric_Ort	1 in 45 miles	5	14.4	72	100.0	0	0.0	0.6	0.6	
Harris, GA	96	Pediatric_Ort	1 in 45 miles	0		96	100.0	0	0.0	10.2	11.4	
Heard, GA	30	Pediatric_Ort	1 in 45 miles	0		30	100.0	0	0.0	16.7	17.0	
Johnson, GA	34	Pediatric_Ort	1 in 45 miles	1	34.0	34	100.0	0	0.0	7.8	16.5	
Jones, GA	181	Pediatric_Ort	1 in 45 miles	0		181	100.0	0	0.0	10.2	12.0	
Lamar, GA	106	Pediatric_Ort	1 in 45 miles	2	53.0	106	100.0	0	0.0	3.0	3.0	
Laurens, GA	190	Pediatric_Ort	1 in 45 miles	52	3.7	190	100.0	0	0.0	4.6	4.6	
Macon, GA	40	Pediatric_Ort	1 in 45 miles	3	13.3	40	100.0	0	0.0	4.7	4.7	
Marion, GA	18	Pediatric_Ort	1 in 45 miles	1	18.0	18	100.0	0	0.0	7.1	17.0	
Meriwether, GA	77	Pediatric_Ort	1 in 45 miles	1	77.0	77	100.0	0	0.0	10.9	16.4	
Monroe, GA	97	Pediatric_Ort	1 in 45 miles	0		97	100.0	0	0.0	13.3	13.4	
Peach, GA	126	Pediatric_Ort	1 in 45 miles	8	15.8	126	100.0	0	0.0	8.5	8.9	
Pike, GA	70	Pediatric_Ort	1 in 45 miles	0		70	100.0	0	0.0	11.6	11.7	
Pulaski, GA		Pediatric_Ort	1 in 45 miles	6	7.3	44	100.0	0	0.0	2.9	3.1	
Talbot, GA	7	Pediatric_Ort	1 in 45 miles	0		7	100.0	0	0.0	16.0	20.0	
Taylor, GA	40	Pediatric_Ort	1 in 45 miles	0		40	100.0	0	0.0	21.3	23.2	
Telfair, GA	100	Pediatric_Ort	1 in 45 miles	0		100	100.0	0	0.0	19.8	19.8	
Treutlen, GA	19	Pediatric_Ort	1 in 45 miles	0		19	100.0	0	0.0	15.4	15.4	
Twiggs, GA	52	Pediatric_Ort	1 in 45 miles	1	52.0	52	100.0	0	0.0	8.3	9.4	
Upson, GA	121	Pediatric_Ort	1 in 45 miles	13	9.3	121	100.0	0	0.0	3.0	3.1	
Wheeler, GA	11	Pediatric_Ort	1 in 45 miles	3	3.7	11	100.0	0	0.0	8.5	8.5	
Wilcox, GA	23	Pediatric_Ort	1 in 45 miles	1	23.0	23	100.0	0	0.0	7.6	18.7	
Wilkinson, GA	51	Pediatric_Ort	1 in 45 miles	1	51.0	51	100.0	0	0.0	8.2	15.2	
Grand Totals	2.003	Pediatric_Ort	1 in 45 miles	140	14.3	2,003	100.0	0	0.0	8.1	9.3	
Grand Totals	2,003	r calatric_Oft	1 111 40 1111103	140	14.5	2,003	100.0	U	0.0	0.1	9.5	
© 2023 Quest Analytics II C												

Pediatric Rheumatology- Urban

April 21, 2023

Access Analysis

Pediatric Rheumatology- Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Rheumatology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	408	Pediatric_Rhe	1 in 30 miles	4	102.0	408	100.0	0		2.6	4.2	
Houston, GA			1 in 30 miles	3			100.0	0	0.0	5.6		
Muscogee, GA			1 in 30 miles	8	90.4		100.0		0.0	1.8		
Troup, GA	206	Pediatric_Rhe	1 in 30 miles	0		10	4.9	196	95.1	36.1	36.5	
Grand Totals	1,767	Pediatric_Rh	1 in 30 miles	15	117.8	1,571	88.9	196	11.1	6.9	8.1	
© 2023 Quest Analytics. LLC.												

Pediatric Rheumatology- Rural

April 21, 2023

Access Analysis
Pediatric Rheumatology- Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Rheumatology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Rhe	1 in 45 miles	0		149	100.0	0	0.0	25.4	36.9	
Bleckley, GA	27	Pediatric_Rhe	1 in 45 miles	0		27	100.0	0	0.0	28.1	30.2	
Chattahoochee, GA	32	Pediatric_Rhe	1 in 45 miles	0		32	100.0	0	0.0	19.9	22.6	
Crawford, GA	51	Pediatric_Rhe	1 in 45 miles	0		51	100.0	0	0.0		21.1	
Crisp, GA	80	Pediatric_Rhe	1 in 45 miles	0		80	100.0	0	0.0	33.5	41.5	
Dodge, GA	59	Pediatric_Rhe	1 in 45 miles	0		19	32.2	40	67.8	45.6	46.9	
Dooly, GA	72	Pediatric_Rhe	1 in 45 miles	0		72	100.0	0	0.0	27.2	37.7	
Harris, GA	96	Pediatric_Rhe	1 in 45 miles	0		96	100.0	0	0.0	22.7	24.4	
Heard, GA	30	Pediatric_Rhe	1 in 45 miles	0		30	100.0	0	0.0	21.3	21.3	
Johnson, GA	34	Pediatric_Rhe	1 in 45 miles	0		0	0.0	34	100.0	56.0	56.5	
Jones, GA	181	Pediatric_Rhe	1 in 45 miles	0		181	100.0	0	0.0	14.6	14.8	
Lamar, GA	106	Pediatric_Rhe	1 in 45 miles	0		106	100.0	0	0.0	31.7	32.0	
Laurens, GA	190	Pediatric_Rhe	1 in 45 miles	0		142	74.7	48	25.3	43.8	45.0	
Macon, GA	40	Pediatric_Rhe	1 in 45 miles	1	40.0	40	100.0	0	0.0	4.8	38.4	
Marion, GA	18	Pediatric_Rhe	1 in 45 miles	0		18	100.0	0	0.0	29.1	32.5	
Meriwether, GA	77	Pediatric_Rhe	1 in 45 miles	0		77	100.0	0	0.0	26.8	28.7	
Monroe, GA	97	Pediatric_Rhe	1 in 45 miles	0		97	100.0	0	0.0	23.3	28.0	
Peach, GA	126	Pediatric_Rhe	1 in 45 miles	0		126	100.0	0	0.0	11.3	14.2	
Pike, GA	70	Pediatric_Rhe	1 in 45 miles	0		70	100.0	0	0.0	27.6	29.6	
Pulaski, GA	44	Pediatric_Rhe	1 in 45 miles	0		44	100.0	0	0.0	28.9	30.9	
Talbot, GA	7	Pediatric_Rhe	1 in 45 miles	0		7	100.0	0	0.0	28.8	30.7	
Taylor, GA	40	Pediatric_Rhe	1 in 45 miles	0		40	100.0	0	0.0	27.6	31.9	
Telfair, GA	100	Pediatric_Rhe	1 in 45 miles	0		98	98.0	2	2.0	38.1	38.1	
Treutlen, GA	19	Pediatric_Rhe	1 in 45 miles	0		4	21.1	15	78.9	47.1	47.1	
Twiggs, GA	52	Pediatric_Rhe	1 in 45 miles	0		52	100.0	0	0.0	10.7	11.1	
Upson, GA	121	Pediatric_Rhe	1 in 45 miles	0		121	100.0	0	0.0	36.9	39.7	
Wheeler, GA	11	Pediatric_Rhe	1 in 45 miles	0		5	45.5	6	54.5	44.5	44.5	
Wilcox, GA	23	Pediatric_Rhe	1 in 45 miles	0		23	100.0	0	0.0	37.6	37.6	
Wilkinson, GA	51	Pediatric_Rhe	1 in 45 miles	0		51	100.0	0	0.0	26.1	26.3	
Grand Totals	2 002	Dadiatria Dh	1 in 15 miles	1	2 002 0	1,858	92.8	145	7.2	27.9	31.4	
Grand Totals	2,003	Pediatric_Rh	1 in 45 miles	1	2,003.0	1,858	92.8	145	7.2	27.9	31.4	

Pediatric Vascular Surgery- Urban

April 21, 2023

Access Analysis

Pediatric Vascular Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_Vascular Surgery

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA	408		1 in 30 miles	52	7.8		100.0		0	0.0	2.5	2.6	
Houston, GA			1 in 30 miles	27	15.9	430	100.0		0	0.0	4.6	4.6	
Muscogee, GA			1 in 30 miles	23			100.0		0	0.0	1.9	1.9	
Troup, GA			1 in 30 miles	6	34.3	206	100.0		0	0.0	5.3	5.3	
Grand Totals	1,767	Pediatric_Va	1 in 30 miles	108	16.4	1,767	100.0		0	0.0	3.1	3.1	
© 2023 Quest Analytics 11 C													

Pediatric Vascular Surgery - Rural

April 21, 2023

Access Analysis

Pediatric Vascular Surgery-Rural

Member / Provider Groups

Pediatric Rural Members (CENTRAL_RURAL) Pediatric_Vascular Surgery

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	149	Pediatric_Vas	1 in 45 miles	2	74.5	149	100.0	0	0.0	3.2	3.2	
Bleckley, GA		Pediatric_Vas	1 in 45 miles	0		27	100.0	0	0.0	28.1	28.1	
Chattahoochee, GA	32	Pediatric_Vas	1 in 45 miles	0		32	100.0	0	0.0	22.3	22.3	
Crawford, GA	51	Pediatric_Vas	1 in 45 miles	0		51	100.0	0	0.0	18.4	18.4	
Crisp, GA	80	Pediatric_Vas	1 in 45 miles	2	40.0	80	100.0	0	0.0	2.8	41.4	
Dodge, GA	59	Pediatric_Vas	1 in 45 miles	0		54	91.5	5	8.5	40.9	44.3	
Dooly, GA	72	Pediatric_Vas	1 in 45 miles	0		72	100.0	0	0.0	8.0	36.4	
Harris, GA	96	Pediatric_Vas	1 in 45 miles	0		96	100.0	0	0.0	15.4	15.4	
Heard, GA	30	Pediatric_Vas	1 in 45 miles	0		30	100.0	0	0.0	16.8	16.8	
Johnson, GA	34	Pediatric_Vas	1 in 45 miles	0		34	100.0	0	0.0	27.0	42.1	
Jones, GA	181	Pediatric_Vas	1 in 45 miles	0		181	100.0	0	0.0	12.4	12.5	
Lamar, GA	106	Pediatric_Vas	1 in 45 miles	0		106	100.0	0	0.0	16.5	16.6	
Laurens, GA	190	Pediatric_Vas	1 in 45 miles	0		190	100.0	0	0.0	33.6	42.3	
Macon, GA	40	Pediatric_Vas	1 in 45 miles	0		40	100.0	0	0.0	32.8	34.7	
Marion, GA	18	Pediatric_Vas	1 in 45 miles	0		18	100.0	0	0.0	34.1	34.2	
Meriwether, GA	77	Pediatric_Vas	1 in 45 miles	0		77	100.0	0	0.0	21.8	21.8	
Monroe, GA	97	Pediatric_Vas	1 in 45 miles	0		97	100.0	0	0.0	17.8	22.4	
Peach, GA	126	Pediatric_Vas	1 in 45 miles	4	31.5	126	100.0	0	0.0	8.4	8.4	
Pike, GA	70	Pediatric_Vas	1 in 45 miles	0		70	100.0	0	0.0	15.0	15.0	
Pulaski, GA	44	Pediatric_Vas	1 in 45 miles	0		44	100.0	0	0.0	28.9	28.9	
Talbot, GA	7	Pediatric_Vas	1 in 45 miles	0		7	100.0	0	0.0	27.4	27.4	
Taylor, GA	40	Pediatric_Vas	1 in 45 miles	0		40	100.0	0	0.0	28.6	28.6	
Telfair, GA	100	Pediatric_Vas	1 in 45 miles	0		100	100.0	0	0.0	34.2	34.3	
Treutlen, GA		Pediatric_Vas	1 in 45 miles	0		19	100.0	0	0.0	22.9	22.9	
Twiggs, GA	52	Pediatric_Vas	1 in 45 miles	0		52	100.0	0	0.0	10.0	10.0	
Upson, GA	121	Pediatric_Vas	1 in 45 miles	0		121	100.0	0	0.0	25.0	25.0	
Wheeler, GA	11	Pediatric_Vas	1 in 45 miles	0		11	100.0	0	0.0	22.5	22.5	
Wilcox, GA	23	Pediatric_Vas	1 in 45 miles	0		23	100.0	0	0.0	25.4	37.6	
Wilkinson, GA	51	Pediatric_Vas	1 in 45 miles	0		51	100.0	0	0.0	18.7	18.7	
Grand Totals	2,003	Pediatric_Va	1 in 45 miles	8	250.4	1,998	99.8	5	0.2	19.3	23.4	
		_										

Pediatric Urology- Urban

April 21, 2023

Access Analysis
Pediatric Urology- Urban

Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Urology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA	408	Pediatric_Urol	1 in 30 miles	18	22.7	408	100.0		0	0.0	3.1	3.2	
Houston, GA	430	Pediatric_Urol	1 in 30 miles	5	86.0	430	100.0		0	0.0	5.4	6.7	
Muscogee, GA	723	Pediatric_Urol	1 in 30 miles	9	80.3	723	100.0		0	0.0	1.7	2.2	
Troup, GA	206	Pediatric_Urol	1 in 30 miles	9	22.9	206	100.0		0	0.0	5.4	5.4	
Grand Totals	1,767	Pediatric_Ur	1 in 30 miles	41	43.1	1,767	100.0		0	0.0	3.3	3.9	
© 2023 Quest Analytics II C													

Pediatric Urology -Rural

April 21, 2023

Access Analysis
Pediatric Urology- Rural

Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Urology

	Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	149	Pediatric_Urol	1 in 45 miles	2	74.5	149	100.0	0	0.0	2.7	3.2		
Bleckley, GA	27	Pediatric_Urol	1 in 45 miles	0		27	100.0	0	0.0	16.0	26.1		
Chattahoochee, GA	32	Pediatric_Urol	1 in 45 miles	0		32	100.0	0	0.0	21.4	21.9		
Crawford, GA			1 in 45 miles	0		51	100.0	0	0.0	20.5	21.5		
Crisp, GA	80	Pediatric_Urol	1 in 45 miles	1	80.0	80	100.0	0	0.0	2.9	30.8		
Dodge, GA	59	Pediatric_Urol	1 in 45 miles	0		59	100.0	0	0.0	24.6	32.7		
Dooly, GA	72	Pediatric_Urol	1 in 45 miles	0		72	100.0	0	0.0	7.9	28.5		
Harris, GA	96	Pediatric_Urol	1 in 45 miles	0		96	100.0	0	0.0	15.2	15.2		
Heard, GA	30	Pediatric_Urol	1 in 45 miles	0		30	100.0	0	0.0	16.9	16.9		
Johnson, GA	34	Pediatric_Urol	1 in 45 miles	0		34	100.0	0	0.0	22.3	22.6		
Jones, GA	181	Pediatric_Urol	1 in 45 miles	0		181	100.0	0	0.0	12.5	12.6		
Lamar, GA	106	Pediatric_Urol	1 in 45 miles	0		106	100.0	0	0.0	16.5	16.6		
Laurens, GA	190	Pediatric_Urol	1 in 45 miles	5	38.0	190	100.0	0	0.0	5.0	5.4		
Macon, GA	40	Pediatric_Urol	1 in 45 miles	1	40.0	40	100.0	0	0.0	5.3	25.2		
Marion, GA	18	Pediatric_Urol	1 in 45 miles	0		18	100.0	0	0.0	25.5	28.2		
Meriwether, GA		_	1 in 45 miles	0		77	100.0	0	0.0	19.8	21.8		
Monroe, GA			1 in 45 miles	0		97	100.0	0	0.0	17.7	17.8		
Peach, GA		_	1 in 45 miles	0		126	100.0	0	0.0	11.6	14.2		
Pike, GA	70	Pediatric Urol	1 in 45 miles	0		70	100.0	0	0.0	12.5	15.0		
Pulaski, GA	44	Pediatric Urol	1 in 45 miles	1	44.0	44	100.0	0	0.0	2.9	28.9		
Talbot, GA	7	Pediatric Urol	1 in 45 miles	0		7	100.0	0	0.0	20.4	27.5		
Taylor, GA	40	Pediatric_Urol	1 in 45 miles	0		40	100.0	0	0.0	23.5	26.5		
Telfair, GA		_	1 in 45 miles	0		100	100.0	0	0.0	33.2	33.3		
Treutlen, GA	19	Pediatric Urol	1 in 45 miles	0		19	100.0	0	0.0	22.2	22.2		
Twiggs, GA	52	Pediatric_Urol	1 in 45 miles	0		52	100.0	0	0.0	9.8	9.9		
Upson, GA			1 in 45 miles	1	121.0	121	100.0	0	0.0	3.9	25.0		
Wheeler, GA	11	Pediatric Urol	1 in 45 miles	0		11	100.0	0	0.0	22.3	22.3		
Wilcox, GA	23	Pediatric Urol	1 in 45 miles	0		23	100.0	0	0.0	25.1	27.7		
Wilkinson, GA	51	Pediatric_Urol	1 in 45 miles	0		51	100.0	0	0.0	18.7	19.2		
,		_											
L					L								

Pharmacy - Urban

April 21, 2023

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
PHARMACY

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2	
Bibb, GA		PHARMACY	1 in 15 miles	41	11.7		100.0		0	0.0	0.9	1.3	
Houston, GA		PHARMACY	1 in 15 miles	25	18.6		100.0		0	0.0	1.4	2.0	
Muscogee, GA		PHARMACY	1 in 15 miles	39			100.0		0	0.0	0.6	0.9	
Troup, GA		PHARMACY	1 in 15 miles	10		221	99.1		2	0.9		3.0	
Grand Totals	1,966	PHARMACY	1 in 15 miles	115	17.1	1,964	99.9		2	0.1	1.1	1.5	
© 2023 Quest Analytics 11C		•	•						_				

Pharmacy - Rural

April 21, 2023

Access Analysis
Pharmacy- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
PHARMACY

Members With and Without Access												
	Member	P	rovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	PHARMACY	1 in 30 miles	7	23.1	162	100.0	0	0.0	1.7	2.2	
Bleckley, GA	30	PHARMACY	1 in 30 miles	4	7.5	30	100.0	0	0.0	3.3	4.5	
Chattahoochee, GA	33	PHARMACY	1 in 30 miles	0		33	100.0	0	0.0	14.4	16.7	
Crawford, GA	54	PHARMACY	1 in 30 miles	1	54.0	54	100.0	0	0.0	3.2	12.5	
Crisp, GA	84	PHARMACY	1 in 30 miles	6	14.0	84	100.0	0	0.0	1.9	2.1	
Dodge, GA	60	PHARMACY	1 in 30 miles	6	10.0	60	100.0	0	0.0	4.4	6.0	
Dooly, GA	73	PHARMACY	1 in 30 miles	1	73.0	73	100.0	0	0.0	8.0	8.1	
Harris, GA	103	PHARMACY	1 in 30 miles	2	51.5	103	100.0	0	0.0	5.7	8.0	
Heard, GA	33	PHARMACY	1 in 30 miles	1	33.0	33	100.0	0	0.0	4.1	15.2	
Johnson, GA	35	PHARMACY	1 in 30 miles	1	35.0	35	100.0	0	0.0	6.8	16.2	
Jones, GA	188	PHARMACY	1 in 30 miles	3	62.7	188	100.0	0	0.0	3.7	3.9	
Lamar, GA	112	PHARMACY	1 in 30 miles	3	37.3	112	100.0	0	0.0	2.6	3.1	
Laurens, GA	209	PHARMACY	1 in 30 miles	10	20.9	209	100.0	0	0.0	3.3	3.8	
Macon, GA	43	PHARMACY	1 in 30 miles	3	14.3	43	100.0	0	0.0	4.2	4.6	
Marion, GA	19	PHARMACY	1 in 30 miles	1	19.0	19	100.0	0	0.0	5.7	15.6	
Meriwether, GA	80	PHARMACY	1 in 30 miles	4	20.0	80	100.0	0	0.0	2.5	10.1	
Monroe, GA	104	PHARMACY	1 in 30 miles	6	17.3	104	100.0	0	0.0	4.0	4.2	
Peach, GA		PHARMACY	1 in 30 miles	6			100.0	0	0.0	2.3	3.0	
Pike, GA		PHARMACY	1 in 30 miles	2			100.0	0	0.0	4.7	5.4	
Pulaski, GA		PHARMACY	1 in 30 miles	6		47	100.0	0	0.0	1.5	1.6	
Talbot, GA		PHARMACY	1 in 30 miles	1		9		0	0.0	10.1	14.0	
Taylor, GA		PHARMACY	1 in 30 miles	3	14.0	42	100.0	0	0.0	4.0	5.2	
Telfair, GA	103	PHARMACY	1 in 30 miles	4	25.8		100.0	0	0.0	2.2	3.0	
Treutlen, GA	22	PHARMACY	1 in 30 miles	2	11.0	22		0	0.0	2.3	2.9	
Twiggs, GA		PHARMACY	1 in 30 miles	1	60.0		100.0	0	0.0	5.2	7.5	
Upson, GA		PHARMACY	1 in 30 miles	4	32.5		100.0	0	0.0	2.5	3.1	
Wheeler, GA		PHARMACY	1 in 30 miles	1			100.0	0	0.0	7.6	14.6	
Wilcox, GA		PHARMACY	1 in 30 miles	3			100.0	0	0.0	2.2	9.2	
Wilkinson, GA		PHARMACY	1 in 30 miles	2			100.0	0	0.0	9.4	9.9	
Crond Totalo	2 446	DHADMACV	4 in 20 miles	04	22.0	2 446	100.0		0.0	2.0	<i>.</i>	
Grand Totals	2,146	PHARMACY	1 in 30 miles	94	22.8	2,146	100.0	0	0.0	3.8	5.5	
© 2023 Quest Analytics, LLC.		<u> </u>	<u> </u>	l								

24 Hour Pharmacy - Urban

April 21, 2023

Access Analysis 24 Hour Pharmacy- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
24 Hour Pharmacy

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	479	24 Hour Phar	1 in 15 miles	1	479.0	476	99.4	3	0.6		55.9		
Houston, GA	465	24 Hour Phar	1 in 15 miles	0		1	0.2	464			74.0		
Muscogee, GA			1 in 15 miles	1	799.0	792	99.1		0.9		39.7		
Troup, GA			1 in 15 miles	1	223.0	217	97.3	6	2.7		39.2		
Grand Totals	1,966	24 Hour Phar	1 in 15 miles	3	655.3	1,486	75.6	480	24.4	8.7	51.7		
© 2023 Quest Analytics 11C		•	•	•——									

24 Hour Pharmacy -Rural

April 21, 2023

Access Analysis
24 Hour Pharmacy- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
24 Hour Pharmacy

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	24 Hour Phar	1 in 30 miles	0		4	2.5	158	97.5	34.4	60.1	
Bleckley, GA	30	24 Hour Phar	1 in 30 miles	0		0	0.0	30	100.0	40.3	89.7	
Chattahoochee, GA	33	24 Hour Phar	1 in 30 miles	0		33	100.0	0	0.0	22.5	55.5	
Crawford, GA	54	24 Hour Phar	1 in 30 miles	0		51	94.4	3	5.6	25.3	59.6	
Crisp, GA	84	24 Hour Phar	1 in 30 miles	0		0	0.0	84	100.0	64.7	82.9	
Dodge, GA	60	24 Hour Phar	1 in 30 miles	0		0	0.0	60	100.0	60.9	91.1	
Dooly, GA	73	24 Hour Phar	1 in 30 miles	0		0	0.0	73	100.0	55.7	78.4	
Harris, GA	103	24 Hour Phar	1 in 30 miles	0		103	100.0	0	0.0	17.7	31.1	
Heard, GA	33	24 Hour Phar	1 in 30 miles	0		33	100.0	0	0.0	19.9	36.4	
Johnson, GA	35	24 Hour Phar	1 in 30 miles	0		0	0.0	35	100.0	58.7	103.1	
Jones, GA	188	24 Hour Phar	1 in 30 miles	0		188	100.0	0	0.0	12.2	51.5	
Lamar, GA	112	24 Hour Phar	1 in 30 miles	0		0	0.0	112	100.0	39.9	46.8	
Laurens, GA	209	24 Hour Phar	1 in 30 miles	0		0	0.0	209	100.0	53.1	98.1	
Macon, GA	43	24 Hour Phar	1 in 30 miles	0		0	0.0	43	100.0	53.6	58.2	
Marion, GA	19	24 Hour Phar	1 in 30 miles	0		3	15.8	16	84.2	34.5	65.5	
Meriwether, GA	80	24 Hour Phar	1 in 30 miles	0		71	88.8	9	11.2	21.7	43.5	
Monroe, GA	104	24 Hour Phar	1 in 30 miles	0		87	83.7	17	16.3	27.6	40.8	
Peach, GA	142	24 Hour Phar	1 in 30 miles	0		63	44.4	79	55.6	28.6	65.3	
Pike, GA	75	24 Hour Phar	1 in 30 miles	0		0	0.0	75	100.0	39.5	45.9	
Pulaski, GA	47	24 Hour Phar	1 in 30 miles	0		0	0.0	47	100.0	42.7	90.3	
Talbot, GA	9	24 Hour Phar	1 in 30 miles	0		4	44.4	5	55.6	29.7	47.4	
Taylor, GA	42	24 Hour Phar	1 in 30 miles	0		3	7.1	39	92.9	40.9	50.9	
Telfair, GA	103	24 Hour Phar	1 in 30 miles	0		0	0.0	103	100.0	78.5	88.0	
Treutlen, GA	22	24 Hour Phar	1 in 30 miles	0		0	0.0	22	100.0	74.3	113.6	
Twiggs, GA	60	24 Hour Phar	1 in 30 miles	0		55	91.7	5		11.5		
Upson, GA	130	24 Hour Phar	1 in 30 miles	0		0	0.0	130	100.0	41.1	45.6	
Wheeler, GA	11	24 Hour Phar	1 in 30 miles	0		0	0.0	11		78.9	100.6	
Wilcox, GA	24	24 Hour Phar	1 in 30 miles	0		0	0.0	24	100.0	65.1	78.8	
Wilkinson, GA	59	24 Hour Phar	1 in 30 miles	0		55	93.2	4		24.6	71.6	
Grand Totals	2 146	24 Hour Phar	1 in 30 miles	0		753	35.1	1,393	64.9	38.5	64.6	
Grand Totals	2,146	24 Hour Phar	1 in 30 miles	"		753	35.1	1,393	64.9	38.5	64.6	

Occupational Therapy -Urban

April 21, 2023

Access Analysis
Occupational Therapy- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Occupational Therapy

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	ıt Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA	479	Occupational	1 in 30 miles	30	16.0	479	100.0		0	0.0	2.1	2.2
Houston, GA		Occupational	1 in 30 miles	35	13.3	465	100.0		0	0.0	1.9	2.3
Muscogee, GA	799	Occupational	1 in 30 miles	37	21.6	799	100.0		0	0.0	1.5	1.7
Troup, GA	223	Occupational	1 in 30 miles	3	74.3	223	100.0		0	0.0	3.5	6.5
Grand Totals	1,966	Occupationa	1 in 30 miles	105	18.7	1,966	100.0		0	0.0	2.0	2.5
© 2023 Quest Analytics 11 C												

Occupational Therapy- Rural

April 21, 2023

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Occupational Therapy

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	162	Occupational	1 in 45 miles	1	162.0	162	100.0	0	0.0	3.1	26.1
Bleckley, GA	30	Occupational	1 in 45 miles	0		30	100.0	0	0.0	21.9	23.1
Chattahoochee, GA	33	Occupational	1 in 45 miles	0		33	100.0	0	0.0	21.4	21.5
Crawford, GA	54	Occupational	1 in 45 miles	0		54		0	0.0	15.3	16.4
Crisp, GA	84	Occupational	1 in 45 miles	4	21.0	84	100.0	0	0.0	2.9	2.9
Dodge, GA	60	Occupational	1 in 45 miles	0			100.0	0	0.0	29.3	30.1
Dooly, GA	73	Occupational	1 in 45 miles	2	36.5	73	100.0	0	0.0	1.4	1.4
Harris, GA	103	Occupational	1 in 45 miles	0		103	100.0	0	0.0	14.1	15.3
Heard, GA	33	Occupational	1 in 45 miles	0		33	100.0	0	0.0	14.3	19.1
Johnson, GA	35	Occupational	1 in 45 miles	1	35.0	35	100.0	0	0.0	7.4	17.6
Jones, GA	188	Occupational	1 in 45 miles	1	188.0	188	100.0	0	0.0	6.8	12.3
Lamar, GA	112	Occupational	1 in 45 miles	0		112	100.0	0	0.0	10.1	11.6
Laurens, GA	209	Occupational	1 in 45 miles	6	34.8	209	100.0	0	0.0	3.9	4.2
Macon, GA	43	Occupational	1 in 45 miles	0		43	100.0	0	0.0	15.4	24.8
Marion, GA	19	Occupational	1 in 45 miles	0		19	100.0	0	0.0	33.3	34.0
Meriwether, GA	80	Occupational	1 in 45 miles	0		80	100.0	0	0.0	19.5	21.9
Monroe, GA	104	Occupational	1 in 45 miles	3	34.7	104	100.0	0	0.0	3.3	7.6
Peach, GA	142	Occupational	1 in 45 miles	3	47.3	142	100.0	0	0.0	8.2	8.8
Pike, GA	75	Occupational	1 in 45 miles	0		75	100.0	0	0.0	15.2	15.5
Pulaski, GA	47	Occupational	1 in 45 miles	0		47	100.0	0	0.0	23.1	23.7
Talbot, GA	9	Occupational	1 in 45 miles	0		9	100.0	0	0.0	23.6	27.6
Taylor, GA	42	Occupational	1 in 45 miles	0		42	100.0	0	0.0	24.9	28.9
Telfair, GA	103	Occupational	1 in 45 miles	0		103	100.0	0	0.0	27.4	32.9
Treutlen, GA	22	Occupational	1 in 45 miles	0		22	100.0	0	0.0	17.8	20.7
Twiggs, GA	60	Occupational	1 in 45 miles	0		60	100.0	0	0.0	9.1	10.4
Upson, GA	130	Occupational	1 in 45 miles	1	130.0	130	100.0	0	0.0	12.6	25.0
Wheeler, GA	11	Occupational	1 in 45 miles	0		11	100.0	0	0.0	17.8	21.1
Wilcox, GA	24	Occupational	1 in 45 miles	0		24	100.0	0	0.0	16.9	19.0
Wilkinson, GA	59	Occupational	1 in 45 miles	0		59	100.0	0	0.0	17.3	21.5
Grand Totals	2 146	Occupationa	1 in 45 miles	22	97.5	2,146	100 0	0	0.0	11.7	16.3
Grand Totals	2,140	Occupationa	1 111 43 1111163		97.5	2,140	100.0	· ·	0.0	11.7	10.3

Physical Therapy - Urban

April 21, 2023

Access Analysis
Physical Therapy- Urban
Member / Provider Groups

Urban Members (CENTRAL_URBAN) Physical Therapy

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	479		1 in 30 miles	45			100.0		0.0	1.9	2.3		
Houston, GA			1 in 30 miles	39		465	100.0	(0.0		2.2		
Muscogee, GA			1 in 30 miles	64			100.0		0.0		1.6		
Troup, GA			1 in 30 miles	7	31.9	223	100.0	(0.0	3.0	5.8		
Grand Totals	1,966	Physical The	1 in 30 miles	155	12.7	1,966	100.0	(0.0	1.8	2.4		

Physical Therapy - Rural

April 21, 2023

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Physical Therapy

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Physical Ther	1 in 45 miles	6	27.0	162	100.0	0	0.0	2.6	3.0	
Bleckley, GA	30	Physical Ther	1 in 45 miles	0		30	100.0	0	0.0	14.7	20.7	
Chattahoochee, GA	33	Physical Ther	1 in 45 miles	0		33	100.0	0	0.0	21.4	21.7	
Crawford, GA	54	Physical Ther	1 in 45 miles	0		54	100.0	0	0.0	16.6	17.4	
Crisp, GA	84	Physical Ther	1 in 45 miles	11	7.6	84	100.0	0	0.0	1.8	1.8	
Dodge, GA	60	Physical Ther	1 in 45 miles	0		60	100.0	0	0.0	20.9	24.7	
Dooly, GA	73	Physical Ther	1 in 45 miles	6	12.2	73	100.0	0	0.0	1.4	1.4	
Harris, GA	103	Physical Ther	1 in 45 miles	1	103.0	103	100.0	0	0.0	11.4	13.1	
Heard, GA	33	Physical Ther	1 in 45 miles	0		33	100.0	0	0.0	16.7	16.7	
Johnson, GA	35	Physical Ther	1 in 45 miles	2	17.5	35	100.0	0	0.0	7.2	7.7	
Jones, GA	188	Physical Ther	1 in 45 miles	0		188	100.0	0	0.0	12.0	12.1	
Lamar, GA	112	Physical Ther	1 in 45 miles	5	22.4	112	100.0	0	0.0	3.6	4.0	
Laurens, GA	209	Physical Ther	1 in 45 miles	10	20.9	209	100.0	0	0.0	4.2	4.2	
Macon, GA	43	Physical Ther	1 in 45 miles	0		43	100.0	0	0.0	22.3	22.7	
Marion, GA	19	Physical Ther	1 in 45 miles	0		19	100.0	0	0.0	28.7	28.8	
Meriwether, GA	80	Physical Ther	1 in 45 miles	4	20.0	80	100.0	0	0.0	13.6	13.7	
Monroe, GA	104	Physical Ther	1 in 45 miles	3	34.7	104	100.0	0	0.0	4.3	4.8	
Peach, GA	142	Physical Ther	1 in 45 miles	1	142.0	142	100.0	0	0.0	8.1	9.9	
Pike, GA	75	Physical Ther	1 in 45 miles	0		75	100.0	0	0.0	11.0	11.6	
Pulaski, GA	47	Physical Ther	1 in 45 miles	1	47.0	47	100.0	0	0.0	3.0	22.2	
Talbot, GA	9	Physical Ther	1 in 45 miles	0		9	100.0	0	0.0	16.2	16.8	
Taylor, GA	42	Physical Ther	1 in 45 miles	0		42	100.0	0	0.0	25.1	29.2	
Telfair, GA	103	Physical Ther	1 in 45 miles	1	103.0	103	100.0	0	0.0	2.4	28.2	
Treutlen, GA	22	Physical Ther	1 in 45 miles	0		22	100.0	0	0.0	20.3	22.1	
Twiggs, GA	60	Physical Ther	1 in 45 miles	0		60	100.0	0	0.0	9.5	9.7	
Upson, GA	130	Physical Ther	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.6	17.8	
Wheeler, GA	11	Physical Ther	1 in 45 miles	0		11	100.0	0	0.0	17.0	20.5	
Wilcox, GA	24	Physical Ther	1 in 45 miles	0		24	100.0	0	0.0	18.4	18.8	
Wilkinson, GA	59	Physical Ther	1 in 45 miles	0		59	100.0	0	0.0	18.4	18.7	
Grand Totals	2,146	Physical The	1 in 45 miles	52	41.3	2,146	100.0	0	0.0	9.0	12.2	
2.2	_,. 10	,,		,,,		_,		J	2.3	5.8		
				L								

Speech Therapy - Urban

April 21, 2023

Access Analysis
SpeechTherapy- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Speech Therapy

	Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Speech Therapy		67	7.1		100.0		0.0	1.7	2.0		
Houston, GA	465	Speech Therapy	1 in 30 miles	69		465	100.0	0			2.2		
Muscogee, GA		Speech Therapy		55			100.0				2.3		
Troup, GA		Speech Therapy		8	27.9	223	100.0	0	0.0	2.6	3.8		
Grand Totals	1,966	Speech Ther	1 in 30 miles	199	9.9	1,966	100.0	0	0.0	2.1	2.4		

Speech Therapy- Rural

April 21, 2023

Access Analysis
Speech Therapy- Rural
Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Speech Therapy

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	162	Speech Therapy	1 in 45 miles	3	54.0	162	100.0	0	0.0	3.0	3.1
Bleckley, GA	30	Speech Therapy	1 in 45 miles	0		30	100.0	0	0.0	12.0	17.6
Chattahoochee, GA	33	Speech Therapy	1 in 45 miles	0		33	100.0	0	0.0	22.6	22.6
Crawford, GA	54	Speech Therapy	1 in 45 miles	0		54	100.0	0	0.0	_	16.4
Crisp, GA	84	Speech Therapy	1 in 45 miles	8	10.5	84	100.0	0	0.0	1.7	1.8
Dodge, GA		Speech Therapy		2	30.0		100.0	0	0.0	8.1	12.6
Dooly, GA	73	Speech Therapy	1 in 45 miles	2	36.5		100.0	0	0.0	1.4	1.4
Harris, GA	103	Speech Therapy	1 in 45 miles	0			100.0	0	0.0	14.5	15.2
Heard, GA		Speech Therapy		0			100.0	0	0.0	13.8	14.2
Johnson, GA		Speech Therapy		1	35.0		100.0	0	0.0	7.4	16.6
Jones, GA	188	Speech Therapy	1 in 45 miles	0		188	100.0	0	0.0	11.3	11.4
Lamar, GA	112	Speech Therapy	1 in 45 miles	1	112.0	112	100.0	0	0.0	3.6	12.3
Laurens, GA	209	Speech Therapy	1 in 45 miles	15	13.9	209	100.0	0	0.0	3.5	3.8
Macon, GA	43	Speech Therapy	1 in 45 miles	0		43	100.0	0	0.0	24.7	25.4
Marion, GA	19	Speech Therapy	1 in 45 miles	0		19	100.0	0	0.0	34.4	34.5
Meriwether, GA	80	Speech Therapy	1 in 45 miles	0		80	100.0	0	0.0	15.8	19.8
Monroe, GA	104	Speech Therapy	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.5	12.1
Peach, GA	142	Speech Therapy	1 in 45 miles	2	71.0	142	100.0	0	0.0	8.8	8.8
Pike, GA	75	Speech Therapy	1 in 45 miles	1	75.0		100.0	0	0.0	7.9	11.7
Pulaski, GA	47	Speech Therapy	1 in 45 miles	0		47	100.0	0	0.0	12.1	19.1
Talbot, GA	9	Speech Therapy	1 in 45 miles	0		9	100.0	0	0.0	20.1	25.2
Taylor, GA	42	Speech Therapy	1 in 45 miles	0		42	100.0	0	0.0	25.4	29.2
Telfair, GA	103	Speech Therapy	1 in 45 miles	1	103.0	103	100.0	0	0.0	2.3	23.5
Treutlen, GA	22	Speech Therapy	1 in 45 miles	0		22	100.0	0	0.0	19.0	19.0
Twiggs, GA	60	Speech Therapy	1 in 45 miles	3	20.0	60	100.0	0	0.0	6.8	7.7
Upson, GA	130	Speech Therapy	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.5	19.2
Wheeler, GA	11	Speech Therapy	1 in 45 miles	0		11	100.0	0	0.0	16.3	18.2
Wilcox, GA	24	Speech Therapy	1 in 45 miles	0		24	100.0	0	0.0	16.5	16.9
Wilkinson, GA	59	Speech Therapy	1 in 45 miles	0		59	100.0	0	0.0	16.0	16.1
Grand Totals	2,146	Speech Ther	1 in 45 miles	41	52.3	2,146	100.0	0	0.0	8.8	12.6
	, -					, -					

Outpatient Radiology Services - Urban

April 21, 2023

Access Analysis

Outpatient Radiology Services-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Outpatient Radiology Services

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	479	Outpatient Ra	1 in 30 miles	274	1.7	479	100.0	0	0.0	1.9	2.0	
Houston, GA			1 in 30 miles	38	12.2		100.0		0.0	1.8		
Muscogee, GA			1 in 30 miles	127	6.3		100.0		0.0			
Troup, GA	223	Outpatient Ra	1 in 30 miles	38	5.9	223	100.0	0	0.0	3.0	3.9	
Grand Totals	1 966	Outpatient R	1 in 30 miles	477	4.1	1 966	100.0	0	0.0	1.7	2.0	
Grana rotais	1,500	Outputient K	i iii oo iiiiics	7//	7.1	1,300	100.0		0.0	1.7	2.0	
© 2023 Quest Analytics, LLC.					-							

Outpatient Radiology Services -Rural

April 21, 2023

Access Analysis

Outpatient Radiology Services-Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Outpatient Radiology Services

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Outpatient Ra	1 in 45 miles	4	40.5	162	100.0	0	0.0	2.4	2.4		
Bleckley, GA	30	Outpatient Ra	1 in 45 miles	53	0.6	30	100.0	0	0.0	3.4	4.8		
Chattahoochee, GA	33	Outpatient Ra	1 in 45 miles	0		33	100.0	0	0.0	17.7	17.8		
Crawford, GA	54	Outpatient Ra	1 in 45 miles	0		54	100.0	0	0.0	17.7	17.7		
Crisp, GA	84	Outpatient Ra	1 in 45 miles	2	42.0	84	100.0	0	0.0	2.4	3.3		
Dodge, GA	60	Outpatient Ra	1 in 45 miles	6	10.0	60	100.0	0	0.0	6.1	6.6		
Dooly, GA	73	Outpatient Ra	1 in 45 miles	0		73	100.0	0	0.0	8.1	10.3		
Harris, GA	103	Outpatient Ra	1 in 45 miles	0		103		0	0.0	12.6	13.2		
Heard, GA	33	Outpatient Ra	1 in 45 miles	0		33	100.0	0	0.0	16.2	16.8		
Johnson, GA	35	Outpatient Ra	1 in 45 miles	0		35	100.0	0	0.0	17.9	18.9		
Jones, GA	188	Outpatient Ra	1 in 45 miles	2	94.0	188	100.0	0	0.0	4.3	4.3		
Lamar, GA	112	Outpatient Ra	1 in 45 miles	8	14.0		100.0	0	0.0	3.1	3.1		
Laurens, GA	209	Outpatient Ra	1 in 45 miles	53	3.9	209	100.0	0	0.0	4.0	4.3		
Macon, GA	43	Outpatient Ra	1 in 45 miles	4	10.8	43	100.0	0	0.0	4.6	4.6		
Marion, GA	19	Outpatient Ra	1 in 45 miles	0		19	100.0	0	0.0	26.4	26.8		
Meriwether, GA	80	Outpatient Ra	1 in 45 miles	21	3.8	80	100.0	0	0.0	10.7	10.8		
Monroe, GA	104	Outpatient Ra	1 in 45 miles	9	11.6	104	100.0	0	0.0	4.2	4.2		
Peach, GA	142	Outpatient Ra	1 in 45 miles	48	3.0	142	100.0	0	0.0	8.4	8.5		
Pike, GA	75	Outpatient Ra	1 in 45 miles	0		75	100.0	0	0.0	11.6	11.6		
Pulaski, GA	47	Outpatient Ra	1 in 45 miles	62	0.8	47	100.0	0	0.0	2.8	2.8		
Talbot, GA	9	Outpatient Ra	1 in 45 miles	0		9	100.0	0	0.0	18.5	18.5		
Taylor, GA	42	Outpatient Ra	1 in 45 miles	0		42	100.0	0	0.0	24.5	24.6		
Telfair, GA	103	Outpatient Ra	1 in 45 miles	10	10.3	103	100.0	0	0.0	6.2	6.2		
Treutlen, GA	22	Outpatient Ra	1 in 45 miles	0		22	100.0	0	0.0	15.8	16.0		
Twiggs, GA	60	Outpatient Ra	1 in 45 miles	0		60	100.0	0	0.0	8.0	8.7		
Upson, GA		Outpatient Ra	1 in 45 miles	5	26.0	130	100.0	0	0.0	3.1	3.8		
Wheeler, GA	11	Outpatient Ra	1 in 45 miles	3	3.7	11	100.0	0	0.0	7.0	7.0		
Wilcox, GA	24	Outpatient Ra	1 in 45 miles	0		24	100.0	0	0.0	18.1	19.1		
Wilkinson, GA	59	Outpatient Ra	1 in 45 miles	0		59	100.0	0	0.0	19.5	19.5		
Grand Totals	2.146	Outpatient R	1 in 45 miles	290	7.4	2,146	100.0	0	0.0	7.7	8.0		
Granu i otais	2,146	Outpatient K	i iii 45 iiiiles	290	7.4	2, 146	100.0	U	0.0	1.1	0.0		
© 2023 Quest Analytics, LLC.													



Amerigroup Community Care-Behavioral Health Providers

Access Analysis
Central

April 21, 2023

Behavioral Health - Urban

April 21, 2023

Access Analysis
Behavioral Health- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Behavioral Health

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA			1 in 30 miles	250			100.0	0		0.8	1.1	
Houston, GA			1 in 30 miles	141			100.0	0	0.0	1.3		
Muscogee, GA			1 in 30 miles	358			100.0		0.0			
Troup, GA	223	Behavioral He	1 in 30 miles	59	3.8	223	100.0	0	0.0	2.2	3.0	
Grand Totals	1,966	Behavioral H	1 in 30 miles	808	2.4	1,966	100.0	0	0.0	1.0	1.3	
© 2023 Quest Analytics, LLC.												

Behavioral Health - Rural

April 21, 2023

Access Analysis
Behavioral Health- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Behavioral Health

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Behavioral He	1 in 45 miles	70	2.3	162	100.0	0	0.0	1.2	1.3		
Bleckley, GA	30	Behavioral He	1 in 45 miles	1	30.0	30	100.0	0	0.0	4.8	13.8		
Chattahoochee, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	15.4	16.6		
Crawford, GA	54	Behavioral He	1 in 45 miles	0		54	100.0	0	0.0	11.9	13.9		
Crisp, GA	84	Behavioral He	1 in 45 miles	6	14.0	84		0	0.0	1.9	2.1		
Dodge, GA		Behavioral He	1 in 45 miles	5	12.0		100.0	0	0.0	5.4	6.4		
Dooly, GA	73	Behavioral He	1 in 45 miles	2	36.5	73	100.0	0	0.0	0.6	7.9		
Harris, GA	103	Behavioral He	1 in 45 miles	14	7.4	103	100.0	0	0.0	4.4	5.2		
Heard, GA	33	Behavioral He	1 in 45 miles	3	11.0	33	100.0	0	0.0	3.4	7.7		
Johnson, GA	35	Behavioral He	1 in 45 miles	1	35.0		100.0	0	0.0	7.2	16.6		
Jones, GA	188	Behavioral He	1 in 45 miles	11	17.1	188	100.0	0	0.0	2.8	3.2		
Lamar, GA	112	Behavioral He	1 in 45 miles	25	4.5	112	100.0	0	0.0	2.3	2.9		
Laurens, GA	209	Behavioral He	1 in 45 miles	28	7.5	209	100.0	0	0.0	2.5	3.3		
Macon, GA	43	Behavioral He	1 in 45 miles	8	5.4	43	100.0	0	0.0	4.3	4.4		
Marion, GA	19	Behavioral He	1 in 45 miles	1	19.0	19	100.0	0	0.0	7.2	23.4		
Meriwether, GA	80	Behavioral He	1 in 45 miles	7	11.4	80	100.0	0	0.0	2.5	2.9		
Monroe, GA	104	Behavioral He	1 in 45 miles	4	26.0	104	100.0	0	0.0	3.9	4.7		
Peach, GA	142	Behavioral He	1 in 45 miles	10	14.2	142	100.0	0	0.0	2.5	2.8		
Pike, GA	75	Behavioral He	1 in 45 miles	21	3.6	75	100.0	0	0.0	4.2	4.5		
Pulaski, GA	47	Behavioral He	1 in 45 miles	3	15.7	47	100.0	0	0.0	1.9	2.8		
Talbot, GA	9	Behavioral He	1 in 45 miles	7	1.3	9	100.0	0	0.0	9.3	9.5		
Taylor, GA	42	Behavioral He	1 in 45 miles	2	21.0	42	100.0	0	0.0	3.9	10.9		
Telfair, GA	103	Behavioral He	1 in 45 miles	2	51.5	103	100.0	0	0.0	2.5	6.7		
Treutlen, GA	22	Behavioral He	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	18.4		
Twiggs, GA	60	Behavioral He	1 in 45 miles	4	15.0	60	100.0	0	0.0	4.1	5.1		
Upson, GA	130	Behavioral He	1 in 45 miles	13	10.0	130	100.0	0	0.0	2.7	3.2		
Wheeler, GA	11	Behavioral He	1 in 45 miles	0		11	100.0	0	0.0	12.9	16.4		
Wilcox, GA	24	Behavioral He	1 in 45 miles	0		24	100.0	0	0.0	15.8	18.1		
Wilkinson, GA	59	Behavioral He	1 in 45 miles	2	29.5	59	100.0	0	0.0	2.5	11.6		
Grand Totals	2,146	Behavioral H	1 in 45 miles	251	8.5	2,146	100.0	0	0.0	3.6	5.6		
	·												

Behavioral Health Facilities - Urban

April 21, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Behavioral Health Facilities

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	479	Behavioral He	1 in 30 miles	36	13.3	479	100.0		0.0	1.9	2.1			
Houston, GA	465	Behavioral He	1 in 30 miles	24	19.4	465	100.0		0.0	3.4	4.4			
Muscogee, GA	799	Behavioral He	1 in 30 miles	110	7.3		100.0		0.0	1.1	1.2			
Troup, GA	223	Behavioral He	1 in 30 miles	5	44.6	223	100.0		0.0	3.7	3.8			
Grand Totals	1,966	Behavioral H	1 in 30 miles	175	11.2	1,966	100.0		0.0	2.1	2.5			
© 2023 Quest Analytics 11 C														

Behavioral Health Facilities - Rural

April 21, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Behavioral Health Facilities

Members With and Without Access Member Provider Counts Batic Members With Access Without Access Average Distance													
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Behavioral He	1 in 45 miles	12	13.5	162	100.0	0	0.0	2.5	3.6		
Bleckley, GA	30	Behavioral He	1 in 45 miles	0		30	100.0	0	0.0	18.8	23.3		
Chattahoochee, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	19.9	20.2		
Crawford, GA	54	Behavioral He	1 in 45 miles	0		54	100.0	0	0.0	12.6	14.0		
Crisp, GA	84	Behavioral He	1 in 45 miles	0		84	100.0	0	0.0	24.5	30.3		
Dodge, GA	60	Behavioral He	1 in 45 miles	0		60	100.0	0	0.0	22.7	27.9		
Dooly, GA	73	Behavioral He	1 in 45 miles	0		73	100.0	0	0.0	25.3	27.1		
Harris, GA	103	Behavioral He	1 in 45 miles	4	25.8	103	100.0	0	0.0	7.9	9.9		
Heard, GA	33	Behavioral He	1 in 45 miles	0		33	100.0	0	0.0	17.0	18.0		
Johnson, GA	35	Behavioral He	1 in 45 miles	0		35	100.0	0	0.0	18.5	24.3		
Jones, GA	188	Behavioral He	1 in 45 miles	1	188.0	188	100.0	0	0.0	4.8	12.0		
Lamar, GA	112	Behavioral He	1 in 45 miles	4	28.0	112	100.0	0	0.0	3.2	3.5		
Laurens, GA	209	Behavioral He	1 in 45 miles	2	104.5	209	100.0	0	0.0	3.7	9.4		
Macon, GA	43	Behavioral He	1 in 45 miles	0		43	100.0	0	0.0	18.9	21.7		
Marion, GA	19	Behavioral He	1 in 45 miles	0		19	100.0	0	0.0	24.8	27.1		
Meriwether, GA	80	Behavioral He	1 in 45 miles	3	26.7	80	100.0	0	0.0	3.0	10.9		
Monroe, GA	104	Behavioral He	1 in 45 miles	1	104.0	104	100.0	0	0.0	4.8	12.6		
Peach, GA	142	Behavioral He	1 in 45 miles	4	35.5	142	100.0	0	0.0	3.8	4.1		
Pike, GA	75	Behavioral He	1 in 45 miles	1	75.0	75	100.0	0	0.0	6.9	12.7		
Pulaski, GA	47	Behavioral He	1 in 45 miles	0		47	100.0	0	0.0	25.5	26.4		
Talbot, GA	9	Behavioral He	1 in 45 miles	1	9.0	9	100.0	0	0.0	10.2	15.2		
Taylor, GA	42	Behavioral He	1 in 45 miles	1	42.0	42	100.0	0	0.0	10.1	20.4		
Telfair, GA	103	Behavioral He	1 in 45 miles	1	103.0	103	100.0	0	0.0	3.1	27.6		
Treutlen, GA	22	Behavioral He	1 in 45 miles	0		22	100.0	0	0.0	21.1	26.9		
Twiggs, GA	60	Behavioral He	1 in 45 miles	1	60.0	60	100.0	0	0.0	6.1	8.5		
Upson, GA	130	Behavioral He	1 in 45 miles	0		130	100.0	0	0.0	9.7	17.8		
Wheeler, GA	11	Behavioral He	1 in 45 miles	0		11	100.0	0	0.0	17.1	21.2		
Wilcox, GA	24	Behavioral He	1 in 45 miles	0		24	100.0	0	0.0	22.5	28.4		
Wilkinson, GA	59	Behavioral He	1 in 45 miles	0		59	100.0	0	0.0	16.1	18.2		
Grand Totals	2,146	Behavioral H	1 in 45 miles	36	59.6	2,146	100.0	0	0.0	9.6	14.7		
				I									

Community Service Boards - Urban

April 21, 2023

Access Analysis

Community Service Boards-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Community Service Boards

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2		
Bibb, GA	479	Community S	1 in 30 miles	10	47.9		100.0		0	0.0	2.7	2.8		
Houston, GA			1 in 30 miles	2	232.5	465	100.0		0	0.0	6.2	8.3		
Muscogee, GA			1 in 30 miles	14	57.1	799	100.0		0	0.0	1.1	1.4		
Troup, GA			1 in 30 miles	3	74.3		100.0		0	0.0	6.1	6.1		
Grand Totals	1,966	Community	1 in 30 miles	29	67.8	1,966	100.0		0	0.0	3.3	3.9		
© 2023 Quest Analytics 11 C														

Community Service Boards - Rural

April 21, 2023

Access Analysis

Community Service Boards-Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Community Service Boards

Members With and Without Access Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Community S	1 in 45 miles	11	14.7	162	100.0	0	0.0	2.9	3.2	
Bleckley, GA	30	Community S	1 in 45 miles	0		30	100.0	0	0.0	14.3	18.2	
Chattahoochee, GA	33	Community S	1 in 45 miles	0		33	100.0	0	0.0	17.7	17.7	
Crawford, GA	54	Community S	1 in 45 miles	0		54	100.0	0	0.0	14.5	15.2	
Crisp, GA	84	Community S	1 in 45 miles	0		84	100.0	0	0.0	22.6	36.1	
Dodge, GA	60	Community S	1 in 45 miles	1	60.0	60	100.0	0	0.0	6.6	21.8	
Dooly, GA	73	Community S	1 in 45 miles	0		73	100.0	0	0.0	29.2	30.0	
Harris, GA	103	Community S	1 in 45 miles	3	34.3	103	100.0	0	0.0	10.0	10.2	
Heard, GA	33	Community S	1 in 45 miles	0		33	100.0	0	0.0	17.6	17.6	
Johnson, GA	35	Community S	1 in 45 miles	0		35	100.0	0	0.0	17.8	19.9	
Jones, GA	188	Community S	1 in 45 miles	0		188	100.0	0	0.0	9.4	9.5	
Lamar, GA	112	Community S	1 in 45 miles	8	14.0	112	100.0	0	0.0	2.4	3.3	
Laurens, GA	209	Community S	1 in 45 miles	2	104.5	209	100.0	0	0.0	5.1	5.1	
Macon, GA	43	Community S	1 in 45 miles	0		43	100.0	0	0.0	25.4	34.0	
Marion, GA	19	Community S	1 in 45 miles	0		19	100.0	0	0.0	24.9	24.9	
Meriwether, GA	80	Community S	1 in 45 miles	1	80.0	80	100.0	0	0.0	3.4	14.2	
Monroe, GA	104	Community S	1 in 45 miles	2	52.0	104	100.0	0	0.0	5.3	5.6	
Peach, GA	142	Community S	1 in 45 miles	2	71.0	142	100.0	0	0.0	2.9	11.5	
Pike, GA	75	Community S	1 in 45 miles	0		75	100.0	0	0.0	10.0	11.8	
Pulaski, GA	47	Community S	1 in 45 miles	1	47.0	47	100.0	0	0.0	2.4	21.1	
Talbot, GA	9	Community S	1 in 45 miles	5	1.8	9	100.0	0	0.0	10.5	10.8	
Taylor, GA	42	Community S	1 in 45 miles	0		42	100.0	0	0.0	20.5	23.7	
Telfair, GA	103	Community S	1 in 45 miles	0		103	100.0	0	0.0	23.8	32.9	
Treutlen, GA		Community S	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	27.5	
Twiggs, GA	60	Community S	1 in 45 miles	2	30.0	60	100.0	0	0.0	6.1	6.3	
Upson, GA	130	Community S	1 in 45 miles	1	130.0	130	100.0	0	0.0	3.9	18.2	
Wheeler, GA	11	Community S	1 in 45 miles	0		11	100.0	0	0.0	18.5	29.0	
Wilcox, GA	24	Community S	1 in 45 miles	0		24	100.0	0	0.0	20.4	23.0	
Wilkinson, GA		Community S	1 in 45 miles	0		59	100.0	0	0.0	14.8	14.8	
		_										
Grand Totals	2,146	Community	1 in 45 miles	40	53.7	2,146	100.0	0	0.0	10.1	14.6	

Psychiatric Residential Treatment Facilities - Urban

April 21, 2023

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Psychiatric Residential Treatment Facilities(PRTFs)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	479	Psychiatric R	1 in 30 miles	0		0	0.0		100.0		101.8
Houston, GA		Psychiatric R	1 in 30 miles	0		0			100.0		115.6
Muscogee, GA			1 in 30 miles	0		0			100.0		107.4
Troup, GA	223	Psychiatric R	1 in 30 miles	0		0	0.0	223	100.0	72.0	72.0
Grand Totals	1,966	Psychiatric	1 in 30 miles	0		0	0.0	1,966	100.0	103.8	104.0
© 2023 Quest Analytics 11 C											

Psychiatric Residential Treatment Facilities - Rural

April 21, 2023

Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL)

Psychiatric Residential Treatment Facilities(PRTFs)

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Psychiatric R	1 in 45 miles	0		0	0.0	162	100.0	76.2	106.0		
Bleckley, GA	30	Psychiatric R	1 in 45 miles	0		0	0.0	30	100.0	112.0	134.0		
Chattahoochee, GA	33	Psychiatric R	1 in 45 miles	0		0	0.0	33	100.0	118.4	118.4		
Crawford, GA	54	Psychiatric R	1 in 45 miles	0		0	0.0	54	100.0	97.5	97.5		
Crisp, GA	84	Psychiatric R	1 in 45 miles	0		0	0.0	84	100.0	147.9	151.2		
Dodge, GA	60	Psychiatric R	1 in 45 miles	0		0	0.0	60	100.0	116.4	155.6		
Dooly, GA	73	Psychiatric R	1 in 45 miles	0		0	0.0	73	100.0	141.4	142.4		
Harris, GA	103	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	89.9	89.9		
Heard, GA	33	Psychiatric R	1 in 45 miles	0		0	0.0	33	100.0	63.6	63.6		
Johnson, GA	35	Psychiatric R	1 in 45 miles	0		0	0.0			73.9	148.2		
Jones, GA	188	Psychiatric R	1 in 45 miles	0		0	0.0	188	100.0	94.5	101.8		
Lamar, GA	112	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	72.2	72.2		
Laurens, GA	209	Psychiatric R	1 in 45 miles	0		0	0.0	209	100.0	89.0	144.0		
Macon, GA	43	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	123.3	123.3		
Marion, GA		Psychiatric R	1 in 45 miles	0		0	0.0	19	100.0	117.7	117.7		
Meriwether, GA		Psychiatric R	1 in 45 miles	0		0	0.0	80	100.0	67.8	67.8		
Monroe, GA	104	Psychiatric R	1 in 45 miles	0		0	0.0	-		82.7	82.7		
Peach, GA	142	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	108.7	108.7		
Pike, GA	75	Psychiatric R	1 in 45 miles	0		0	0.0		100.0	65.6	65.6		
Pulaski, GA		Psychiatric R	1 in 45 miles	0		0	0.0	47	100.0	122.8	138.0		
Talbot, GA	9	Psychiatric R	1 in 45 miles	0		0	0.0	9	100.0	94.9	94.9		
Taylor, GA	42	Psychiatric R	1 in 45 miles	0		0	0.0	42	100.0	103.4	103.4		
Telfair, GA		Psychiatric R	1 in 45 miles	0		0	0.0		100.0	112.0	171.1		
Treutlen, GA		Psychiatric R	1 in 45 miles	0		0	0.0		100.0	85.9	165.8		
Twiggs, GA	60	Psychiatric R	1 in 45 miles	0		0	0.0	60	100.0	100.3	110.6		
Upson, GA		Psychiatric R	1 in 45 miles	0		0	0.0	130	100.0	78.3	78.3		
Wheeler, GA		Psychiatric R	1 in 45 miles	0		0	0.0	11	100.0	98.8	169.2		
Wilcox, GA		Psychiatric R	1 in 45 miles	0		0	0.0	24	100.0	132.0	160.5		
Wilkinson, GA	59	Psychiatric R…	1 in 45 miles	0		0	0.0	59	100.0	85.7	119.5		
Grand Totals	2,146	Psychiatric	1 in 45 miles	0		0	0.0	2,146	100.0	95.4	112.4		
	_,	,				·		_,76		00.1			
© 2023 Quest Analytics 11 C				l									

Psychologists - Urban

April 21, 2023

Access Analysis
Psychologists- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Psychologists

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA	479	Psychologists	1 in 30 miles	18	26.6	479	100.0	(0.0	2.5	2.5			
Houston, GA	465	Psychologists	1 in 30 miles	4	116.3	465	100.0		0.0	4.4	6.1			
Muscogee, GA	799	Psychologists	1 in 30 miles	22	36.3	799	100.0	(0.0	1.4	1.8			
Troup, GA	223	Psychologists	1 in 30 miles	2	111.5	223	100.0	(0.0	3.8	4.3			
Grand Totals	1,966	Psychologists	1 in 30 miles	46	42.7	1,966	100.0		0.0	2.7	3.3			
© 2023 Quest Analytics 11 C							l		1					

Psychologists - Rural

April 21, 2023

Access Analysis
Psychologists- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)

Psychologists

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Psychologists	1 in 45 miles	2	81.0	162	100.0	0	0.0	3.0	3.0		
Bleckley, GA	30	Psychologists	1 in 45 miles	0		30	100.0	0	0.0	26.2	26.2		
Chattahoochee, GA	33	Psychologists	1 in 45 miles	0		33	100.0	0	0.0	20.8	21.3		
Crawford, GA	54	Psychologists	1 in 45 miles	0		54	100.0	0	0.0	21.4	21.6		
Crisp, GA	84	Psychologists	1 in 45 miles	0		84	100.0	0	0.0	28.8	29.0		
Dodge, GA	60	Psychologists	1 in 45 miles	0		18	30.0	42	70.0	46.0	49.4		
Dooly, GA	73	Psychologists	1 in 45 miles	0		73	100.0	0	0.0	24.8	24.8		
Harris, GA	103	Psychologists	1 in 45 miles	1	103.0	103	100.0	0	0.0	14.4	15.7		
Heard, GA	33	Psychologists	1 in 45 miles	0		33	100.0	0	0.0	17.1	18.7		
Johnson, GA	35	Psychologists	1 in 45 miles	0		16	45.7	19	54.3	45.9	51.5		
Jones, GA	188	Psychologists	1 in 45 miles	0		188	100.0	0	0.0	12.1	12.3		
Lamar, GA	112	Psychologists	1 in 45 miles	0		112	100.0	0	0.0	12.8	13.1		
Laurens, GA	209	Psychologists	1 in 45 miles	0		159	76.1	50	23.9	42.8	43.0		
Macon, GA	43	Psychologists	1 in 45 miles	0		43	100.0	0	0.0	21.4	21.5		
Marion, GA	19	Psychologists	1 in 45 miles	0		19	100.0	0	0.0	29.1	29.4		
Meriwether, GA	80	Psychologists	1 in 45 miles	0		80	100.0	0	0.0	20.2	20.4		
Monroe, GA	104	Psychologists	1 in 45 miles	0		104	100.0	0	0.0	18.5	18.7		
Peach, GA	142	Psychologists	1 in 45 miles	0		142	100.0	0	0.0	12.9	15.1		
Pike, GA	75	Psychologists	1 in 45 miles	2	37.5	75	100.0	0	0.0	6.0	6.1		
Pulaski, GA	47	Psychologists	1 in 45 miles	0		47	100.0	0	0.0	27.1	27.1		
Talbot, GA	9	Psychologists	1 in 45 miles	0		9	100.0	0	0.0	24.2	25.4		
Taylor, GA	42	Psychologists	1 in 45 miles	0		42	100.0	0	0.0	31.6	32.4		
Telfair, GA	103	Psychologists	1 in 45 miles	0		0	0.0	103	100.0	59.0	63.4		
Treutlen, GA	22	Psychologists	1 in 45 miles	0		22	100.0	0	0.0	32.6	49.5		
Twiggs, GA	60	Psychologists	1 in 45 miles	0		60	100.0	0	0.0	9.5	9.9		
Upson, GA	130	Psychologists	1 in 45 miles	0		130	100.0	0	0.0	15.0	15.0		
Wheeler, GA	11	Psychologists	1 in 45 miles	0		6	54.5	5	45.5	45.2	59.9		
Wilcox, GA	24	Psychologists	1 in 45 miles	0		24	100.0	0	0.0	37.3	48.5		
Wilkinson, GA	59	Psychologists	1 in 45 miles	0		59	100.0	0	0.0	20.8	20.9		
				_									
Grand Totals	2,146	Psychologists	1 in 45 miles	5	429.2	1,927	89.8	219	10.2	22.6	23.7		

Psychiatrists - Urban

April 21, 2023

Access Analysis
Psychiatry- Urban

Member / Provider Groups
Urban Members
(CENTRAL_URBAN)
Psychiatry

County # Bibb, GA 479	Group Psychiatry Psychiatry	ovider Standard	Counts	Ratio Members	With Acc	ess	Without	t Ac	cess	Average	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
-	Psychiatry	Standard								ittolago .	Distance													
Bibb. GA 479			#	to Providers	#	%	#		%	1	2													
	Dovobiotry	1 in 30 miles	58	8.3		100.0		0	0.0	1.3	2.3													
		1 in 30 miles	20	23.3		100.0		0	0.0	3.8	5.0													
	Psychiatry	1 in 30 miles	20	40.0		100.0		0	0.0	2.0	2.0													
Troup, GA 223	Psychiatry	1 in 30 miles	17	13.1	223	100.0		0	0.0	3.7	4.1													
Grand Totals 1,966	Psychiatry	1 in 30 miles	115	17.1	1,966	100.0		0	0.0	2.4	3.0													
								- 1																
								- 1																
								- 1																
								- 1																
								- 1																
								- 1																
								- 1																
								-1																
								-1																

Psychiatrists - Rural

April 21, 2023

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members
(CENTRAL_RURAL)
Psychiatry

	Members With and Without Access											
	Member		Provider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Psychiatry	1 in 45 miles	26	6.2	162	100.0	0	0.0	2.2	3.1	
Bleckley, GA	30	Psychiatry	1 in 45 miles	0		30	100.0	0	0.0	-	27.6	
Chattahoochee, GA	33	Psychiatry	1 in 45 miles	0		33	100.0	0	0.0	16.0	22.2	
Crawford, GA	54	Psychiatry	1 in 45 miles	0		54	100.0	0	0.0		17.6	
Crisp, GA	84	Psychiatry	1 in 45 miles	0		84	100.0	0	0.0		30.6	
Dodge, GA		Psychiatry	1 in 45 miles	0			100.0	0	0.0		34.6	
Dooly, GA	73	Psychiatry	1 in 45 miles	0		73	100.0	0	0.0	25.6	26.2	
Harris, GA	103	Psychiatry	1 in 45 miles	0		103	100.0	0	0.0		15.5	
Heard, GA	33	Psychiatry	1 in 45 miles	0		33		0	0.0	16.8	17.0	
Johnson, GA	35	Psychiatry	1 in 45 miles	0		35	100.0	0	0.0	18.2		
Jones, GA	188	Psychiatry	1 in 45 miles	1	188.0	188	100.0	0	0.0	4.0	12.0	
Lamar, GA	112	Psychiatry	1 in 45 miles	0			100.0	0	0.0		16.2	
Laurens, GA	209	Psychiatry	1 in 45 miles	1	209.0	209	100.0	0	0.0	4.5	33.0	
Macon, GA	43	Psychiatry	1 in 45 miles	7	6.1	43	100.0	0	0.0	4.5	4.6	
Marion, GA		Psychiatry	1 in 45 miles	1	19.0	19	100.0	0	0.0	7.2	25.6	
Meriwether, GA	80	Psychiatry	1 in 45 miles	0		80	100.0	0	0.0	_	18.8	
Monroe, GA	104	Psychiatry	1 in 45 miles	0		104	100.0	0	0.0	15.9	16.2	
Peach, GA	142	Psychiatry	1 in 45 miles	0		142	100.0	0	0.0		11.4	
Pike, GA		Psychiatry	1 in 45 miles	0		75	100.0	0	0.0	11.8	12.5	
Pulaski, GA	47	Psychiatry	1 in 45 miles	0		47	100.0	0	0.0	25.9	28.5	
Talbot, GA	9	Psychiatry	1 in 45 miles	0		9	100.0	0	0.0	16.4	19.6	
Taylor, GA	42	Psychiatry	1 in 45 miles	1	42.0	42	100.0	0	0.0	4.9	23.1	
Telfair, GA	103	Psychiatry	1 in 45 miles	0		103	100.0	0	0.0	27.6	27.8	
Treutlen, GA	22	Psychiatry	1 in 45 miles	0		22	100.0	0	0.0	21.1	26.3	
Twiggs, GA	60	Psychiatry	1 in 45 miles	0		60	100.0	0	0.0	8.5	9.0	
Upson, GA	130	Psychiatry	1 in 45 miles	3	43.3	130	100.0	0	0.0	3.8	3.9	
Wheeler, GA	11	Psychiatry	1 in 45 miles	0		11	100.0	0	0.0	19.7	25.1	
Wilcox, GA	24	Psychiatry	1 in 45 miles	0		24	100.0	0	0.0	23.5	29.1	
Wilkinson, GA	59	Psychiatry	1 in 45 miles	0		59	100.0	0	0.0	16.8	18.8	
Grand Totals	2,146	Psychiatry	1 in 45 miles	40	53.7	2,146	100.0	0	0.0	13.1	18.2	
	_,. 10	_ , ,			33.1	_,		· ·	2.3			

Autism Spectrum Disorder Treatment Provider - Urban

April 21, 2023

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Autism Spectrum Disorder(ASD) Treatment Provider

	Members With and Without Access												
	Member Provider		ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	479	Autism Spectr	1 in 30 miles	54	8.9	479	100.0	0	0.0	2.6	2.7		
Houston, GA		Autism Spectr	1 in 30 miles	38	12.2		100.0	0	0.0				
Muscogee, GA			1 in 30 miles	213			100.0		0.0				
Troup, GA	223	Autism Spectr	1 in 30 miles	6	37.2	223	100.0	0	0.0	3.8	3.8		
Grand Totals	1 066	Autism Spec	1 in 30 miles	311	6.3	1 066	100.0	0	0.0	2.7	2.9		
Grand Totals	1,900	Autisiii Spec	1 in 30 miles	311	6.3	1,900	100.0	U	0.0	2.7	2.9		
© 2023 Quest Analytics, LLC.		l				1							

Autism Spectrum Disorder Treatment Provider -Rural

April 21, 2023

Access Analysis

Autism Spectrum
Disorder(ASD) Treatment
Provider- Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Autism Spectrum Disorder(ASD) Treatment Provider

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	162	Autism Spectr	1 in 45 miles	21	7.7	162	100.0	0	0.0	3.1	3.1	
Bleckley, GA	30	Autism Spectr	1 in 45 miles	0		30	100.0	0	0.0	24.1	24.1	
Chattahoochee, GA	33	Autism Spectr	1 in 45 miles	0		33	100.0	0	0.0	20.0	20.0	
Crawford, GA	54	Autism Spectr	1 in 45 miles	0		54	100.0	0	0.0	21.2	21.2	
Crisp, GA	84	Autism Spectr	1 in 45 miles	0		84	100.0	0	0.0		36.6	
Dodge, GA	60	Autism Spectr	1 in 45 miles	0		60		0	0.0		26.8	
Dooly, GA	73	Autism Spectr	1 in 45 miles	0		73	100.0	0	0.0	37.6	37.8	
Harris, GA	103	Autism Spectr	1 in 45 miles	4	25.8		100.0	0	0.0	_	10.2	
Heard, GA	33	Autism Spectr	1 in 45 miles	0		33	100.0	0	0.0		17.6	
Johnson, GA	35	Autism Spectr	1 in 45 miles	0			100.0	0	0.0		26.2	
Jones, GA	188	Autism Spectr	1 in 45 miles	0		188	100.0	0	0.0		12.2	
Lamar, GA	112	Autism Spectr	1 in 45 miles	0		112		0	0.0		24.7	
Laurens, GA	209	Autism Spectr	1 in 45 miles	2	104.5	209	100.0	0	0.0	9.0	9.0	
Macon, GA	43	Autism Spectr	1 in 45 miles	0			100.0	0	0.0		38.7	
Marion, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0		32.6	
Meriwether, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0	19.3	19.3	
Monroe, GA	104	Autism Spectr	1 in 45 miles	0			100.0	0	0.0		18.0	
Peach, GA		Autism Spectr	1 in 45 miles	0		142		0	0.0		12.1	
Pike, GA	75	Autism Spectr	1 in 45 miles	0			100.0	0	0.0		22.6	
Pulaski, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0	_	27.6	
Talbot, GA		Autism Spectr	1 in 45 miles	0		9	100.0	0	0.0		20.6	
Taylor, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0		32.0	
Telfair, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0		27.4	
Treutlen, GA	22	Autism Spectr	1 in 45 miles	0			100.0	0	0.0	-	20.7	
Twiggs, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0	9.3	9.3	
Upson, GA	130	Autism Spectr	1 in 45 miles	0		130	100.0	0	0.0		33.9	
Wheeler, GA	11	Autism Spectr	1 in 45 miles	0		11	100.0	0	0.0		19.3	
Wilcox, GA		Autism Spectr	1 in 45 miles	0			100.0	0	0.0	_	23.2	
Wilkinson, GA	59	Autism Spectr	1 in 45 miles	0		59	100.0	0	0.0	18.1	18.1	
Grand Totals	2,146	Autism Spec	1 in 45 miles	27	79.5	2,146	100.0	0	0.0	19.5	19.6	
© 2023 Quest Analytics 11 C												

Narcotic Treatment Program- Urban

April 21, 2023

Access Analysis

Narcotic Treatment Program-Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Narcotic Treatment Program

	Members With and Without Access												
	Member Provid		ovider	Counts	Ratio Members	With Acc	ess	Without Ac	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	6	79.8		100.0	0		2.6	3.9		
Houston, GA			1 in 30 miles	0		463		2	0.4	19.5	20.4		
Muscogee, GA			1 in 30 miles	2		799	100.0				5.6		
Troup, GA	223	Narcotic Treat	1 in 30 miles	0		1	0.4	222	99.6	37.6	41.4		
Grand Totals	1 966	Narcotic Tre	1 in 30 miles	8	245.8	1,742	88.6	224	11.4	10.9	12.8		
Grana rotais	1,300	Narconc IIc	i iii oo iiiiics	ľ	240.0	1,772	00.0	227	11.4	10.5	12.0		
© 2023 Quest Analytics, LLC.		•		•									

Narcotic Treatment Program - Rural

April 21, 2023

Access Analysis

Narcotic Treatment Program-Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Narcotic Treatment Program

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Narcotic Treat	1 in 45 miles	1	162.0	162	100.0	0	0.0	3.7	31.2		
Bleckley, GA	30	Narcotic Treat	1 in 45 miles	0		30	100.0	0	0.0	18.9	40.1		
Chattahoochee, GA	33	Narcotic Treat	1 in 45 miles	0		33	100.0	0	0.0	22.2	24.0		
Crawford, GA	54	Narcotic Treat	1 in 45 miles	0		54	100.0	0	0.0	15.5	18.8		
Crisp, GA	84	Narcotic Treat	1 in 45 miles	0		0	0.0	84	100.0	59.2	62.1		
Dodge, GA	60	Narcotic Treat	1 in 45 miles	0		46	76.7	14	23.3	40.5	61.1		
Dooly, GA	73	Narcotic Treat	1 in 45 miles	0		0	0.0	73	100.0	50.4	53.5		
Harris, GA	103	Narcotic Treat	1 in 45 miles	0		103	100.0	0	0.0	21.6	25.6		
Heard, GA	33	Narcotic Treat	1 in 45 miles	0		26	78.8	7	21.2	42.6	51.8		
Johnson, GA	35	Narcotic Treat	1 in 45 miles	0		28	80.0	7	20.0	39.4	53.2		
Jones, GA	188	Narcotic Treat	1 in 45 miles	0		188	100.0	0	0.0	12.4	13.2		
Lamar, GA	112	Narcotic Treat	1 in 45 miles	0		112	100.0	0	0.0	15.0	35.1		
Laurens, GA	209	Narcotic Treat	1 in 45 miles	0		206	98.6	3	1.4	30.7	48.0		
Macon, GA	43	Narcotic Treat	1 in 45 miles	0		16	37.2	27	62.8	45.2	48.7		
Marion, GA	19	Narcotic Treat	1 in 45 miles	0		19	100.0	0	0.0	34.3	35.8		
Meriwether, GA	80	Narcotic Treat	1 in 45 miles	0		80	100.0	0	0.0	35.9	42.3		
Monroe, GA	104	Narcotic Treat	1 in 45 miles	1	104.0	104	100.0	0	0.0	5.6	24.2		
Peach, GA	142	Narcotic Treat	1 in 45 miles	0		142	100.0	0	0.0	18.8	22.7		
Pike, GA	75	Narcotic Treat	1 in 45 miles	0		75	100.0	0	0.0	24.2	30.7		
Pulaski, GA	47	Narcotic Treat	1 in 45 miles	0		47	100.0	0	0.0	31.7	41.7		
Talbot, GA	9	Narcotic Treat	1 in 45 miles	0		9	100.0	0	0.0	29.0	32.6		
Taylor, GA	42	Narcotic Treat	1 in 45 miles	0		42	100.0	0	0.0	37.6	39.1		
Telfair, GA	103	Narcotic Treat	1 in 45 miles	0		0	0.0	103	100.0	57.7	76.3		
Treutlen, GA	22	Narcotic Treat	1 in 45 miles	0		0	0.0	22	100.0	53.7	70.5		
Twiggs, GA	60	Narcotic Treat	1 in 45 miles	1	60.0	60	100.0	0	0.0	6.5	11.7		
Upson, GA	130	Narcotic Treat	1 in 45 miles	0		130	100.0	0	0.0	26.7	35.8		
Wheeler, GA	11	Narcotic Treat	1 in 45 miles	0		0	0.0	11	100.0	58.5	72.9		
Wilcox, GA	24	Narcotic Treat	1 in 45 miles	0		1	4.2	23	95.8	50.7	64.3		
Wilkinson, GA	59	Narcotic Treat	1 in 45 miles	0		59	100.0	0	0.0	16.3	20.4		
Grand Totals	2,146	Narcotic Tre	1 in 45 miles	3	715.3	1,772	82.6	374	17.4	26.5	37.2		
© 2023 Quest Analytics, LLC.													

Licensed Counselors and Social Workers - Urban

April 21, 2023

Access Analysis

Licensed Counsler and Social Workers- Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN) Licensed Counsler and Social Workers

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Bibb, GA	479	Licensed Cou	1 in 30 miles	22	21.8	479	100.0		0	0.0	1.7	2.3
Houston, GA	465	Licensed Cou	1 in 30 miles	12			100.0		0	0.0	4.2	5.1
Muscogee, GA			1 in 30 miles	16	49.9		100.0		0	0.0	1.7	2.7
Troup, GA	223	Licensed Cou	1 in 30 miles	3	74.3		100.0		0	0.0	3.8	4.1
Grand Totals	1,966	Licensed Co	1 in 30 miles	53	37.1	1,966	100.0		0	0.0	2.5	3.3
© 2023 Quest Analytics 11 C				<u> </u>								

Licensed Counselors and Social Workers -Rural

April 21, 2023

Access Analysis

Licensed Counsler and Social Workers- Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL) Licensed Counsler and Social Workers

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	162	Licensed Cou	1 in 45 miles	2	81.0	162	100.0	0	0.0	2.4	3.9		
Bleckley, GA	30	Licensed Cou	1 in 45 miles	0		30	100.0	0	0.0	24.6	26.4		
Chattahoochee, GA	33	Licensed Cou	1 in 45 miles	0		33	100.0	0	0.0	16.8	16.8		
Crawford, GA	54	Licensed Cou	1 in 45 miles	0		54	100.0	0	0.0	13.5	18.1		
Crisp, GA	84	Licensed Cou	1 in 45 miles	4	21.0	84	100.0	0	0.0	2.0	2.3		
Dodge, GA	60	Licensed Cou	1 in 45 miles	0		60	100.0	0	0.0	30.2	31.9		
Dooly, GA	73	Licensed Cou	1 in 45 miles	2	36.5	73	100.0	0	0.0	0.6	8.7		
Harris, GA	103	Licensed Cou	1 in 45 miles	1	103.0	103	100.0	0	0.0	12.5	14.9		
Heard, GA	33	Licensed Cou	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.5		
Johnson, GA	35	Licensed Cou	1 in 45 miles	1	35.0	35	100.0	0	0.0	7.7	17.2		
Jones, GA	188	Licensed Cou	1 in 45 miles	4	47.0	188	100.0	0	0.0	3.7	4.3		
Lamar, GA	112	Licensed Cou	1 in 45 miles	0		112	100.0	0	0.0	12.8	12.8		
Laurens, GA	209	Licensed Cou	1 in 45 miles	4	52.3	209	100.0	0	0.0	3.6	4.4		
Macon, GA	43	Licensed Cou	1 in 45 miles	0		43	100.0	0	0.0	17.5	21.0		
Marion, GA	19	Licensed Cou	1 in 45 miles	0		19	100.0	0	0.0	24.1	26.7		
Meriwether, GA	80	Licensed Cou	1 in 45 miles	1	80.0	80	100.0	0	0.0	10.6	17.8		
Monroe, GA	104	Licensed Cou	1 in 45 miles	0		104	100.0	0	0.0	15.8	16.5		
Peach, GA	142	Licensed Cou	1 in 45 miles	0		142	100.0	0	0.0	10.9	11.9		
Pike, GA	75	Licensed Cou	1 in 45 miles	4	18.8	75	100.0	0	0.0	5.9	6.1		
Pulaski, GA	47	Licensed Cou	1 in 45 miles	0		47	100.0	0	0.0	21.4	25.5		
Talbot, GA	9	Licensed Cou	1 in 45 miles	1	9.0	9	100.0	0	0.0	10.7	18.2		
Taylor, GA	42	Licensed Cou	1 in 45 miles	0		42	100.0	0	0.0	23.3	30.5		
Telfair, GA	103	Licensed Cou	1 in 45 miles	0		103	100.0	0	0.0	29.0	33.5		
Treutlen, GA	22	Licensed Cou	1 in 45 miles	0		22	100.0	0	0.0	21.7	26.6		
Twiggs, GA	60	Licensed Cou	1 in 45 miles	0		60	100.0	0	0.0	8.8	9.6		
Upson, GA	130	Licensed Cou	1 in 45 miles	0		130	100.0	0	0.0	14.8	15.0		
Wheeler, GA	11	Licensed Cou	1 in 45 miles	0		11	100.0	0	0.0	25.8	30.2		
Wilcox, GA	24	Licensed Cou	1 in 45 miles	0		24	100.0	0	0.0	22.2	23.1		
Wilkinson, GA	59	Licensed Cou	1 in 45 miles	2	29.5	59	100.0	0	0.0	2.6	13.0		
Grand Totals	2.146	Licensed Co	1 in 45 miles	26	82.5	2,146	100.0	0	0.0	11.2	13.6		
Gianu rotais	2,146	Licensed Co	i iii 45 iiiiles	26	02.5	2 , 146	100.0	U	0.0	11.2	13.6		
© 2023 Quest Analytics, LLC.				-									